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A U B pwqunpnibitph AuB dhwynpmud Yngynud £ wyl Unp
puwqunip)nilp, npp punlugwd b pninp wyl ypupptiphg, npnbp
wunplubnud 6o A jud B puqumpymbbtphg qnibb dtyhb:

Wyuhbpl®

AUB={x; x € A jud" x €B}

A u B puwqumpjnibbtiph AnB hunpmid Yngjmud t wylh Gnp
pwqunipjmbp, npp punjugwd t pninp wyb puwpptiphg, npnbp
dhwdwdwlwl] yunpyubtnud Gh A b B pwquimpymbbtphg jnipw-
pwligynphb: Qyuhtpb’

AnB = {x;xeA lWxeB}:

A L B pwqumpnibbtph A \ B qwpptipnipynb Yngymd t A
pwqunipyul wyb pninp puppbiph puqinipimbp, npnbp B-hb skb
wupubnd: yuhbp'

AB={x;x €A L x ¢B}:

1. Quuwgmgh] htipluywy wnbgnipymbbtpp.
1) AUB=BUA, 2) AnB=BnA, 3) A\B=A\(ANB),
4) (A\B)u(B\A)=(AUB)\(ANB):

2. thgmp' A={1,2,3,4,5,10,12}, B={2,4,6,8,10}: Quplbt; AUB,
ANB, A\B, B\A puqum pjnbbtpp:

3. Quwwgnmgt) htipywy winmudiph hwdwpdtipnipynibp.
1) AnB=B L BcA, 2) AUB=B L ACB:

4. thgmp' A=(-3:2] L B=[0:5): Qupltyi AUB, AnB, A\B U
B\A pwqunip)nibltpp:

5. 8nyg ypuy, np.
) AuBUC)=(AUB)UC,
2) An(BNC)=(AnB)NC,
3) (AnB)uC=(AUuC)N(BUC),
4) (AUB)NC=(ANC)uUBNC),
5) A\(BUC)=(A\B)N(A\C),
6) A\(BNC)=(A\B)U(A\C),



6. Swppnipjwh Ypw wyupltipt) htgplywy puqimpinibbbpp.
1) A={(xyy), x+y—4=0},
2) B={(xyy), X’+y’<1},
3) C={(xy), yxY},

4) D:{(x;y), §>§ x#0, y;co}:

Uwhdiwtmy. f $mbyghwd (f optiipny, jubniny) A puqint-
pilp wppuyunptpmd £ B pwqimpyub dbe, btph A-hg
Jtpgpwd Va qpwupphtb f-p hwiwwyupuupnwbbgbnud £ dky pupp
B pwqunipynibpg: Wn qpuppp Yngynud £ a-h wyunplip b bpwtiwl-
ynui £ f(a) (f(a)e B):

Wb, np f-p wppuyuypltpmd £ A-U B-h dbg, bpwbwymd th
wjuybiu® f: A-B: A-U Yngymud E £ $nbyghwh npnpdwli yphpnype
b pwbwyynud £ D) (A=D(f)): f(A)-ny hpwbwltibp htuplijuyg
pwiqunipynmbp.

f(A)={f(a) | aeA}:
Tw Yngymud £ f pniblyghwih wpdtplbtiph pwginipmb’ f(A)CB:
Epb f(A)=B, wumd G, np f-p wppuwyunpytipmyd £ A-b B-h pw:

Yhgnmip' f: A—>B U Vb qpupph hwdwp, Jtpgpwd f(A)-hg, 3
Shoyp uby ypwpp' a A-hg wjbwybiu, np f(a)=b: Wyu nbypmd f
dniiyghwl Yngynmd £ hwwnwpabh, juwd wumd &b, np 3 f-h
hwjwnupa $nblyghwbd b Wbhwpp k, np hwwnwpd $nbijghw-
jh gnympmbp f(A) npnpdwlh |phpnyph Ypw huntwpdbp b ht-
plywiht. A-h wuplwbnn Vaa, (aj#a;) wqpwppbph hwdwp
f(a))#f(ay): £ pmuyghwih hwljuwnwpa pmuyghwt Hpwbwlnmd toh
f': £ pmbyghwb f(A) pwquinpmbp wppuywplbpnd £ A
pwqunipjub Ypu htplywy Yhpyy. f(A)-hb yupubing Vb-h hw-
dwp 3 dbYy npnpuyh wjbwhuh a qpwpp A pwqunipinibhg, np
fla)=b U f'(b)=a: Wuwhuny f(A)-hg Jbpgpwd Vb-h hwdwp
f(f'(b))=b, hbgwhu Owl A-hi wuplywbnng Va-p  hwdwp
f(f (a))=a:

Wunmd &b, np f-p thnfuthwpdtp L wppuwyupltipnud A-U B-h
Ypw, tpt f-p hwiwnuwpabh t, b f(A)=B: A b B puqunipymbbtpp
Yngymud th hwiwpdtip, tpk 3 f $mbyghw, npp A-b thnpudhwpdtp
E wppuuyuwypytipmd B-h Jpu:



POwjwl pyYtph N pwquinipjuip hwiwpdtp puquinipmbp
Yngynud £t hwpytith puqunipmb, huy ipt wiytpg pwqunipinibp
hwdwpdtp st plwwb pYtph puqimpjubp, wuyw wyn puquint-
rynibp Yngynud £ ng hwpytih:

7. Wyuwgnigty, np wipnng pytph Z puquinpinibp hwpytih t:

8. Uwwgnighi, np nwghnbwy pytph Q puwquimpynibp hwytih
L:

9. 3nuyg yuy, np [0;1] L [3;10] hunpjwdbbpp hwiwpdtip Gh:

10. 8nyg yuwy, np [a;b] b [c;d] gubjugwd hunpyudlbpp
hwdwndtip tl:

11. Swuypuplp  thnjudhwpdtp  hwiwwyupuupiwbnie)nib
[0;1] hunpywdh b (0;1) dhowwyph Ytaptph dhol:

12. Uwwgmghy, np ytipowynp pwquinipynibbtpp hwdwpdtip
G0 wyb b Jhwjb wyb nhiypnud, bpb mbth hwjwuwp pwbwyny
puppbip:

13. Uwwgmghk], np pwqunipymbp mbh wiytpe pwbwlyh
quppbtp wyb b dhuyb wyb pbwypnud, tpp wyb hwdwpdbp & hptb
htip shunipliyinn hp nput Ghpwpwqinipjwbp:

14. Lwijp’ tipwpwqimpmb nbh n pwpptphg Yuqigud
pwiqunipjnilp:

15. Wwwgmgti, np htiplyw) pwqunipymbbtpp hwoybih to.
1) {neN;n=2k keN},
2) {neN;n=k-k keN}:

16. Wwwgmghy, np cos2x=1 hwjwuwpdwb ndnudbtph pug-
unpjnibp huwpybih t:

17. Qwwgmgt), np Yipowynp Jud hwyytih pyny hwytijh
pwqumpjnbbtph dhwynpnudp hwoyth t:
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18. Wuwwgmgty, np Gpt A-U ng hwpgbtih puqdmpynb k, huy
B-U ytpowynp Ywd hwyykijh, wyw A\B puwqimpjnibp ng hwp-
ytih &

19. Uwuwgmgt), np [0;1] hunpqwdh Ytaptiph pwquinmpynibp
huwpytiph ¢k:

@Juwjht ng nuypuply X puqimpynbp Yngmd £ vwhdwbw-
thuy ytipuhg, tpb 3 M phy wjbybu, np X-ht wyupyubnn V x
quwpph hwdwp® x<M: Qinuhuh M phyp Yngynud £ X puquiniypjub
Jtpht tqp: Ept 3 m phy wjbytu, np X-hg Yytpgpwd V x-h hw-
dwp’ x2>m, wyw puqimpiniip Yngmd £ vwhdwbunhwyy Otip-
plhg, huy m phyp’ wpnphl Gqp: Nbwpunp b wuywgmgty, np
Jtpuhg uwhdwiwthwly pwqimpuwbd ytpht tqptiph pymd 3
wutilwhnppp, huy Obppuhg vwhdwbuthwy pwqinipjub upn-
nht bgptiph Jdbe 3 wdtbwikdp: Jkphl tqptiphg witbuwthnppp
Yngymud £ Gpqphyp Ytiphl tiqp, huly uypnphl Gqptiphg wdtbwdbdp
62gnpyp wpnpht Gqp: Hpwbp Grwbwlymd Gb supX, inf X : bph X
pwqunipjmbp Jtpbhg vwhiwbunhwy ¢k, wyw pbhgmbwd L
qptiy” supX = + oo, hul tiph Otippluhg vwhiwbwihwy sk, wwyw po-
nuijwd b infX=-eo: Gpl puquinipeniip vwhdwbuwhwy t yb-
puhg U btppluhg, wwyw wyb Yngymd £ vwhdwbunhwl pwqunt-
pynih:

20. Qypbby [2;3) pwqumpyub 6pgppyp YGphh L wpnphb
tqnpbpp:

21. Ntplyjw) puqimpynbbtph hwdwp qpbty 62gppp Ytphh
W uypnphb igplpp.

) x={l, ne N}, 2) X=(= 5,0),
n

3) x={3‘-, m,ne N,m<n}, 4) X={3n+2, neN}:
n

22. Jbpowynp pYwihl pwqimpnibp Yupnn b smbbbwy
wibbwdbd puwpp: Ywpn'n GO Jbpoudnp pwht puquinipub
62qphy tqplipp swywpuik) wyn puqinipjubp:



23. Rhtph| pwqunpeynibbtph ophtwybtip, Gpp npubg 62qphy
tqplpp sbb Wupubnud wyn puquinieymbiubphb, W ophlwyllip,

tpp wuwypuinud Gb: Rtplp widbipe vwhdwbwihwly pwqine-
pyjnitttiph ophtiwyitip: Snynipyni mbbET wpynp Ytpeun|np ny
uwhdwibuhwly pwgqimpynibbbp:

§2. Utu oNPeNlUGUELE DAFLUYSPULER

“thgnip” XC R b YC R, hulj f $nuljghul wppuwyupytipnud £
X-p Y-h dtip: Wyu nhypmd f-p wbubnmd b pyuwjht $mbyghw b
Upwlwynud &U" y=f(x):

3x+2

24, f(x)= | : Qupbly £(2), f(—x), f(x+l),f(l),f(2x), f(t):
X

X —

25. Qupub htiplyw; $mbyghwbbtph npnpdwb phpnypbtpp.

D fx)=vx+1++5-x, 2) f(x)=—1—~—,
V3+2x - x?
3) f(x)=log; logsx, 4) f(x)=arccos _4 X ,
2 —
5) y=In(5-x), 6) y:lgx__ﬂ,
+1
7 y=Ax+1-+7-x, 8) y=—l +Vl-x,
In(x+2)
9) y=log,3, 10) y =+/cosx , ll)y=arccosj:—l
-x
12) y=,/arcsinilnx), 13) y=+sinx—1:

26. Qb (1), f(-1), f(100), bpb f(x)=lgx’

1-x
1+x

27. Qupuby f(0), f(—x), f(x+1), f(x)+1, tpt f(x)=



28. f(x)=2x’-5x*+x-7: Qapiiti

$niyghwtiipp:

f(x)+f(—x) N f(x)-f(-x)
2 2

29. 3mjg ypwi, np f(x)=kx+b Imilghult pujwpuwpmd t
f(x+2) —2f(x+1)+£(x)=0 $nbyghniiw; hwjuwuwpdwbp:

30. 3nig quy, np f(x)=lnx $nibjghwldl puwdwpupmy £ {(x)+
f(x+1)=f(x(x+1)) $nmiyghniuy hwjwuwpdwbp:

31. Qapbby y=f(x) pniayghwl, tipth.
) f(x+1)=3x’—x+2, 2) f(l) =X +__17_ .
X X~

X ;e X X _ .X
32. chng——;——, sbxze

, wujwugngh, np
ch®x—sh’x=1, ch®x+sh’x=ch2x:

Unnpnhbwwpbbph  uyqplbwytyph  Gjuypdwdp  hwdwguth X
yhpnypnd npnywd f(x) nibiyghwb Ynggmud £ qnyg mbyghu,
tpt VxeX pyh hwdwp f(—x)=f(x), b Yayp Pmbyghw, tph
f(—x)= —f(x):

f(x) $nrbyghwbl Yngymy L uwhdwluwhwy X phpnypnd, tiph
npu wpdbtipbbtiph pwqunipniip vwhiwbuthwy b, wpuptph® 3
M>0 wjlwbu, np VxeX wpdtiph hwdwp yphnh mbp [fx)l< M
wlhwjwuwpnipnibp: f(x) $nibyghwd Yngynid t dinbmpnb wénn
(juqgnn), tphb x,> x1= f(xy) >f(x;) (f(x3) <f(x;)):

f(x) $nmuyghwl Yngynud £ wwppbpwywi, tpt 3 0-hg pupptp
wjbuwhuh T phy, np D(f)-hg Ytpgpwd Vx-h hwdwp ptinh nubh.

) xxTeD() L 2)f(x+T)={(x):

“puuwb thnppugnyl T wwppbpnipjnibp Yngjmd £ hhdbw-

Jub ywppbpmpmb:

33. Npnphy, pbt yppwd $mblyghwitphg npnbp LL qnuyg,
npnbp GO Yaly b npnbip GO n's qnyg, n's £ Yalnp.
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1) f(x)=x* - 2x* +3. 2) f(x)=In I=x
1+ x
3) f(x)=x"- x+1, 4) f(x)=lg(x +\/l+x2),
5) f(x)=x*+3x", 6) f(x)=x’-x,
7) f(x)=x> +x, 8) f(x)=const,
e +1
9) f(x)=2+x|+|2-xI, 10) f(x)= .

e* -

ll)f(x)=\/1+x+x2 ~JI-x+x?,
12) f(x)=|x|+x:

34. Muwpqbi, pE ppwd pnibghwbtiphg npnbp G wwppb-
pwluwlb, L tpt wwpptpwlwb b, qpbt; hhdbwywb wywppbpne-
pymbp.

1) f(x)=Tcos 5x, 2) f(x)=25in§ . 3) f(x)=cos(2x+3),

4)y=sinax (a>0), 5) f(x)=sin* x+cos*x,
6) f(x)= | cosx| . y)) y=tg% - 2tg% .
8) y=sin X2, 9) f(x)=x+sinx:

35. Uwwgmghy, np Gpt f(x)-h npnpdwb phpnypp hwdwswih
t ujqpiwlytypp bupdwdp, wyw f(x)-p hbwpwynp £ bhpluwjwug-
Ut f(x)=:(x)+;(x) \pliupny, npptin @,(x)-p qnyq pmiliyghw
hulj @2(x)-p" Ykl (liu N28 jubnhpp):

36. UWwwgnigt, np.

I, x-pnwghnGuyt,

f0= {0. x —phnwghnGu t :

Thphluiih pmbyghwd wwppbpwwb £V pwghnbw phy
wuwppbipnipjuwdp:
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37. Uuwuwgnigh), np Gpt f(x)(DE)=R) Pmbyghwsh hwdwp
f(x+T)=kf(x), npptin k-0 L T-0 npujwb pYtp Gh, wyw
f(x)=a"@(x), npptin a-0 hwupuypmt £, huy x)-p° T wwuppbpni-
pjudp pmblyghw: @x+T)=@(x):

38. Uwwgmgtyj, np bGpt f(x) (D(f)=R) Pnibjghuyh hwdwp
ptnh nubh {(x+T)=k+f(x) hwjwuwpmpymbp, nmptin k-0 b T-0
hwuypunpmbditp GO, wyw f(x)=ax+@(x), nmptin a-ut hwugpupmb
L huy 9()-p’ T wuwpptipmpyudp nblghw:

39. Gapibp htyplywy pmbyghwbtiph hwjwnwpad $nibyghw-
btipp b npuibg npndwh phpnyphtpp.

w) y=2x+3, p) y=x', D(y)=( - ,0],
@ y=x*, D(y)=[0.+ o), ) y=v4-x? Dy)=[-2,0),
1-

Wy=v4-x> Dy=[0.2, y=1— - DW=R\ (-1},
X, bptixe(-o,)

b) y={x>, tptxe[1,4]
2%, hiplixe (4,4o)

Qunnigh) htiplyw $nbyghwbiph gpubhyitipp:

40. w) y=2x+3, P y=—% -1, g) y=sin(arcsin x):

41. w) y=8x—2x2, P) y=x2—3x+2, Q) y=—x2+2x—l,
n y=lx2 +x+1:
2
1 1
42, y=—: B.y=—: 44. y=s/;: 45. y=§/;:
X

X

46. y=x?: 47.y=|x|: 48.y=sinnx, bpk n=l,2,3,%
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49.

50.

53.

56.

59.

62.

n
=cos(x+¢), tpt ¢=0,——.m:
y=COs(X+Q) et ¢ 22

y=cos” x:

yze_": :
1

y=lg —:
X

y= arccos X:

y=Ig|x|:

3n

51. y=sin x+cos x:

54. y=Ig x*

57. y=lg(—x):

60. y=arctg x:

12

52. y=sin x*:
55. y=Ig’x:

58. y=arcsin x:

61. y=x|x|:



QL NFl II

TLULPShY ELULUUPNFE-3UL U G0U3PL
NULAUNUGUD SULresre

§1. WLULPSPY LU TAUPNFE-3UL
NSULENFE-3UL 4L

1. Minyrhlynih Ynnpyhlopuy ple hiwdwlpupgp hwpons -
ppuh Ypwm, huwapjwdh pudwbnidp ppyud hwpuplipn-
1wy, Qolinh huwajwwuupnidbkpn:

Juwjht wowbgph Ypw A(x,) b B(x,) Yhptph dhol tinwd hb-
nwynpmp)nibp npnpymud k& AB=| x,-x, | pwlwalny, huy hwp-
popjul Jypuw AX;y) L B(xzy:) Ytaptiph Jdholt tnud htinw-
Unpnipynibp nupnubyymb ptjumpyut Ynnpnhbuwpuyht hwdw-
Jupgmuy npnpgmud k.

AB = \/ Yl)

pwlwaliny:

63. Enwbljub ququpbtpb &0° A(5;7), B(-7;2) L C(3;1) Ytapt-
np: Spbb) wyn tnw by yuwpwghdp:

64. OX wnwlgph Yypw quplt) wyb Ytapp, npp hwjwuwpuytiu
L hinwgwd Ynnpphbunplbiph uyqpbwybtiyppg b A(8;4) Ytiyphg:

65. Gaputi htiplyw Yptiph dheb bnud htinwynpnipnibp.
1) A@G;2) L B(-L9),
2) C&7) L D(-10),
3) E(6;10) W F(0;4):

66. Gnwllywlh ququplbph L' A(5;2), B(;-1) b C(0;3):
Quplt) Gnwblywh wywpwghdp:

67. Wwwgnighj, np A(4;11), B(6;3), C(9;6) ququplbp nibb-
gnn bnwblynibp npnublyynb towbyymb t:
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68. Uwuwgmghk|, np A(-6;-1), B(0;10), C(4:;-2) ququplbtp
niubgnn inwblynbp umpubyynb tnwblymb t:

69. A(-5:3), B(9;8), C(16;0) ququpltp nmutgnn Gnwbljub
Utippht wtilymbbbph EYnud jw’ wpnynp pop wblyne:

70. Quplb; M Ytph wpughup, Gpb npu opnhtunpp hwyjwuwp
L. =3-h, hul N(2;-1) ytiphg mbtigwd htinwynpnipinibp hwjwuwp

L \/5-[1:

71. Opnhbunpbtph wnwbgph Ypw qupiuly wyh Ytyp, npp
A(6;2) Ytphg htinwgwd k10 dhwynpny:

72. Upughulltiph wnwlgph ypw qupbbkp wyb Ybpp, npp
hwjwuwpwybiu £ hbpwgwd Ynnpnhbunpbtph uyqpbwytiyphg b

A(1;3) taphg:

73. GQupubp wyb Ybypp, npp hwjwuwpuybu £ hbnwgud
Unnpnhbwypwiht wnwbgptitiphg b A(4;8) Ythg:

74. Qbbp wyh Ypp, npp qpidnud £ 15 dhunp hbnwynpne-
Pyl ypw wpughubtiph wpwbgphg b A(2;6) Ytiyphg:

Ept C(x;y) Ytpp qupigmud £ A(x;;y1) B(x25y2) dwjpwybnptipny
hﬂlpL[u}_bh Juwd npw Jwpmilwympjub Jpw wjbybu, np
AC=ACB, wyuw Juutilp, np C Yypp AB hwpjwdp pwdwlinid £
A hwpwpbpnipjudp: C Ytyph Ynnpphbunpbbpp npnpymud b hk-
nbywy pwbwalbpny.

szl"‘AXz _Yi+hAy, .

’

1+ A y 1+ A

Uwulwynpuyhiu, bpt A=1, wyw C-0 AB hunpywdh dhebw-
4tnh £, b npw Ynnpphbwgbbpp Yihoka.
x__.xl+x2, y=Yl+YZ:
2 2
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75. Qaplb A(6;-1), B(0;4) L C(-3;2) qumqupltipny tnwbljwh
AD dholwugdh tpupmypynibp:

76. Spywd L' A(=2;5), B(6;0), C(3:7) U D(0;-4) Ytaphpp:
Qapiitip AB U CD hunpwdbtiph dholulitiptiph htinwdnpnipnibn:

77. Qapbbp A(=2;-3), B(2;5) b C(7;0) ququplbtp nibtignn
tinwblywl Jholwgdtph tpjupmpmbbbpp:

78. Spjwd b trwblywb Ynnitph dhetwlytptipp™ M(1:-2),
N(-2:;2), P(4;4): Qaplbj wyn Gowbljub ququpbtph Ynnpphbungp-
ubpp:

79. Quplb] tnwblyjwb ququpbtpp, tph Ynnitph dhelwyb-
iptiph BU° P(1;2), K(-3;6) W R(5;10):

80. Swypwdh dwypwybpbtpl L' P(-6;8) R(3;4): Gplbip uyn
hunpwdp ¢npu hwjwuwp dwubph pwdwbinn Ytptiph Ynnpnh-
bunpbtinp:

81. A(2;-6) L B(8;6) Ytptipp dhwglnn hunpywdp pudwbiwd
L tpbp hwjwuwp wubph: Gpit] pwdwbdwb Ytptph Ynnpnh-
bunpbtipp:

82. A(-5;-4) L B(10;6) ytptipp dhwglnn hupywdp pwdwl-
qwd E hhig hwjwuwp dwubiph: Qb pwdwbdwb Yapbph Yn-
npnhbwpbtpp:

83. A(-1:4) U B(3;7) dwypwytipbipny hupygwdh ypw npnpty C
Ytyph wybybiu, np AC =4 CB:

84. B(-3;-1) b A2;4) duypwltaptipny hunpudh 2wnnibw-
Unipjul ypu quplitip wybuhuh C Yy, np CB = 3AC:

85. B(4;-2) L A(60) dwjpwltiptipny hwunpywdh wpmbw-
Ynipjwb ypw qupbty wybuyhuh C Yy, np CB =4 AC:
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86. C(2;3) Ytiypp A(x;=2) L B(S:y) dwjpwytiiptpny hunpudh
dhelwtnb t: Qplty wyn Ytaptpp:

87. bnuwiljwb ququpbtpb tb* A(-4;-1), B(2;5), C(8:;-3) yt-
tipp: bt wyn bnwbywb dhohl gdtiph tpjupmpymbbtipp:

88. Qb wyb Enwblpywb dhelwgdtph hunpiwbh Ytpp, nph
ququpltpb 60" A(-5;2), B(6;8), C(11,-1) Ytaptpp:

89. Quplby A(x;y1), B(xy2) W C(x35y3) ququpbtipng trwb-
Wwlb dhelwugdtiph hwypiwd M Yypp Qubpnpyjub Yabyppnbp):

90. Qb tnwbypub theobwgdtph hunpiwb Ytyph Ynnpnh-
Uunplbipp’ hdwbwiny npuw ququpeitiph Ynnpohbunpbtipp” A(1;4),
B(-5;0), C(-2;-1):

91. Bnwlljwlb ququpltpb L' A(4;-3), B(7;8), C(-2;7) k-
ypbpp: Qb wyb Yaptpp, npnigny tnwbljjuwb vhobwqgdbtpp pw-
dwbynud kb bptip hwjwuwp dwutiph:

92. Quplk A(-7;2) b B(4;-3) dwjpwytiyptip nibitignn hunpyw-
oh dholinunnuwhwjwgh hwjwuwpnidp:

93. Guwqub; wyb Ypbph Gpypwgaupwyub phinh hwjuwuw-
pnuip, npnip hwjwuwpuwwbu &b hbnwgwd A(-2;-3) L B(6;5)
Yptiphg:

94. Yuwquly wylh Ypbph Gpypwsuhwyuwb plinh hwjwuw-
pnuip, npnbp hwjwuwpwwbu b htnwgwd Ynnpghbunpbtiph
ujqplwytiphg b x =-2 ninnhg:

95. Ywqub) wjb Yhpbtpp Gpypwswhwyub pinh hwjwuw-
pnuip, npnip hwjwuwpwuytiu G0 hinwgwd A(2;2) Yyphg L OX
wnwlgphg:

96. Ywqub} wyb Yptph Lpypwsunhwlwh pbnh hwjwuw-
pnudp, npnbp hwjwuwpwybu kb htnwgwd A(-3;-1) Ytyphg L
x=-1 nunhg:
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97. Ywqul) wyb hunpjudlbtiph dhobwltaptiph Gpypuwswthw-
ub ptinh hwjwuwpnuip, npnbg dh duypultipp A(-2;6)-0 L,
hul dynwup qupiygnud £ OX wnwbgph Jpu:

98. Ywqul) wylb Yptph Gpypwswthwlwb ptnh hwjwuw-
nnuip, npnbg’ ppdwd A(2;-4) b B(-4;2) Ytaptiphg mbtgwd htinw-
Unpmpjmbitph hwpwptipnipynibp hajwuwnp k 2-h:

99. Qupbb; wylh Yptph Gpypwswhwlwb wptnh hwjuwuw-
nnudp, npnbg hinwynpmpynibp A(0;9) Ytiphg tiptip wbqud Jtd t
B(0;1) Ytyphg mubigud htinwynpnipjnibhg:

100. Qpibt] wylb Ytypbtph Gpypwswhwluid ptnh hwjuwuw-
nnuip, npnbg htinwynpmpymbp A(-8;0) Ytiphg tpynt wbgqund dkd
t x=-2 ninnhg mbtiguwd htinwynpmpjnibhg:

101. Qaplbby wyb Yptph Gpypusuhwyjub plinh hwjwuwpne-
up, npnlbig Fi(-2;0) W F»(2;0) Ytyptiphg ntiiguwd htinwynpnipynib-
Ubkph gnudwpp 2J5 t:

102. Quplby wyb Ypbph Gpypwswhwlywbd yptinh hwjwuw-
pnuip, npnbg F(=2;2) W F(2;2) Ymptphg nibbigwd hbnwyn-
pmpymbbtph pwppipmpynibp 4 &:

2. Minpnp hwpnippguh ypw: Gphne nigpnbhbiph fwq-
dwd whilynibp, bpwuwhg munyuhwjwgnijagubl b gniquihlinne -
1yl wwpbwbbibipnp:

Ept OX wnwlgpp ninnh htyp juqunud £ o wblymb, huy OY
wnwbgpp hunpnud £ wyl (0;b) Yypnud, wyw nunnh hwduwuw-
nnuil £ y=kx+b, nmplin” k=tga. phyp ninnh wolyymbwjht gnpdw-
4hgt t: Wyu hwjwuwpnudp Yngynud £ nupnp hwwuwpnud wblyym-
Owjhl gnpdwlgny:

Gpynt hinhnjuwubibpny wrweohl wuyph6wbh hwywuwpni-
dp’ Ax+Bx+C=0 (A%+B%*#0), Yngnui k nunnh pinhwimp hwjwuw-
nnud:
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Minnh hwjwuwpnudp hwpyuwdibpny mbh htglywy phupp’

1+%=l: Wuyptin a-0 U b-0 mnnh OX, OY Ynnpnhlunpuwjhb
a

wnwbgpltipnhg Yyuypwd hupudbtiph dEdmpymubbph Gb:
Spywd A(Xe;y0) apny wigbnn W yppdwd k walpymbwhl gnp-
dwlhg nmbbkgnn ninnh hwjwuwpnudb b
y=Yo=K(Xx—Xo):
Spywd A(x;iyy) b B(x;:y,) bpynm Ytyptipnyg wbgbnn minnh hw-
Jwuwpndb k.
X—X _ Y~
X2=X Y270

(X} #X2,y1 #Y¥2):

et ppwd £t ninnh p hinwynpnipynbp ulyqpbwltitphg L
npwl ninnuwhwjwg dhwynp E(cosa,sin 01) Jlppnpp (mnnh Gnp-
dwybypnpp), wyw wyn ninnh hwjwuwpmdb b’ xcoso+ysina—p=0,
npp Yngymd £ nminnp Gnpdwy hwjwuwpnud: Qinnh pbnphwbnin
hwjwuwpnudp bnpdwy phuph ptpbine hwdwp puqiwuwunpymy

1
b p== Taiie unpdundnpnn wppunphsny, nph Gawbp pbypp-

ynud £ C-h bpwbhb hwljwpwly: Wu hwjwuwpdwb Jhongny npn)-
ynud b (xo;y0) Yaph htinwygnpnipynibp xcosa+ysino—p=0 nuqnhg
htiplywy pwbwalny.

h= | XoCOSOL + Ysina - p | , Juud

he |Axo +Byy +C|

VA? + B2
y=kix+b; W y=kyx+b, minhnbtiph Yuquwd Yud I mnnh, II-h
htiyp Juquiwd 6 wilymbp, npp wyb ngpuijub wikbwhnpp wo-
Wmbb t, npny whpp t wynpt I ninpnp dhbsh np hwdptybh 11

ninnh htap, npnpynui & tg = ko Ky pwhwaling:
I+kk,

Epynt ninpnbtiph gmquhtpmpjud hwiwp wihpuwdtog t
pwywpuwp, np gpubg whymbwjht gnpdwyhglbtipp (hukh hpwp
hwjwuwp® k;=k,, jund tpyniub £ smbbbwh wbymbwhb gnpdw-
Uhg, wyuhbipl’ |hikl mnnuhwjug OX wpwlgphl: Gpym ninhn-
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Otiph ninpwhuwjwgnipyui hwiwp wihpwdbpp £ b pujwpwp
kik,=—1 yujdwbp, Juy tphb ninhnbtphg dtyn smbh wblnibwghb

gnpdwlhg, wyw dynuuh wblnibwihtt gnpdwyhgp hwjwuwp E
0-h, wyuhbpb’ ninhnp gqmuquhtin £ OX wnwbgpht:

103. Qaplby 5x—-2y-7=0 nuynh wilynibuyhl gnpdwlhgp b u-
nnighi) wyn minhnp:

104. A(-1;4) L B(11;3) Ytyptipp dhwginn mnnh ypw quplby
wyb Yyip, nph wpughup hwjwuwnp t 5-h:

105. Npnpti;, Pt y=3x-2 mnhnp wighnd L wpnnp A(2;4),
B(=3;11), C(2,5; -8), D(1;1) Ytaptipny:

106. Gpbby htiplywy ninhnutiph walynibuwyhb gnpdwyhgbbtpp
L opnhlwypbbph wowbgphg Yuyppwd hunpyuwditiph dtdnpnb-

utpp.
1) 5x=Ty+14=0, 3) 6x-5=0,
2) 2x+3y+9=0, 4) 4y-Tx=0:

107. Qapbtp wybh nunnh hwjwuwpnuip, npt OY wnwbgphg
Yuppmd t 4 dhwynp dbdnipjub hupgwd b OX wnwbgph Glhunp-
dwdp phpdwd L o wblyymbny.

1) a=30", 2) a=60", *3) 0=120", 4) o=150":

108. Gk wjl nunnp hwwuwpndp, npl wbgbmyd £ Ynnpnh-
Gunpbtiph ujgpbwytipny b OX wnwigph bunpiwdp plpdwd t.
1) 45", 2)60°, 3) 135", 4) 180" wllymbny:

109. Qpity V3x -3y +5=0 mnnh phpiwd wilmbl OX
wnwbgph Guypdudp:

110. Qi) wyl ninnp hwdwuwpnudp, npt OX U OY wnwbgp-

btiphg Yypmd E, hwiwywpuuppwbwpwn' 4 b -5 dEdmpjnibbb-
nny hwpwdbbip:
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111. Yuqut; wyb ninphnbbph hwjwuwpnuibtpp, npnbp OX L
OY wnwbgpltiphg Yyppnud GO, hwiwwyuwpwupwbwpwp™ 2 L 5
tipjupnipjwdp hupudbtp:

112. Styplyw; nunhnbtph hwjwuwpmdbbtipp gptip hunpyud-
btpny.
1) 3x-5y=15, 3) y=3x-2,
2) 2x+3y+8-0, 4) y=1-x:

113. Qb wib tnwblpwb dwlbtpbup, npp vwhdwbwhwy-
Jwd t ynnpphlbwypuwiht wnwbgpbbpny b 2x+y=6 nunny:

114. GYunmgl; htplyw] hwjwuwpnuitip mbtgnn muphn-
ukpp’

1) 3x+7y-21=0, 2) 2y-3x=6, 3)% + % =1,
4) 2x-3y=0, 5) x——;- =1, 6) 3x—5=0,
7) 3x=0, 8) 2y+3=0, 9) 2y=0:

115. Qb wyl ninnh hwjwuwpnudp, npb woghnud £ (=3;1)
4typny U wpughubbiph wpwbgph Ghunpiwdp phpdud £ 120° wb-
nny:

116. Nwpyti; htiplywy ninhnbtpny Juquiywd whlymbp' ninhn-
Gbph jnipwpwbignp qniygp nhpuiplting wyd Yupgny, hbs up-
qny npubp pujwd tb.

1) y=2x+3 L y=2x+5, 2)y=4x-1 L y=—%x +3,

3) y=—%x -2 L y=$x +5, 4)3x-2y+4=0 L 6x—4y-1=0,

5) V2x+y-1=0 U 2x-2+2y+5=0,

6) 2x-3y+5=0 L 5x-y-3=0,

HE-Lop w X1, 8) Sx42y-3=0 U 4x—3y—2=0,
5 3 8 2

9) V3 x-y=4=0 L 3x++/3 y+5=0:
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117. Qapitp wyl ninnh hwjwuwpnudp, npb wbgbmd t (-3;7)

ytayny b gmquwhtn t°
1) OX wnwlgphl, 2) 3x+2=0 nunnhl,
3) 5x—2y+1=0 nuynhl, 4) x+3y=4 nunnhlb:

118. Qi uybh nuynh hwjwuwpnuip, npb wbghnud £ (2;5)
Ytyny U ninpuwhwjwug £
1) x4+2y-1=0 munnhb, 2) 7x-3y+52=0 nuynpb,
3) 4-3x=0 nuynh, 4) OX wnwbgpht:

119. Gl wyt mnnh  hwjwuwpnudp, npb wbhgmd Lk
13x-7y-6=0 L 4y-9x+5=0 ninhnbtiph hunpiwb Yapnyg
1) ninnuhwjwg b wnwehl nunnhi,
2) qniquhtin £ tpypnpn ninnhb:

120. x+y-1=0 b 3x-y—-11=0 ninhnbtph hupiwb Yapny pubty
x+6y-3=0 nuynhl gniquhtin ninhn:

121. 5x-4y+17=0 U 7x+4y-5=0 nmunhnibtph hwypiwb Yhypny
bt 2x-3y+4=0 ninnhb qniquhtn nunhn;:

122, x-2y+7=0 U 3x+y-7=0 ninhnbtph hupiwd Yapny qpuabity
3x-2y—-6=0 mnnht nunwhwjwg ninhg:
123. g wbhlywb puy £ phipduwd AB hunpwdp OX wnwbgph
OYunpiwdp, Gph’
1) AG-L;7), B(2:4), 2)A(2;3), B(5;3+413),
3) A(-2;5), B(4; -3), 4) A(2;1), B(3;-8):
124. Gapbbtp wyh nunnp hwjwuwpnuip, npb wigbhmd £ (-2;5)
Ytapny b nipnuhwjug £ (-4;-3) m (6;1) Yptipp shwgbng nun-
nhb:

125. Qi wyh mnnh hwjwuwpnuip, npb wighnud t (6;-3)
Ytipny b gmquhbbin £ (~1;7) m (5;-2) Ytypbpp Jhwglnn ninnhb:
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126. Gnwllpywl ququpltpb L A(-2;-3), B(5:4), C(0:8):
Qb C ququphg AB Ynnuhb prupjwd gmquhtn ninnh hwjw-
uwpnuip:

127. Gowllpwlh ququpbtpb &h® A(-4:-2), B(4;1), C(8:7):
Qb A ququphg pupdwd pupdpnipyub hujwuwpnudp:

128. Qpliby A(-4:2), B(2;-5) b C(5;0) ququpltpny tinwblywh
pwpapmEynubbph hwypdwb Yaph Ynnpphbunpbtipp:

129. Gl Sx+2y-10=0 munnhl’ Ynnpnhbuwpuyhl wnwbgp-
Ubph htp npw hunpdwb Yapbpmd jubqbtigpwd ninnubwjwg-
Gtiph hwjwuwpnuibitpp:

130. Enwllywb ququpbtpd Gh" A(=1;-1), B(1;3) b C(4;2) 4t-
iqptipp: Gty bnwblywb Ynnuikph hwjwuwpmdbbpp:

131. Gpubp Gnwblywb Ynnibiph hwjwuwpnudbtipp, Gpb npu
ququpbtpb Gb° A(6;1), B(-2;-1) L C(6;-3):

132. Qb Gnwblywlh dheliwmgdtiph hwjwuwpmdbbpp, tpt
tnwllyjwlb ququpbtpb tb™ M(4;3), N(1;-1) U P(-1;4) Ytaptpp:

133. Qb brwblywh dhohlt gdtiph hwjwuwpmuabbipp, bph
hwppth &b npw ququplbph Ynnpnhbunpbtipp® A(-6;1), B(-1;4),
C(1;-3):

134. Lwunwbljub Ynnitiph hwjwuwpnudbtipt G607 x=4, y=6,
y=3%, y=x: Gqilitij wblynmbwqgdtph hwjwuwpmdbbpp:

135. Guqub] y’=9x U x’=9y Unptiph hunpiwb Ytaptpny wbg-
Unn ninnh hwjwuwpmyp:

136. Uywgnighy, np A(-1;1), B(1;0), C(4;3), D(6;8) ququpltp
nibtignn pwnwblyjnibp ubnub t:
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137. Uywgmghy, np  A0:2), B(1;1), C(-2;-4), D(-3;-7)
ququpbtp mbtignn pupwblynibp gniquhtinwghd L:

138. Gwqub} wyb nunnh hwjwuwpnudp, npb wbgbhnmud £ A(2;3)
ypny b 45° wblymb £ juqund 2x-3y-8=0 ninnh htap:

139. Quplty A(-1;1) Ytapm] whghnn b x+3y=6 mnnh htp 135°
wilyymb Juqinn nunnh hwjwuwpmadp:

140. Spjwd bh gmquhtnugdh tpym Ynnitiph hwjwuw-
pnuibbpn® y=3x b x+y-4=0, L bpw whlymbwgdtinh hunpdwb 4h-
np’ (2;1): Guquly Wynw Gpyne Ynnitiph hwjuwuwpnuibbpn:

141. 3x-7y-3=0 nminnh ypw qupbb; wyb Ytapp, npp hwjwuw-
puytiu £ hinwguwd (-3;-1) b (2;4) Yhptiphg:

142. 5x+4p—-7=0 nunnh Ypw qupbbt) wyb Ytypp, npp hwjw-
vwpwytiu £ hinwgwd (-3;2) L. (5;-1) Ypbphg:

143. Qb wyb Ytpp, npp hwjwuwpuwybiu L hbipwgwd (9;3),
(=3;3) W (11;1) Ytaptiphg:

144. Ntiplywy ninhnbtiph hwjwuwpnuittphg npnp mbkh
Gnpdw) phup’

1) 3x-4y+7=0, 2) —2—x —~5—y—5=0,
3 7

3 4 1
3) = x+—y-2=0, 4) —=x-y-3=0,
)5 Sy )2 y

12 5 4 3
5) —x——y-7=0, 6) —x—-—y=0:
)13 13y )5 Sy

145. Qaplb; ninnh hwjwuwpnidp hplyuy wwydwbbbpny.
npw htnwdnpmpynibp Ynnpphbunpbbiph uyqpowytyphg hujw-
uwp & 3 dhwynph, huy OX wnwigpp ulyqpbwytiphg npnbbih
ninnhb hoigwd nunnuhwjywgh htigp Yuqumad k.

1)45°, 2) 120", 3) 315" whiynii:
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146. Ntiplywy nunhnbtph hwjwuwpnuibbpp ptptp Onpduy
tiuph’
1) 3x-4y-25=0, 2) 6x—-8y+13=0,
3) 2x—y+5=0, 4) 242x - 247y -15=0:

147. Qanit Ynnpnhbunpbbtiph uyqpbwytipphg htplywy ninpno-
tpht potigywd nuynuwhwjwugbtph Gpywpmpymbbtpp L wyn
nunuhwjwugitiph hhdptph Ynnpphbwpbtipp.

1) 4x-24/5y-15=0, 2) 3x + 4y + 40 = 0:

148. Qapit’
1) A(-2;3) Ytyph htnwynpmpymbp 6x+8y-7=0 nunnhg,
2) B(1;-3) Ytwph htnwynpmpynibp 7x-8y-31=0 nunhg,
3) C(-2;-3) Ytpp htnwynpmpymbp 3x+5y+4=0 nunhg:

149. Gnwlljuwl ququpp qpiymd b AG3;-2) Ypnud, huy
hhipp B(-2;0) L C(3;10) Ytyptipp dhwglnn hwpudb E: Gpbbg
tnwlljjub A ququphg pupdud pwpdpnipjub tpupnupynibp:

150. A(1;2), B(2; -2) b C(6;1) ququpltp nbtgnn Gnwblyjwb
hwdwp qupity.

1) (CD) pwpapnipjwh hwjwuwpnudp,

2) h=CD pwpapnipjul tpjupnipeymbp,

3) (CD) pwpapnipjub b (BM) dholwgdh Juquiwd 6 wblynibp:

151. Spqwd t 6x-8y—15=0 ninhnp: Gpbbj w)jb ninnh hwjwuw-
nnudp, npp ppwdhb gniquhtn £ b npubhg nibh 4 shwynp ht-
nwynpnipnib:

152. Spwd k 26x + 5y =14 nuhnp: @it wyb nnnh hwyjw-

uwnnuip, npp ppywdhlb gmquwhtie £ U npubhg mbh 5 dhwynp
htnwynpnipynil:

153. Qaplty htaplyw) gniquhtin nunhnbtiph Jhou tinud htinw-
Unpnipjnilp.
5x-3y+9=0 L S5x-3y-8=0:
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154. Quplty htaplywy qniquhtin ninhnbkph dholt inwd htinw-

ynpnipynibp.
12x-5y+36=0 L 12x-5y-16=0:

155. Spywd tib utinubh hhdptiph hwjwuwpnudtipp
x=7y+15=0 L 2x-14y-20=0: Qupltj utinubh pwpdpnipymbp:

156. Qpib; 4x+3y-8=0 L 9x—12y-5=0 munhnutipny Juquywod
wbyymbbtph Yhunppbiph hajwuwpnudtiipp: 83nyg pwy, np wyn
Yhunpnutipp dhyjuitg mynwhwjug tob:

157. Qaplt) 2x+9y-13=0 U 7x-6y-23=0 munhnbtpny Juqujwd
wblymbbbph Yhunpnitiph hwjwuwpmyabtipp:

158. Gwquty M(13;0) Ytaphg x*+y*=25 ppowliugdhl ypupuid
onputhnnubph hwjwuwpnmudbitipp:

159. Guqity M(-6;2) Yphg x*+y’=4 opowlugdhl pupdud
onpunhnnUtiph hwjwuwpnuibbipp:

160. Spywd bl gniquhtinugdh tpynm Ynnutipp” 7x-24y-45=0,
3x+4y-5=0, L wllpymbwgdtph hwypdwld M(7;1) Ytypp: Qb
qniquhtinugdh pupdpnipynibbtph Gpluwpnieymbbtipp:

161. Spywd bl A(12;-3) W B(l;4) Ypbpp: Opnhbunplbtiph
wnwbgph Ypw qupbby C Yhyph wybybu, np (AC) b (CB) nunhnbb-
pp 1tk hpwp mnqwhwjwg:

162. Spywd th tnwblpywub A(-2;4) L B(2;1) tpynt ququpltpp
U pwpdpnipynmbbtph hunpdwb D(1;3) Yhypp: bGwqut) bowblyub
ynnutiph hwjwuwpnudbbpp:

163. Spdwd th Gnwlhlpwb tpym Jhelwgdtph hwjwuwpmu-

bbpp® 5x+4y=0, 3x-y=0, b dh ququph Ynnpphbwwypbbipp (-5;2):
buiqub) tnwblywb Ynndtph hwjwuwpmdbbpp:
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3. Unnpyphlivaphbliph dinoapnpuncpynide, Qéuypl wlihifu -
uwpnntldph huabwldpupglipn

Copphiny nunnublymb-nauwppyubt Ynnpnhbwgqpuhtt Gnp
hwiwlwpg wybytiu, np bnp uyqpbwltpp qupbygh 0,(a;b) Yoy,
huy tnp Ynnpophbwypuiwld wnwbgpbtipp (hbbh  gqmquhbn
ulqplwlywl wnwigplbtphb, M(x;y) Ytyph bnp (x;y ") Ynnpnhbup-
Ubpp Ynpnykit x=x-a L y=y-b pwlwalitpny: YUnnpnhbunpbbtph
wjuyhuh dbuwthnjumpynbp Yngymd £ gniquhtie pnuthnfunt-
p)mb: buly bpt Ynnpphbunpbbiph uyqpbwltpipp pnnbbiny bny-
Up, Yunpwptbp Ynnpnhbwpuiht wowbgpbtiph uppnipp o wb-
ymbny (dwdwgniygh ujwph hwjwnwly nunnnpjwdp), wwyw Yn-
npnhbwpbbtiph dbwithnfunipjwb pwlwalitipp Ymbbbwb hEplyu
(biupp’

{x: =xcosa +ysino. .
y =—xsintt + ycosa

Ltipowybiu, wikbwpbnhwinip phwypmd, tpb junpwpyb) £ W
qniquhtin pnuithnpunipynil, W wpwbgpbtiph uppnyy, wwyw Yn-
npnhbunpbtiph dbwhnhunipyub pwbwabtpp Ynibbbwb htyplyuy
pbiupp’

{x'=xcosa+ ysina-a |
y'=—xsina+ycosa—b -

164. Unnpnhbunpbtiph uyqpbultipp qniquhtin plguithnfuni-
pjwdp ptinuwnpdyb) t 0,(4;-3) Ypp: Sl A7) Ytph Ynnp-
nhtunpbbpp tnp Ynnpphbupujuwd hwiwljuwpgnud:

165. Unnpphiwpuwl wrwigpbbpp upyppud  bo 30%-ny:
bt M(2v3;2) Ytwph Gnp Ynnpphlwpbbpp:

166. Unnpnhwpulwb  Onp  hwdwlupgh  uyqplbwybtpp
qupiymd £ O4(3;4) Ypnud, huy bnp wpwbgpbtippn uyqplwytpp
Ohwipiwdp wyppdud b 60°-m): Quphby 5x-2y+7=0 nunh hwyjw-
uwpnuip inp Ynnpnhbwypujwi hwdwlwpgnud:
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167. Unnpphbwypuijub wnwbgpbbiph gniquhbin ptinuthnjunt-
pjudp uyqpbwltapp phnunpnhjwd £ Oy(-5;2) Ytpp: Gplby
A(0;7), B(-2;-1), C(5;-4) Ytaptiph Unp Ynnpnhbunpbbipp:

168. Qupbby A(4:3), B(1;1), C(8;0) Ytptiph np Ynnpnhbunp-
ubipp, tpbt Yuypuwpyty L Ynnpphupuyhlt wewbgpbiph wynjypp
o whilymbny: Hupupyby a=30", 0=45", 0=60" ntiuyptipp:

169. Unnpnhtuwpuyul wnwbgpbtiph gniquhtn yphnuthn-
fumpjudp y=x’+8x+11 wwpwpnih hwjwuwpnuip pbpty wwp-

quignujt phuph’ y'=(x')°:

170. Unnpphiunpwljub wnwbgplliph gniquhtin pinuithnjunt-
rjudp wupgtghby htyplyyw hwwuwpmybbipn.
1) y’+4y=4x-16, 2) X*+y*-12x+18y-52=0,
3) X*+4y>-6x+8y=3, 4) x> +y*-12x+14y+60=0:

171. Unnpnhtwipuluwbh wnwbgpbtiph gniquhbn pinwtnjun-

4x -3
PJudp wwpqlghty y =3x—+5 hwjwuwpnuip® bnp uljqpbwlbtiyp
X

54
Jtipghtiny (“?3) Ytapp:

172. Ynnpphbwpujub wowbgptipp 45 wilyniing wypb-
1Ny wwpqtighty htiyplyw) hwjwuwpnudbbipp.
1) 5%°- 6xy+5y°=32, 2) 3x%- 10xy+3y*+32=0:

173. P’Ug whlyming wbypp L wypbp Ynnpphbunpuywb
wnwigpltinp, npytiugh htiplywy Ynpbiph bnp hwuwuwpniudotipp
syyunm bwy bl thmhnfuwwbbbiph wpgunpugp.

1) x*-xy+y?=3, 2) 5x%- 4xy+2y’=24:

Lwbh np Ax+By+C=0 hwjwuwpnidwip pwjwpupnd Gl
npnpwyh ninnh Ytpbipp, nipbdb Ax+By+C>0 Jud Ax+By+C<0
wihwjwuwpnipmbibpht Ypuwdwpwptll nnht swunpyubng
Ytptipp” Jwd mnnhg Jtpb pbwd Yhuwhwppnipyub Yaptpp,
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YJwd nunnhg btppl pbywd Yhuwhwppnpjub Ytpkpp: Lotbp, np
tpyne Yptiphg wybih Jepb pbwd £ hwdwpymd dGd opnhbunp
nutignn Ytypp: Ept C>0, wyw Ax+By+C>0 wihwjwuwpnipjw-
Up Ypwywpwpbb wil jhuwhwppmpjub Ytptpp, npp wwpne-
Uwynud £ ynnpnhbunpbtiph uyqpbwytipp:

Ept jhuwhwppmpjub gnit bkl Yjtayp pudupupnad t ogwd
wihwywuwpmp) wip, wyw wyn jhuwhwppnipjwb pninp Ytypb-
np Ypwyjwpwptb wthwjwuwpnip) wbp:

174. Qplbb; wyh Yhuwhwppmpjnibbbpp, npnip pujwpuwpmy
tb htplyw wbhwjwuwpmpymbbtphb:
1) 3x-y-6<0, 2)x-2y+4<0, 3)2x-3y>0:

175. Nwppnipjub Ypw Dok wyb Yptph puqinieymbp, npnbg
Ynnpphbunpbtpp pwjwpuwpnud 60 wihwjwuwpnipynibbtph
Yjw; hwdwlwpghb.

-x-y<lIl <x
piERtysa 5 Cx+y<l 3 X<l
) 'i(';y- ’ ) x+y<l ) 2y2x’
y= x-y<l y20
ng y<x x+2y2>0
i-}y(l‘ 2y2x ’ 6) X-y_<.0 N
%<2 x+y<2 x—4y2-6
2x —y<l1 3x +2y <l x+y20
7ix-y2-1, 8) {x+120 , 9){2x —y<3,
y=0 y20 x—-2y<0
X+y2-2 2y-x<6 Tx +4y <28
10) {x-y2>-2, I1) 3x—y<3 , 12) {5x-3y>14,
x-y<l 4y +x>—4 8x -9y <60

x+y-3<0 5x +y-7<0 X -220
13)¢3x+2y-620, 14){2x — 3y -13<0, 15) {3x-S5y-15<0:
2x-y-4<0 Tx-2y-320 2x +3y-12<0
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4. Eplyypnpy huwpgh Ynplip

Epynt thnthnjuwubbbpng tpypnpn wuphfwbh pbnhwbmp
hwjwuwpnuit nubjp htaplywy piupp.
Ax’+Bxy+Cy’+Dx+Ey+F=0 (A*+B*+C* #0):

Wju hwjwuwpnuip juwpnn £ wunpybiptp nunpupl puqdne-
pynb, Yy, mnhnbtiph qnygq, 2pgwbwghd, bhwu, hhwtippn L
wwpwpng:

Cnouhimgho: C(a;b) Yulnppnh b R pwnwghn mbbgnn 2pow-
Owgdh hwjwuwpnudb L.

(x-a)> +(y-b)’=R%:

176. Yuquti OY wnwigpp 2npuithnn wjh 2powbwgdh hwjw-
uwnnuip, nph Yabyppnop C(-3;4) Yaypb E:

177. Opnot| ninnh nhppp 2pewliwgdh bjunpiwdp (hunpmad L,
onpwithmyd £ Jud opowbwgdh htip smbh pbnhwbmp Yop), tpt
npwig hwjwuwpnuitiipt Go.

1) 2x-y-3=0, x2+y2-3x+2y -3=0,
2) x-2y-1=0, X24+y*-8x+2y +12=0,
3) x-y+10=0 xX+y*-1=0:

178. Qpiity htplywy opowbwgdtph Yhbyppnbbtph Ynnpnp-
Ounpbtipp b 2wpwyhnbtpp.
1) X*+y*+4x-6y +9=0, 2) X2+y*-6x+2y -6=0,
3) 3x%+3y>-12x-2y +12=0, 4) X2 +y*-8x+6y=0,
5) X*+y*+10x-18y +70=0:

179. Qb x*+y*+4x-6y-17=0 ppowlugdh wyl ppuniwgdh
hwjwuupnuip, npp nunpnuhwjug t 5x+2y-13=0 ninnhb:

180. Quputp wylh opowbwgdh hwyjwuwpmdp, npp  hwdwp
M, (-3;0) b M(3;6) dwjpwltitpipny hunpwdp ypudwghd t:

181. Quplbp wybh 2powlhwgdh hwwuwpmip, npb whgbhmy t
M(1;2) Ytypny b gnpunhmud £ nnpphbunpuijub wnwbgplbpp:
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182. Qb wjb ppowlingdh hwjwuwpnudp, npp 2npwithmy £
Ynnpnhbwypuljub wewbgpltipp b wigbmy k(1 NE) -2) Ytyny:

183. Qnlb wyb opowliugdh hwyjwuwpnidp, npp 2nputhmd £
ynnpnhlwypuuwb wowbgpbtipp A(-3;0) b B(0:3) Yypbpmud:

184. Qplkj r=3 2wnwyhn mbtgnn wjb 2powbwgdh hwjwuw-
poudp, npp 2nputhnud £ opnhbunpbtiph wnwbgpp (0;-4) Yhgpmd:

185. Qapiby A(3:-1) Yayppnb mbbgnn wib 2powbugdh hwjuw-
uwpnudp, npb wbgbmd £ B(-5:4) Ytypny:

186. Gt a phyp, tiphk hwppbh t, np x*+y*+ax-12y+1=0 ppow-
bwqgdh pwnwyhnp hwjwuwnp £ 6-h:

187. 4x-3y-38=0 mnhnp onpunthnud k (x-1)%+(y+3)°=25 spowlu-
ghdp: Gaplti) pnpwthdwb Ytiyph Ynnpphbunpbbpp:

188. Guplub A(6;7) Yalyppnh mbtgnn wyb opowbwugdh hwjw-
uwpnuip, nphb onputhmud £ 5x-12y-24=0 ninhnp:

189. Gty M(-7;2) Yuyph Yuwplwgnyb htnwynpnipymbp
x*+y*-10x- 14y -151=0 opowlugdhg:

190. Ganltip wyb opowliugdh hwjwuwpmdp, npb whghmy t
M, (-1:3), My(0;2) L M3(1;-1) Ytaptipny:

2 2
Erpwu: Ejhyup qubnbwljuwi hwjuwuwpndb b X—2+I);7=1,
a
npptin’ a>b>0, a’-b’=c’ b Fy(-c;0), Fa(c;0) Ytptipp bihuup $nynuu-
bbpb Gb: a b b pdtipp Yngymd &b Lhyup Yhuwnwbgpbtip (J6d L

thnpp), €= f <1 Yngynud t tihwuh tpugblnypphuhyptap:
191. Uwwgnighy, np x*+4y*-4x-24y+30=0 hujwuwpnuip bjhuy-

uh hwjwuwpmd £, qupbb) wyn fhyuh Yhuwnwbgpbbpp, $nyniu-
Ukiph Ynnpphbunpbbpp:
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2 2

192. Quplby 1%4%5:1 tihwuh 6> U thnpp wrwbgpbbiph

tipqupnpynbbtipp b $nymubtiph Ynnpphbunpbtipn:

193. Quplity 4x*+25y*=100 tihwuh Yhuwnwbgplbiph biplupn-
pyniblbpp W $nymubbtiph Ynnpphbunpbbipp:

194. Qaplb| fihyup ubnbwlwh hwjwuwpnudp, el npu dkd
Jhuwnwbgpp hwjwuwnp £ 3-h, b fhyub wbhghmy k (\/g ;0,4) yt-
oy

195. Gwquil] fhyuh juinbwijwb hwjwuwpmdp, tGpb npw

Jhuwnwbgpbtiph gnuiwpp hwjwuwp £ 16-h, hull $nyniubbipp
qupbynud GG (-8;0) L (8;0) Yptipmud:

196. Qpiby tthyuh yuwinbuud hajwuwpndp, teb nppuw $n-
Ynubitiph htnwynpmpynibp hwjwuwnp £ 8-h, huy thnpp Yhuw-
wnwbgpp” 3-h:

197. Qapbtp Eihyuh Juwinbwywb hwjwuwpmdp, bpb wjb
wbghnud £ (5;—2) L JE;%/E) Ytptipny:

198. Qapbip wyb Ehyuh Juinbwlwb hwjwuwpmdp, npb
whgmu E (4\/5;35 Ytpnd b npw $nynwuliiphg dtyp qupbymy k&
(-5;0) Ytpnud:

199. Nipnpk tjhyuh W nnnh thnpuwnwpd nhppp, bpb npuig
hwyjwuwpnuibitiph Gh.
1) 2x-y-3=3,
2) 2x+y-10=0,

200. Uuywgmgty, np htiplywy hwjwuwpmdbtipp bhyup hw-
Juwuwpmubbp GG, b qupbt) wyn Bhyubbph Yhuwewbgpbbpp.
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1) 5X’+9y*-30x+18y+9=0,
2) 16x’+25y*+32x-100y-284=0,
3) 4x7+3y*-8x+12y-32=0:

201. Qb — +% =1 khuyuh My(x;yo) Ytipmd npub qup-
Jwd 2npnthnnh hmqmumpnuiu:

V[uql'npn[ Shytppnih juwinbwjwt  hwjwuwpnudt EF
2
X—2 - Z = =1, npptin’ a,b>0, c’=a’+b?, Fi(-¢;0) U Fy(c;0) Ytaptipp hh-

wbtppnih $nynwbtiph Gbh: y = i—b-x nuhnubtipp Yngynud Gb hhwtip-
a

pnth wuhduppmplbbp, €= 51 Yngymud £ hhytippnih tpugtinpph-
a
uhypbiy:

202. Qbby 16x*-9y*=144 hhybppnih Yhuwnwigpbbtipp, $n-
Ynwlbtiph Ynnpnhbwypbbipp b wuhduppnypbtph hwjwuwpnuibb-
np:

203. Yuqut; hhybppnh juinbwlwb hwjwuwpmudp, tph.
1) ququpbtph dhel inud htnwynpnipeiniip hwjwuwnp
14-h, hul pnynwbkph vholu tinwd htnwynpmpjmbp’
20-h,
2) hpwiwbh U Ybnd wnwbgpltiph btpYwpnpNbbkph
gnuiwpp hwjwuwp £ 14-h, hul $nynubbipp qupbymu
th (-5;0) L (5;0) Yyptpnuy:

204. Qlb hhyhppnih Yuwinbwljwb hwyjwuwpnuip, Gpb gpu

$nynmubtipp qplhynud &b (-9;0) L (9;0) Yaptpmd b hhybippnb
wbglhnud £ ?\[17 ;8) ytyny:
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2 2
205. Qupliby %6- - l’; =1 hhwbppnih $nynubbph Ynnpnhlunp-

Otipp L wuhduypmpbbph hwjwuwpmdbbpp:
206. 9pbt; wyh hhybtppnih Jubnbwywh hwjwuwpnuip, npb
4
wighmy k, (-?;3) Ytypny, hulj y= i;x ninhnbbpp npuw wuhdw-

pmpbbpb Gh:
207. Qapit) hhybtppnih juwinbwlwh hujwuwpmdp, Gpl npu

2 2
$nyniubbpp hwdpyimy b 1—"6—9 +1yﬂ =1 bhwuh $nynwubbphb,

hulj y=-2x ninhnp npw wuhduypypmpbtiphg dkyo t:

208. Qb hhybtippnih Yhuwnwigpbbipp, Gpt npuw wuhdw-
nputipt hpwp nnpuwhwjwg &b, b hhytppnit wbgma E

@;«/-13) Ytipny:

209. Mwpqty, pt htplyw) hwjwuwpmibtpp npnpn™iy b hp-
wtippnibbin, b qpbt) wyn hhwtppnbtph wuhduppmpbtph hwdw-
uwpmuilbipp.

1) 16x>-9y*-64x-54y-161=0,
2) 9x%-16y*+90x+32y-367=0:

Nwpwpn;: MNwpupnth Juinbwjwd  hwjwuwpmdb  t
y*=2px: p>0 phyp Ynsynud k wywpwpngh wuwpudbipp: y*=2px ww-

nwpnih ququpp qpiymd t O(0;0) Yypnud, $nlymup’ F(%;o)
Ytypmd, hulj OX wnuibgpp npuw hwiwgunhnipjub wowbgph t:

210. Qb y*-2y-6x+4=0 wuwpwpnih wyuwpudtppp b $nynwup
Ynnpnhbwpbbipp:
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211. Yuqut| ywpwpnih jubnbwlwb hwjwuwpmudp, bph.
1) P$nYynwup qupiygnmud k (4;0) Yaypma,
2) wuwpwpnb wigbhmy k (24;-12) Yapny:

212. Ywqut] wwpwpnih hwjwuwpnudp, tph.
1) wwpwpnip hwdwguth t OX wnwbgph Ghuypdudp L
wigbmy k (0;0) L (-3;3) Ytyptipny,
2) wuwpwpnip hwdwsuwh © OY wnwbgph Ghunpdwdp, L
$nynwup qpiynud k£ (0;3) Yhypmd, hulj ququpp’ Ynnp-
nhbwypbiiph uyqpbwybpnud:

213. ik ywpwpnh hwjwuwpndp, bpb wjl hwdwswh k£
x=2 munh Ghunpiwdp, OX wnwbgph htip hunpymud b (1;0) Yk-
ynud, hulj OY wnwbgph htap® (0;-6) Ytiypnud:

214. y*=12x wwpuwpnih Ypw qpbby wyb Ypbpp, npnbg hbnw-
ynpnipnibp ywpwpnih $nlniuhg hwywuwp k 4-h:

215. x=2y" wwpupnih Yypw qpbby wyb Ypbpp, npnip hujuw-
vwpwwytiu hinwgywd kb (0;0) L (1;1) Yptphg:

216. Mwpgtiy, np hplyuw; hwjwuwpmadbtph gpudhlbbpp
wuwpwpnibtip bb: Gpbb nhwbg ququpbtiph Ynnpnhbunpbtipp W
p wwpwitppbipp:

1) y*=4x-8, 2) x*=2-y,
3) y=4x>-8x+7, 4) x=2y*-12y+14:

5. hnunp pubinhphkp bpypnpy lpupgh Ynplph bpuplin-
Jwy

217. Quplty x’+y*+ay=0 powlugdh Yhbppnbh htpwynpnt-
piniip y=2(a-x) nunhg:

218. Quplby wyb Ytpbph pwqinipjwd hwjuwuwpnudp, npnbg’

y=kx b y=-kx ninhnltiphg nilitigud htinwynpnipjnibbtph gmiw-
pp hwuypugmb £ b hwjwuwp k a
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219. Gapbb; wyb hwjwuwpwlnnd trnwbljjuwb dwlybtpbup, nph
ququpltpp qpuynud tb x>-y*=a® hhuippnh Upus:

220. Uywgmgt|, np hhytippnh gubjugwd Ytyph wuhdw-
pmplbphg mbbtgwd htnwynpmpynibbtph wppunpup hwo-
2,2

punn b £ b hwjuwuwp £ a_2 :
c

221. Spywd t x*+4y*=16 Hhwup: 4w A(4;0) ququiphg ywp-
Jwd b pninp hbwpwdnp jwpbpp: bl wyn jwptiph dhohw-
Ytyptiph pwqunieyut hwjwuwpndp:

222. Gunnigty htplywy wihujwuwpmpmbbtphtt pujw-
pwpnn Ytaptiph yphpnypitpp:

2
w) R%<x’+y’<4R* U x2>R—4- ,

p) x-y*>a’ L x’<4a’,
q) xy>a’ L Ix+yl<ta:

223. Uywugmgt), np tpb Ax+By+C=0 ninhnp pnputhnmud k
22
LIS S 1gdhb, wyuw® A%a’+B*b*=C%:
az b
Smugnud. oquuty Gihuyuh (x0,y0) Ytypny wbglinng pnpwithnnh

XXo + YY¥o

> >- =1 hwjwuwpnudhg:
a- b

224. Guqub) wyb Yphph pugdmpul hwjwuwpnudp, npnbg
Ynnpnhbwpuub wilymbbtph Yhunpnbbiphg nilbigwd hbnw-
Unpnipynibitiph punwynwhbbiph ypwppbipnipyniip hwjuwuwnp
8-h:

6. Pubnuwyhls hnnpyphuphbip

Glpwnpbbp’ hwppnipjub Ypw ppduwd b O Yypp (phbn) L
OP Swnwqujpp (plbtinwjhl wnwquye): Wu nypnd M Ytaph
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nhppp hwppmpub Ypw Ynpnpgh ¢=£ZMOP putinwjhlt wblm-
Uny b r=OM rwnwynny:

Y M

XL
o P

bpt npybtu pubin pypptlp nunnublymb Ynnpnhbwpulwb
hwdwwpgh uyqpbwltapp, hul npybtu puinuhlt wpwbgp' OX
wnpwigpp, wyw M Ytaph (xy) njwppyub Ynnpnhbunpbbiph
(r;9) putinwyhb Ynnpnhbunpbtiph Quyp Yihbp'

X =rcos@
y:l’Sin(p ! tg(P=l
X

Ept wwpwpnih $nynwup pbnpmbtbp npybu putn, huy OP
pubtinwyhlt wpwbgpp nunntibp nhpilppphupll nnqwhwjyug’ nh-
ntypphuhg nhwh putin monmpjwdp, wyw wywpwpnih hwgw-
vwpnuip putinujht Ynnpnhbunpbbpng Ygpyph' r=7 P p np-

- Cos
\ptn’ p-U wwpwpnih $njuy wupwdtppb E: Unyt hwiwupgnd
tthyup b hhwbtppnh  hwdwywypuupwd  §nupp mokb

P

r=————— ybuph hwyjwuwpnud, npyptin® €-p gdh tpugknppp-
1-€cos@

b2
uhptapl £, huy p-O njwy wwpwdtppp, npp npnpynud £ p =—

a
pwlhwaliny:

225. YGunmghy r=2+2cos¢ ghdp:
Snignid. ¢=0, i%,i%,i%ﬁ,n wpdtpbtiph hwiwp Juquib r-h
wpdtpbbiph wnymuwly:
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226. Gwnmgt) htaplyu gdtipp.
w) r=a@ (wpphdbnjuwl wwpnyp),
) r=a(l-cos@) (Yupnhnpn),
q) r’=a’cos2¢ ((udbhuljuy),

nr =% (hhybppnuiwb wwpnyp),

b) r=a(1+2cos@) (Mwulwih hujuniby),
q) r=asin3¢ (knwptpp Jupn),
) r=asin2¢ (pwnwptppe yupn):

227. Ntplywy gdtiph hwjwuwpmyttipp duunhnfub) nblupyp-
jwb Ynnpnhtunpbtipng gpdud hwjwuwpnidbbiph.
w) rcos@=a, p) r=2asing,  q) r’sin2gp=2a’,

n) r=a(l+cos®), b)rsin((p+% )=ax/-£ :

228. Qupbly tipypnpy Yupgp Ynptiph juinbwwd huduwow-
nnudbtipp.

r=

r=————, = :
4-5cosQ I-cos@

§2. ULULPSPU 6LULTUONFE-3UL SULLHENE
SULUONFR-3UL UER

1. Gpyni Ylipliph dholt inwd hlimuynpnigamihp. hwyp-
Yo praud wmbhnidp ppfud hwpuplipnigaudp

Swpwdnipjub dbe pbyppdwd ninnublynb-ptijupypyub Ynnp-
nhtwpuiwb hwdwlupgnd pupudmpwd jJnupupwbygnip Ye-
tnh nhppp npnpymad £ hp Yanpohbunptipny” x wpughuny, y opnh-
bwyny U z wuyhjugpny:

Swpwodnipjulb A(X;3y;5z) W B(X2;y2;2) Yhptiph dhol inud
htnwynpnipynip hwoynud Go.

AB:\/(Xz‘X1)2+()’2'YI)2+(22“7~1)2
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pwhwaliny:

A(xp:y1iz) U B(Xzy2z2) dwypwytipipn AB hunpjwdp A hw-
pwptpnipjwdp (A_M=)»MB) pwdwlnn M(x:y;z) Ytaph Ynnpnh-
Gunpitipp npnymd Gb.

X tAx, _YitAy, Z=zl+}»z2
1+1 l+A 1+A

pwbwabtipny:

229. Qaplb) A(-5;12;1) Ytiph htnwynpnipymbbbpp Ynnpnhbw-
ypwjhl wnwbgpltiphg:

230. Swpwdwlwh ninnublyymb Ynnpnhbunpujub hwdwluwp-

gmuu Junpngh) htypplywy Ypbpp.
A(-3;2:3), B(1:4;5), C(3.0:1), D(0;4;0):

231. Qaplib) htypb juy Ytptiph dhol tnud htinwynpnipynibp.
1) A(2;0;-1) W B(-2;-5;3),
2) AG3;2;1) L B(4;-1;-2):

232. Qaplbp A(6;-8;2) Ytyph htinwynpnipymbbtpp Ynnpnhbw-
puwjhlt wnwbgpltiphg:

233. Gpypnpn oyypulnpnud qypbity wyb Ypp, nph htinwynpni-

pymbbtpp Ynnpnhbupujhtt wowbgpbbtiphg hwdwwyunpwupuw-
bwpwp hwjwuwp GO° V52,345 us:

234. Upughulliph wnwigph Ypw qupbby wyb Ytpp, npp hwjw-
uwpwyjbiu £ hinwgywd A(2;2;3) W B(-3;5;1) Ytptiphg:

235. XOY hwppmpjul ypw qupbbt; wyb Yhpp, hwjuwuwpw-
wtu t hinwgywd A(-2;1;3), B(0;-1;-2) b C(3;1;4) Ytaptiphg:

236. OZ winwhgph Yypw qupbby wyb Ypp, npp hwjwuwpuwytiv
E htinugywd A(4;-1;2) L B(0;2;-1) Ytptphg:
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237. 8nijg g, np A(3;-2;5), B(-2;1;-3) W C(5;1;-1) ququpht-
nny tinwblynbp unipublynih towblyynih £

238. Spywd Ll AB hunpjwdn tiptip hwjwuwp dwubtiph pwdw-
unn Ytapbph Ynnpphbunpbbtpn” C(3;-2:-1) b D(1;1;6): Gapiubp A L B
Ytaptiph Ynnphbwgpbbpp:

239. b0 hwpwpbpnipyudip b pwdwbmd M(1;2;0) Ympp
A(-1;0;0) b B(4;5;0) dwjpwltiptinny hupuwdn:

240. Qb A(S;1;12), B(11;3;8) L C(2:5;0) ququplbtipny
tnwbyjwb dwipnmpjul Yalyppnbh Ynnpnphbunpbbpp:

241. Qapuby wyb Yph Ynnpphbwqbbpp, npny XOY hwppnt-
pynibp \ppnhnd £ A(2;-1;7) W B(4;5;-1) dwypwytiptipny hunpjuw-
on:

2. Nupppnippyuh hwijuvwpnidp

Spjwd M(Xe;¥0;z0) Ypnyg wtighing U yppdwd n (A,B,C) yhy-
yinphb (hwppenipyjub bnpdwy Yayypnphl) ninpnuihwjwg hwppnt-
pJwlh hwjwuwpmdb .

A(X-X9)+B(y-y0)+C(2-20)=0:

Gpb ppdwd L hwppnipjud dby tpiwpnipinth mbkgnn dhw-
ynp Unpdwy gblppopp® n(cosa, cosP, cosy), b hwppmpjub p=0
htinwnpmpymip Ynpphtunpbbtiph uyqpbultiphg, wwyw wyn
hwppmpjul hwjwuwpmdp, npp Yngdnud £ hwppm pyjut bnpdwg
hwjwuwpnud, nibh htapbjwy phupp.

xcoso+ycosB+zcosy-p=0:

Opwbugh  hwppmpyjubt  pbnhwinp  hwjwuewpnuip’
Ax+By+Cz+D=0, ptptlp Unpdwy wpbuph, whypp L wjb pwqiw-
wuiplytip tnpduninpnn wpgunphsny.

u=i—l—,
JAZ+BY 4+ C?

pbn npnid” p-h Gpwbb plyppynud £ D-h bpwihb hwiwnwly:
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A(Xpiyoizo) Gtyph  htnwynpmpymbp  xcosa-+ycosP+zcosy-p=0
hwppmpnbhg npnaygmud t.

h=!xocosa+yocosB+zocosy-p|
|Axq +Byy +Czq +D|

VAZ +B? +C?
Gpt hwppnp)nibp ynnpnhbupuljwl wpwbgpbtpp hwpmy
k. hmdwyuwpwuppwbwpwnp® (a,0:0), (O;b; 0) L (0;0;¢) Yyptipnud,
www npw hwjwuwpnidp Yihbh.
X y z
—+=+—=1
a b c
(hwppnpjwb hujwuwpndp hunpdwdbitipny):
Oquuytiiny wjb thwuphg, np n (A,B,C) ykljyqpnpp mnnuhuwjwg
I Ax+By+Cz+D=0 hwppnipjulip, Jupbih b hwpybp Gpym hwp-
pmpynbbtph juqiwd tpybhuyp wbljub gdwjhbh wblymbp:
A x+B,y+Cz+D=0 U A-x+B,y+C,z+D,=0 hwppnipjnibbtiph
Juquwd tpyuhuyp wblpymbbtiph ¢ gdwjhlh wblynibbbkpp npnpymad
L.

pwlwaling, Jud® h=

|AA, +BB, +CC||

cosp=1=%
\/A,2 +B,2 +C,2 .\/Az2 +B22 +C22
pwlwalny:
Swppnipynbbtph qniquhtnnipyub wywpiwbh k.
(A|,B|,C1)=k(‘A£2,B2,C2), Dl-'/-'szi
Swppnie)nibitiph nigpuwhwjwugnpub wyw)ydwbh k.
A|A2+B|B2+C1C2=OZ

242. Qb M(2;1;1), M(-2;4;2) b M (1;3;-5) Ytaptipny wbglinng
hwppnipjwl hwjwuwpnuip:

243. Yuqutip uwylh hwppnipjwb hwjwuwpnuip, npp.
1) gmquhtn t XOY hwppnipjuip b wywpmbwymd k
(3;2;1) Ytpp,
2) mnnuhwjug £ XOY hwppnipjuip b wbghnud  (1;9;0)
b (-2;-1;5) Yhpbtpny:
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244, Qapbh; wybh hwppnipjul hwjwuwpnuip, npt wbghmd £
A(-1;6;3), B(3;-2;5) L C(10;4;1) Ytuptipny:

245. Quplby M(-1;2;3) png wbglnn b OM Jehyunphl mnnw-
hwjwg hwppmpjul hujuwuwpmdp:

246. Qpitp A(2;-1:3) Ytmpny wbginn U Ynnpphbuwpuljub
wpwlgpbbphg npuijwd L hwjwuwp dEdMpwh hunpwdbbtp
wbowpnn hwppnpjul hwjuuwpmp:

247. Stplywy  hwppnpeynubbtph hwjwuwpmaltpp  phipty
Unpudwy yphuph.
1) 11x-10y+2z+30=0,
2) -6x+2y+97-44=0,
3) x+2y-3z-1=0):

248. Qapib) Ynnpnhbunpbbtiph uyqpbwytpp hinwynpmpymip
2x+y-2z+18=0 hwppnmp)nibhg:

249. Qb
1) (-4;-3;1) Ytaph htinwynpoipymbp 4x-2y-4z+3=0 huip-
pnipniihg,
2) (2;0;-5) Ytwpph htpwynpmpymbp x-3y+62z-10=0 hwp-
pmpjnilhg,
3) (1;10;-5) Ywmph htowynpnipymbp x+y+z-8=0 hwp-
RniEjmihg:

250. Gaplbp 4x+3y-5z-8=0 L 4x+3y-5z+12=0 qniquhtin hwp-
penipinbbtph dhol tnud htinwynieynibp:

251, Gapbby A(15-1;2), B(3;3;4) L C(2;4;0) ququpltipny tinwb-
Wywh dwipnipjui Yhalppnbh hinwynpmp)nbp 4x+3y-4=0 hwp-
Pmpjnibhg:

252. Qupliby 4x-22y+20z=15 hwppnipjuwb tnpdwih ninnnpn Yn-
uhUnwubtipp:
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253. Nwppmpintp Ynnpphbwpujul wpwbgpbbpp hwpmad
t. hwiwywpwehiwbwpwp® (5;0;0), (0;10;0) L (0;0;-5) Yptipmd:
Qult) wyn hwppmpjwb Gtnpdwih ninnnpn Ynuhbmebtipp:

254, Spwd b M (0;-1:3) b My(1:3;5) Ytaptipp: Qbbb M,
Ytypny wignn b MM, Jtlppnpht ninnuhwjwg hwppnipjwb
hwjwuwpnup:

255. Qb A(0;-2;3) Yytypny b OX wnwbgpny wbglnn hwp-
pnipejwh hwjwuwpnudp:

256. Quplt 2x-2y+z=6 hwppnpjul Unpduh Jjuqiwd wb-
Yynibbtpp Ynnpphbwypujuwb wowbgpbbph htiyg:

257. Qb 2x-3y+62z-12=0 hwppmpjudp b Ynnpnpbunpuwb
hwppmpnbbtpny vwhdwbwhwyuwd pnipgh dwywyp:

258. Quplby A(1:2;-3) pny wighnn b 3x-2y+6z-8=0 hwppnt-
pJwbp qmquwhbn hwppnipwl hwjuwuwpmdp:

259. Muwnpgt) htiplywy hwppneynbbbph thnfuwnupa nhppep.

1) -x+2y-z+1=0 i} y+3z-1=0,

2) x+2y-3z-5=0 L 2x-y+z+2=0,

3) x+2y-z-1=0 u -2x-4y+2z+1=0,
4) —;— -y+z-7=0 i3 2x-4y+4z-3=0:

260. Qaplty htipbjw) hwppnipynbbtph Onpdw) Yljppnpbtiph
Juquiwd wiljwbh Ynuhbnwup.
1) x-y+1=0, y-z+1=0
2) 3x-y+2z-7=0, x+3y-2z-3=0:

261. Qb A(2;2-2) Ytipny wbglnn b x+2y-3z=0 hwppnipjwu-
Up qniquhtin hwppnmpjwl hujuwuwpnudp:

262. Gpii) OZ wnwbgpny wbglng b 2x+y- J52=0 hwppnt-
pywl htup 60° whlynih Yuwquinn hwppenipiwh hunjwuwpnuip:
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263. Qpbl)  A(0;-5;,0) W B(0;0;2) ytaptpnd wbghnn L
x+5y+2z-10=0 hwppnipjuip nnnubhwjug hwuppnpuid hwjw-
uwpnuip:

3. Minhnp pwpwodngajuh o

Swpwdmpjub dbe ninhnp Yuptih L nphypwpyt npube Gpgm
hwppmpmbitph hunpdwi ghd (manh punhwingp hwjuwuw-
npnuibiip).

{A,x+B,y+C,z+Dl =0 |
A,x+B,y+Cyz+D, =0~

M(x0;¥0;20) Ytiypny wbglinn L §(m;n;p) ninnnpn JG{qpnpht qm-
quhtin nunh hwjuwuwpmdbbpb G0 (Quinbwjwd hwjwuwpnud-
utip).

m n p

Nunnh uwpuwdtppujuwb hwwuwpmyabbpb Go.
X =mt+ X,
y=nt+y, :
z=pt+z,

AXi3y1;21) It B(x23y2522) Ypipny wighinng mnnh hwjuwuwpmd-
Utph L.
X=X _¥Y=% _2-%
X2=X1 Y2—Y1 2Z37Z ’
pwlh np E(xz —X13Y2 Y1322 —zl) ybyypnpp (AB) munnh hw-
dwp nunnpn tyyinp E:

fMinnnpn Jyinpbtinh dhengny Yupbih t qpby.

X7X YT 274, XTX2 _YTYr 7277
m n Pi m; ny P2

tpyn mnhnbtiph gmquhtinnipjui ywydwbip®
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™m_Mm_P

m, ny py
ninquhwjwgnipyul wuwjdwbp

m;m,+n;n,+p,p=0,
hbgytiu bwle qupbty Gpym mnhnbbtph Juqdwd wblnibp’

mmy +njny +pipp

cosQ = = .
"S Jml +n +p; (2+n2+p2

fMinnh ninnnpn Ytypinph b hwppnupywi bnpdwy geijppnph oh-
ongny Yupbih b wwpqbt manh b hwppnupjwb thnjuwnupd ghp-
PR upwdnipjwb dky.

w) §(m:n;p)|| (A B; C)

;,
“

m_n_p
—=—===n nunuhuwjw
A "B Mhwnhnp manwhujug
t hwppnipjwbp,

p) S(m;n;p) L n(A;B;C)=> mA +nB+pC=0=> ninhnp qn-
quhtin t hwppnipjubp (Gwubwynpuwybu Jupnn £ yuplubb
hwppnipulp),

@) nunh b hwppnejwl juqiwd wblyynbp.

|;1.§ |mA+nB+pC|

"“1""5" \/A +BZ+C2Jm +n? +p

sing =

+2y+3z2-13=0
264. Gk {gx + )3,’ + 42_1 4-0 pOnhwinp hwjwuwpnuibk-

nny yuipdud nunnh Jubnbwlwid hwjwuwpnuibbipp:

265. Mwnqb)” hunpdn™ud £ wprynp htippllywy ninhnp’
3x-y+2z-6
{x+4y—z+24=0'
1) OX wnwlgph htayp,

2) OY wnwbgph htap,
3) OZ wnulgph htap:
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+2y-z+3=0
266. 9\nlkj o phyp, tpb {;x_ ;’ +;z t0=0 nuhnp.

1) hunpnud £ OZ wnwlgpp,
2) hunpnud £ OX wnwibigpn:

267. Guqut) wyb ninnh hwjuwuwpnuittipp, npb wbghnud £ Yn-
npnhbunpbtiph uyqpbwytypny L.
1) (3;-2;1) Ytpny,
2) (4;0;-6) Ytapny,
3) (1;0;0) Yapny:

268. Uyinighip’ htplywy tplip Ytypbpp qupiynid Gh wpnynp
dhly ninhn gdh dpuw.

) AC25:1), BG:-1:7), c(—%m),
2) A(8;0;5), B(-11;9;1), C(4;3;2):

269. Quplty munnh juwinbwjwd hwjwuwpnuibipp, bpb wjb
wbglhnud £ My(2;0;-3) Ytiqpny b qniquihtin L.

1) a(2;-3;+5)tlypnpht,
x=1_ y+2 z+l
2 = = n O,
) S 5 =7 Mwanh
3) OX wnwbgphl,
4) OZ wnwlgphl,
5) {3x—y+22—7 =0

x+3y-2z-3=0 manhl:

270. Qbbp yppdud M, b M, Ytptipny wighnn ninnp hwdw-
uwpnudp, tiph.
1) Mi(15-2;1), My(3;15-1), 2) Mi(3;-1;0), M(1;0;-3),
3) Mi(-152;3), M2(2:6;-2), 4) Mi(-1;2;3), M(2;6;-2):

271. Quplity {;:E;z‘ il nuinnh U O(0;0;0) m A(l;-1;-1) Yhph-

nny wighnn ninnh Juquwd whlyymbp:
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272. Qupliby A(-4;3;0) Ytapny whghnn b {;x—fi t2=% monht

gniquhtin mnnh hwjwuwpnudp:

273. Quplby {’z‘ I §’ nunnh nunnnpn, Yblypnpp:

2x—y-7=0 3x-2y+8=0
274. Qb {2x —745=0 L {z=3x ninhnutph

Juquwd wblyymbp:

275. Qb nunh b hwppnpeyud hwpdwb Ypp, Gpb npubg
hwjwuwpnudbtint bo.

1 == =— L 7x-y+z-6=0,
) T T y
gy XHl_y=5_2 W 3x-3y+22-5=0,
2 4 3
p Byl 274 oyazei=o:
8 2 3

276. Qi {%z==3i3—x 1 +o mnnh U 2x+y+z-4=0 hwppnipjwl

Juquiwd wblyynbp:

277. Qphy x;3=%=z;l w x;l:_yT—-l:% qmquhtin

ninhnttipny wbgbnn hwppnipywh hujwuwpnudp:

_y _ i
X =y23=»2;f1 nupnmy L M(3;4,0) Ytapny

wiglnn hwppenipjud hwjwuwpmdp:

278. Quplily

x=2t-1
279. Quplly {y =t+2 nunh b 3x-2y+z=3 huppnpjwuid hwuyp-
z=1-t

dwh Ytpp:
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280. Qupliy;  A(3;13-1)  Ywph  wpmbiyjghwb  x+2y+32z-30=0
hwppnieyub ypu:

281. Qb M(2;1;0) Yty whiging L { X %21 ninght min-

nuwhwjwug hwppnipjul hajwuwpndp:

282. Quplily {;zlz—z mnnp U y=z hwppnipjul hupdwi

Ytpp b npuitg juqiwd wblymbn:

x-1_ y+1 z+2
1 2 2
hwppnipjuip ninpnuhuwjwug hwppnieub hwjuuwpmudn:

283. Gupub nnnny wbginn b 2x+3y-z=4
1

284. Qaplby M(6;1;0) Ytaph htinwynpnipjnibp —)lizl;=
nunnhg:

§3. R 0U3PL NULULUNUCUD SULLELL

1. Puyhl pmpwdnigagnibhibp

G pwqunipynibp Yngymud £ funwip, tpt wyn pwquinipjubd ju-
dJwjwiwb a b b ypwpptph hwdwp vwhiwbjwd £ npubg wp-
qunpup’ a-be G, npp pwjwpwpnud L htigplywy wwydwbbbphb.

1) (a-b) -c=a - (b -c) (qnignppuulinipjul hunpnipnih):

2) G pwydnpjub dbe 3 wybhwhuh e pwpp (Ynsynid £ shwnp),
np G-hg ytipgpud V a-h hwdwp' a-e=¢-a=a:

3) 8mpwpwlgmp a-h hwdwp, npp Wwpudmd b G-hb, G-nud
3 wjlwhuh a' pupp (llng.[nuli kt a-!l hwlunuwpad), np plinh nlbh’

a-a =a -a=¢

funuipp Yngmd £ Yndnupunphy Yud wpbjwb, Gpb V a,b qpup-

ptinh hwdwp yplinh mbp a-b=b -a hwjwuwpmpnbp:
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Undnupunphy fudph hwdwp pbnnbdud E ab-h thnfuwplb gptyg
a+b U wpypunnuit widubty gnuiwp: Wuuhuh fudptind wigw-
Unuwd &b wnpphy: Unpphy fudph e dhwynph thnfuwptb gpnud Go
0, a"'-h thnpuwpkl' -a, huy a + (-b)-h thnpuwpkl' a-b:

Yuptijh £ wywgnighy, np.

w) G judpmud 3 vkl Jhundnp b G-hg ytpgpwd V a-h hwdwp
dby a’ hwliwnupa (wuywgmgty hbphnipnyb):

p) V a b b qoupptiph hwdwp, np wunpubmy &b G judphl, 3
dhwpdtip npnpqwd x,y qnuyq (xe G, ye G) wjliygtiu, np ax=b, ya=b
L (ab)'=b"-a" (wuwgnigh) hipumpnyb):

285. Uwwgngti, np.
G={a* | xeZ, aeR L a#0}
pwqumpniip’ unynpuiuld puquwuunpyiwb gnpdnnmpjudp,
hunuip t. qupity G-h shwynpp, G-h npuk pwpph hwjwnwpanp:

286. Wwywgnighy, np Z;:{O,tl.i 2, } puwquimpjnibp wnhyphy
hunudp £ gnudwpiwh gnpdnnnipjwi Glunpiwdp:

G wnhyphy funuwipp Yngynud £ onuly, Gpt G-nid uwhdwbywd t
puquuuyupdwb gnpdnnmpmb (G-hg ybpgpwd V a b b qpup-
ptiph hwiwp G-nud vwhdwbyuwd £ a-b, (a-be G), npp pwjwpw-
pnud £ htplywy wwydwbbtphb.

1) (a-b)-c=a-(b-c),
2) a-(b+c)=a-b+a-c,
3) (b+c)-a=b-a+c-a:

Wjuyhuny, G onuind uwhdwbywd t Gpynm gnpdnnmpimb’
gnuiwpnud b puqiuwuywypynud:

Onuyp Yngynud £ Yndnupunphy, tipk* a-b=b-a:

bndnupuiphy onulp Yngynud £ nuizwyp, bpb ng qpnywlwb puwp-
ptipp Juquinud GO funuip’  puwqiwuunpliwb  gnpdnnnipjub
UYuypdwdp: Y%wugph e shwynph thnfuwpbb plnnubgwd t gty 1:

287. Uuugnigt, np.
Q={E | meZ, neZ, n#O}
n
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nwghnbuy pYtph puqunpynibp ungnpuljubt gnudwpdwb W lpwq-
dwyupyiwl gnpdnnmpynibbtipny nuon t:

288. Uyuwgnigh], np hpwjwh R pwquinipinibp unynpuywb
gnuiwpdwl b puqiwuunpydwb gnpdnnnipyniubtpnyg nuon k:

289. dhgmp C={x+iy | xR, yeR}, nmptin i-hb Jhpw-
gpymd £ i’=-1 hunpympjnibp: C-o Yngymd k Ynduytipu pytiph
puqimpnil: C-md vwhiwbynud G gmdwpdwb b puquiw-
wyupuwh gnpdnnmipjnibbtpp hplywy Yhpy. Gpt  ¢=x; + iy,
C=X; + 1y, wyur’

Ci+Cr=X; + X + i(yI+Y2)
C1-C=XiXy - V1Y H(X1y2+XoY1):

Uwuwgmgty, np C-0 nupwn £, qupiblyp C-h 0-0 b 1-p, x+iy-h

hwjunupap:

Thapnynipyndh. X + iy-h hwdwn x - iy-p Yngmd £ hudwnd.

nu pwbwynd &b x +iy, x+iy=x -1y, x—iy =x +iy: bpujub

pUh hwiwmdp hwjwuwp E hplib: (x+y)( x-iy)=x>+y?, \/xz +y?
Yngymud £ x+iy Undujtipu pyh dnnny: x+y dnnnip bpwubwuymd
b0 htplywy Yhpy® [x +iy|, [x +iy]= NFEIEY

“hgnip® G-0 nuo £, X-p* winhippy funudp: X-p Ynsymd £ gdw-
JhO pupwdmpimb G nuyaph Jpw, tipt G-hg Ytpgnwd Yo-h b X-
hg dbpgpwd Vx-h hwdiwp vwhdwbjwd bt ox wppunpup
(o-x€ X), npp pidwpwpnud £ hbaplyjwy snpu wwydwbbtipp.

I) a(x+y)= ox+ay, ae G, x,ye X
2) (a+B)x=ax+Px,

3) a-(Bx)=(ap)-x,

4) 1-x=x:

X gdwjhl puwpwdnipimbp G nuyph Jpw bhwbwlymy Gl
GxX: X-h ypupplipp Yngdmu &b Jbyypnpbtp, G-hop' ujwyup-
utip:

ax+fBy+...+yz gmdwpp, npplin o, B, ..., y uluyupbtp
b, Yngymui b x, y, ..., z Jijyinpbtiph qdwjht Yndphtiwghw:
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X-nud wwpnitbulynn A puwqumpimbp (AcX) Yngynud £ qdn-
ptl whluwh, tpb VX, y, ... .z A-hl yunpubnn hpwphg pupptip
Jayyinpbtph hwdwp ax+By+...+yz=0 wwydwbhg htapbmd ,
np'o=Pf= ... =y=0:

Yupbh £ wyugmgt, np gubjugud Gx X qwpwdnipjul
dte 3 dwpuhdwy qdnptb wblwh Lbpwpwqimpnb B(BcX)
(wjyuplipl’ tpk V B-p B-U yupnbwlnn qonphb wiljwh tlipw-
pwqunyjnih L, wyw B=B): Ujn B thpwpwqimpnibp Yngynud £
X @dwjhh pupwdnpjuil Switih pughu (Qud hwbpwhwyw-
Jwl pwghu): Stinh nibtb htipyyuy pnpbdbtpp.

Rnptd 1. Gpt B-U L B-p Gnylb gdwjhl pupwdnippub
Swutijh puwqhubbpb G, wyw gpuip hwdwpdbp pwqumpnii-
Utip Go:

Ptnpbkd_ 2. Opybtugh B-U GxX-h hwdwp (pup Swdbjh
pwqhu, wbhpwdtipp © b pwdupuwp, np X-hg Ytipgpwd vV x yty-
ynpp htwpwynp thbh Ghpluyugbby x=0,bi+ oby+ ... +a,b, ptiu-
pny, npptin” ;€ G, b;e B, i=1,2,... ,n, plpnpmd’ o;-
tpp U b, -bpp npnpymud GO dhwy duny:

RxX-p Yyngymud t hpwlwb qgdwjhl qpupwdntpnb jud gdow-
Jht pupwdmpin hpwiwb pybph nwaynh ypw:

C xX-p Yyngymud £ Yndyytipu gdwjhl qprupwdnipnit jud qgdw-
Jht pupwdnipymb Ynduytpu pdtph nuaph Ypu:

QOowjht pwpwdnmpnbp Yngdmd £ Jtpowdnp swhwbh, tiph
npw Swtith pwghup Jtpowynp pwqinipynih £ Jdbpewnp sw-
thwih pupwdnipyui Nwdtijh puqhup widwimyd G ywpquutiv
pwqhu, hulj pwghunud tnwd Jtypnpbbtph pwbwyp' pupwdn-
Pjwl swh:

290. Qupit; G- X, G=R, X=R qdwjhl qrupwdnipjub suihp:

291. Uywgmgt), np Q-R ypuwpwdnipjuld Swibjh pwqhup
(npptin’ Q-0 nwghnbwy pYbph nuopt t, huy R-p° hpwjub
pYtph pwqunipyniip) wuwpmbwynd b witpe pubwyniejudp
pupptip:
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292. Uywugmghy, np hwppnpjul dpuw pipdwd ninnhb gni-
qwhtin ytlppnputiph puquinieymbn gdwjhb quupuwdnipymb t R
nuopp ypw' ybhypnphbph unynpujub gnudwpdwi b byqnpp
rYnY puqiwwunpytynm. gnpdnnnye;mbbtpny:

293. 3nyg ywy, np n-pn Yupgh pwqiwbnudbtph pwqunt-
ynip gduyhb pupwdnpynh ¢k

294. Uyuwgnigt, np pnnp uyt pwquwbnudbtph puwqdni-

pymbp, npniig YJupgp sh  gipwqubgmy  n-p,  qdwyhh
qupudnipnb k:

295. Qduyhb pupwdnye)nth L wipnnp hplyuy puquinieynib-

Utiphg Jmpwpwbgnpp hpwlwb Eltph nuph ypw.

1) pnnp hpwuwb pdhph R puqinpyniip,

2) nwghnbwy pytph Q pwqunie)ntbp,

3) wdpnn9 pytph Z puqumpmbp,

4) Ynnpphbunpbbiph uyqpbwybtphg nmupu Bynn pojnp w)i
Jtlypnpbtipp puqimpmbp, npnbg yapobwlbymbpp qupbynud Gh
ppywd manh Ypw:

X b Y gowhl ppupwdnipynbbbpp, npnbp npnpdwd G dhu-
tnyt G quowph Ypw, Yngynud B hgninpd. beh 3 £ nblghw, npp
wppuyupytipnd £ X-p Y-h Jpw thnhidhwpdbpnpt b wylybu,
np X-hb wunpubnn V u, v Jtlppopbiiph b G-hi ypugjubnn V o,
B ujuywpbtiph hwdwp.

flou+Bv)= af(u)+ Bf(v):

Stinh niih htiplyw) phnpbdp.

Gnpbd. Npytiugh GxX b GxY gdwyhl prupwdnipmb-
utipp |hubb hgminpd, wbhpwdtipyp £ b puwjwpwp, np npubg Sw-
dtiih pwghuliipp (hbbh hwdwpdtip puqunipynibbbp (wupugngh)
hupbmpnyb):

baminpd gdwjhl pwpwdnpnibttpp dwpbdunphjuijwi
wnnuiny Juipbijh © hwdwpby Gnybp:

Hhypwplytip ppuyul pybph painp htwpwynp Yupquignpwd
n-julbbiph puquinmpmbp. nu LHwbwlynud Gh R":
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296. R"-mud gnudwpiwb gnpdnnnipynibp pnmbgwd b uwhdw-
Gby htapljwy Ybpwy. nhgmp’ x=(X1, Xz, ... . Xu)-0 W Y=(Y1, Y2, - . Yo)-D
bpyn judwjwfwb yypopbtp G0 R™hg. x+y Yngdnud k

X+y=(X1+Y1, X2+Y2, ... . Xp+Ya) Yalppnpp:
Uywgnigly. np wju gnpdnnmpywdp R"p wnhyphy unudp B

297. R"-md V x=(x,, X2, .. , Xp) Ytppnph b V a (e R) hpwluwb
PrYR wnpwnpuip uwhdwbnd G wyuybu.
ax=(ox;, AXy, ... , AXy):
Uyuwgnighi, np vwhdwijwd wppunpuih gnpdnnnipjudp
R"-p hpwlwh gdwyhb quupwdm p)nih t:

298. Wujugmgtif, np V n swhwbh hpuyub gdwjhl pupwdne-
Pl hgninpd t R hpwlwbd gdwyhl pupwdnipjubp, nplb, wyn
Uhunph mubkbwnyg, wiwbnud &b n-guthwbh Yapgpnpujub -
nwdniEjnil:

X hpwywb gdwjht pupwdnpniip Yngdmad £ Eqythnwi, huy
yndyjipu qdwjhl pupwdnieynibp’ nibhypup, Gt X-hi wunp-
Jubinn V x, y yaupnpliiph qnygh hwdwp uvwhdwbjud t x-ye R
(x-ye C) ujuyuwp wppunpup, npp pudupupmd b hbplgug
wwjdwbbtphtb.

Dxy=y-Xx

2)(x+y)-z=x-2+y-2Z,

3)(ax)-y=a(x-y), nmptn aeR (aeC),
4) x-x20 b x-x=0, tphk x=0:

Edyihnywd b mbhypup pupudnpmbbbpp Ynggmd b uuy-
jun wppunpjuiny pupwdnipinibbbn:

Epynt ujupgwp wppunpyuny pupwdniyenibbtp Yngymd tb
haqninpd, tiph npuip hqninpd qduwyhd pupwdmpnibitp 6o L
npuig thnjudhwpdtip wppuwuplybpng $niblyghwid wwhujw-
Unud £ uljupywp wpypunpyuyp, wyuhbiph’ x-y=£f(x)-f(y):

Ujuwywp wppunpuiny  pupudmpnibitpnd gpnh nbp
CJupgh wihwjwuwnpnipmbp.

ey < (x-x)(y-y),
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np Edyhpguwt qprwpwdmpmbbiph hwdwp hwppbh Unphh-

nibjuynjuym’
(x-y) < (x-x)(y-y)
Ohujuwuwpnipeyub pbnhwbwpugnuib t:
,/x -X -p Yngymd t x yyqpnph Gnpd, npp pwbwymd th wju-

b o e = Vo x:

299. Oquytny SJwpgh wihwywuwpmpynibhg® wyugmgty
mpbjw) (Gnwblyjwd) withujwuwpmpimbbbpp.

D fx + yl< e+

2) (-] <[+ 1

300. d(x,y)=[x —y]-p Ungymd t x U y Ythpnpltph htow-
npmpjmb: Uuugnghy, np.
d(x,y)< d(x,2)+ d(z,y):

301. R" pupwdmpjub dbe yppjwd tpim  judwjwlub
=(xlax2’ ERS 7xn)y Yz()'l,)'z, s :Yn) llhl‘llpnpnbnh u'—lmUwrl
Mpunpywip pinmijwd t wppwhwppb
Y=X 1Y 1+X2Y2+...+X,y, pwlwdling:

Uuwuwgnigh}, np R™p uwhiwbjwd ulupup wpyqunpjugnyg
YYthrywt pupwdmpynh k:

Unphp-Anibjuynjuym withwjwuwpniypenibp’

x-y <|xlHl
bwpwynpmpymb t pbdtnmd WYihpywd pupwdnipubd Y x, y
tGyypnputiph uquwd wblyymbp npn)k).

X-y
COSQP=———
Il

wiwdlny: Uuubwynpuytiu’ R"-md.
X1y + X72Y) +..+ XnY¥Yn

Vi +x2 +...+x§.\/y,2 +y3 4.4yl
x Wy Jalppnpbtiph hwdwghd hbbn ywypdwoh .

cos@ =

’
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xi=ky1, X2=kys, ... , Xo=K¥n .
npptin’ k-0 npnpwyh phy t: x b y Jeypnpbtiph ninnuihwjwg (op-

pngnluwy) |hUbnt ((ng ) wuwydwbb L.

X1Y1+ Xay2 + ... +X,Ya=0:

n swihwih Juypnph qunuihwpp piptiuvwghpnippub dtg
Jwptdwuphiulyub htpugmpnipinbbtiph ngnpypmd nubh hwp-
dwp b oquulwp Yphpwempyniblitp: Opplwly” bGpb gnpdwpwbp
wnppunpnid £ o yphuwlh wppunpubg, i-pn phuwihg wduwljub
wpuugpnud £ opi g wppunpynn x; dhwynp wppunpubp,
wuw wppunpwlub dSpwghpp Ypompugnyh x = (x, X, X, ) n
swithwbh ytlypnpny, hul wivwjud hwdwppwnh wpgunpubpp’

X(x1.X20-X, ) P(P2P2seos +Pa) = X,y + X3P2 +-- X, Py,
ujupwp wpunpyuny:

302. Swpyby a(x;y;z) ytypnph Yuquwd o, B L y whiynibibpp
Unnpnhbwpuywb wpwbgpbtiph htp L wyywgnigty, np.
cos’oL + cos’P + cos’y = 1:
303. a wwpwdtapph n'p wpdtiph nbujpnud ;(3;2;1) L ;(— 7;4;a)
Jtyypnpltipp Yihukl oppengnbwy:

304. Qb 3a - 2b qdwjhl Yniphbwghwjh Ynnpnhbuwpbtipp,
ph' a=(312) L b=(-403):

305. Qbity  2a+3b  Jtypnph  Ynnpnhbunplbpp,  bpb'
a= (3:-1;2,0), b= (1,-3;-2:5):

306. Qq][xh[ P qhqmnpn htplyw) hwjwuwpniihg

a +2a2+3a3+4x 0, btph a, =(5-8-12),
a,=(2-214;-3),  a, =(-321-5:4):
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307. Q-Lp[lh[ X L[hllqmpg hhmhjwl hwjwuwpnuihg’
3al -X +2a2+x —5a3+x
tipt’ al (251 3), a2 =(10;1;5:10) L ;; =(4;;,-1;1):

308. Quplibp 2x+3y yblwpnph dngnup, bph x =(1;2;0) L
-);: (-L2;0) :

309. Uwywgnighy, np a= (7;—3;5) Lb= (1;9;4) Jtiynpbbkpp mn-
nwhwjwug tib:

310. a=(-1:3:5-4), b=(4223) L c=(2-6-108) Ytyypnpib-
nh dbe Dot} hpwp hwiwghdtbipp b mnnquwhwjywgbtipp:

311. a-h n’p  wpdbpbbph nphwypnd ;=(I;a+l;2;3) 5]
y = (a:;-2;a) Jbpnpbbipp Yihlbh oppagniwy:

312.a U b wwpwdtyiptph n’p wpdtipbtph  phypmy
x=(a+ba+12) Ly = (a;b;l) YEyynpbtipp Yhbkb hwiwghd:

313. Gaplly alb ytlppnpbtph Juquwd wblynibp, tLph.
1)a= (-2:;0;4), b= (3;2;-6),
2) a=—i+], b=i-2j+2k:
314. Qyplbbp ABC tnwbljwb Ghpphh wblymbbbpp, Gpb hujpp-
Uh tb tnwblywb ququpltph Ynnpnhbunpbtipp.
A(2;-1;3), B(1;1;1) b C(0;0,5):

315. Uwwgmghy, np A(1;2;1), B(3;-1;7) b C(7:4;-2) ququyp-
Utipny bnwilyymbp hwjwuwpwupm k:
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316. a-h np uipdhp[nbph niypnud ;=(a;a+l;—l) L -); = (2;l;a)
Ytipnpbtph juquwd wblynbp ump t:

317. Uywgmgh], np a wwpwdtipph gubjugwd wpdtipbtiph
niypmd  x = (7;—2;l—a) Ly=(- l;a;2a) Jthypnpbbph Yuqiwd

wilyymbp pmp
R" Jtlppnpujul qpupwdnipjub dte n hunp qdnpkb whywpu
Jtyynpbbtiph hwiwljuwpgp pwghu t wyn prupuwdnipjuid hwdwp:

318. 3nyg Ywy, np ;;(5;4), :_1;(— 12) U a_;(—l();—l) Jtynp-
btpp qonpkb Yuwjuyuy tb:

319. Uwwgmghy, np a, (1;2;5), 5;(3;1;1) u a_;(— 3;1;4) Jtypnp-
btpp @Onpkl wilwp GU (htpbwpwp' Juqdnd GO pwghu):
Quplly ;(— 8;10;7) Jtyypnph Ytipgndmpymbip’ puyp wyn pwqhuh:

320. Qaplky b= (2;-4;15) Jiyppnph  Ynnpphbunpbbtpp
;; =(2;0;0), 2_1_; =(0;1,0), a_; =(0;0;5) pwghumu:

321. Uywgmgt|, np htypbyjwy ayppnpbbpp q@dnpht wbwhu
L.

1) p, =(0;-2), p, =(2-10), p3=(LL1),
2) p; =(2:-43), p, =(1;-2:4), p3 =(0;;-1),
3) b =Gi-12), p, =(7:63), p, =(4L2):

322. Npnpkyp A-O wybwybu, np E,E,F; Jtyypnpbtpp (hbtb
qonpklb Juhujwy.

1) P =@3il-1), P, =MD, Py =30,
2) P, =(A-2:0), P, =(ALD), P;=(A8i) :
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323. Qi P=(2415) dblppnph  Jbpmdmpymbp’  pup
P,, P, P, pughuh, tipk Py =(20:0), P, =(0:10), P; ={0;0;5):

324. Spywd Gl I—’;,EF;F ytlppnphbpp: Uwpugmgly, ap
13;?2.?3. Jtlppnphtipnp Juqumd &b pughv’ Epwsunh pupuardni-
pjwh dbg, U qinbity P Jtlppoph qpmdnpmin’ pup uyn pugh-

uh.
) B =(2L-D, P,=(2-30),

Py = (-, P=(5-4-2):
2) P =(32-2), P,=(2-1,
P,=(003), P=(10:2):

2. Npnohshkp

II b III jwpgh npnphsbiipp hwpyymd GG hlnplijwy ubnbibb-
pny.

A= Z“ 2‘2 =ajay —apay,
21 422
a,a, a,
As=la, a, ay|=a,a,a,,+a,a,a,+a,a,a, -
a; a; ay
TAa,;2,3;,72,3,3;, —4,@,4a,!

Wytith pwpdp Yupgh npoohshitin hwpytym hunfwp hpunng
Ll Ywpgh hobgiwd dtpnnp, npp hpuipuiugynd b hlaph juy
wnbsnipjul dhengny.

Ap=aj Ay + apA e s 2 A L =]§aikAik :
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A rhdp Yngymd t a, pupph hwbpwhwi)juywb jpugmyd b
npnpynud £ A =(-1)"*M;, pwlwaliny, nppkin M;,-G (ay ypupph
dhUnpp) n-1 Ywpgh npnghg £ U upugymud t A, npngshg nnipu

hwlbny i-pn yponh b k-pn uywb puppbpp:

325. Swipyty hbiypljwy npnphsbbipp.

-2-3 a+b a-b 4
Dle | Pa-b a+bf RAERT'S
123 3 4 -5 [+x x  x
4Hi4 S 6, 558 7 -2, 6) 2+x X
7809 2 -1 8 X x 3+x
326. Sw|b htypljwy snppnpn Yuipgh npnzhgp.
1 2 -1 1
23 1 o .
A= o 2 ¢
0 2 1 3
SNwigyb) htiyijwy npnphsbipp:
3 2. -5 3. sina.  cosq,
327. ‘1 4.. 328. "3 7‘. 329. (08 cospl’
. .2 2
330, [OSQ —sinay. 331. J; -1 : 332, [sin“a  cos Ot:
sinB cosf a +a sin’B  cos’P
2 1 3 1 0 3 2 3 4
333.1 -1 1}: 334.2 1 1 335.]1 0 -2:
1 2 2 0 4 1 0 4 5
3 -1 2 2 2 7 5 0 3
336.{7 6 3: 337.-1 4 -5 338. -2 -1 17|:
4 1 2 1 6 2 4 1 1
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11 -6 -5 -1 5 0 1 b 1
339.] 3 1 -=2|: 340.(-7 -2 3: 341.|0 b 0f:
-3 4 7 4 1 1 b 0 -b
l+cosaa 1-sina 1 cos2a 1 —sinal
342. |1 +sinat l4+cosa 1f: 343. 1 cosQl -1
| 1 1 —sina. 1 sino
344. Lo ™My hwjwuwpnuibbpp.
3 x —x x? 1 4
1) 2 -1 3i|=0, 2)| x 1 4/=0,
x+10 1 1 2 >
X 2 -3 X Xx+1 x+2
3)|12-x 5 6| =28, H1x+3 x+4 x+5/=0:
2 ~1 8 x+6 x+7 x+8

345. Lot whhwjwuwpnudbibpp.

3 -2 1 2 x+2 -1
|1 x =-2/<o0, 21 1 -2/>0:
-1 2 -1 5 -3 x

346. Uwywgmgt] III Ywpgh npnpsh htiplyw) hunpynipnib-
bbpp” ogypuignpdbiny npuw hwpydwb fulnbp.

1) tipt thnjutibp npnpsh yinntiph b wymbbph wtntpp, wwh-
wwbbny hwiwpuwlwimdp ppubuynbugbbip npnohsp),
www npngsh wpdtipp sh thnfuih,

2) tph thnjutilp npnpsh guljugwd tpyme ypnntiph (uynibbph)
pbinbipp, wyw Yehnpugh dhw)b npngsh bpwbp,

3) ipt npnpsh npLk wynnh (uyub) pnnp pwpplipp pwqiw-
wupytip k pUny, www npnphsh wpdbpp  Ypwquw-
wunplyh k-ny,
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4) kpb npoh nput ynnp (upmbp) Yymu pnnbph qdwghl
gnvphbwghwh E, wupu npnohsp hunjwuwp b qpngh:

Sadty IV wpgh npnzhsblipp:
'3 6 2 1 15 -2
301 2 4. o 3 1 2|
M 4-2 3 1° M8.14 0 -2
6 5 1 -1 4 1 -1 3
1 2 3 10 1
0 1 I 11 0 3.
2 3 0 3501 g 1 2 3
1 -1 o 30 1 1
2 Uwmpphghlp

a;(i=1,2, ... m, j=1,2, ... n} pdbphg Yuquijwd mnnublynb
g el

|21 32 - Ap
321 83 - Ap

| qmi 2m2 - A

Yngymid | m x n gunhmbh dunpphg: Uunpphgp Yngnid L punwym-
vuphb, kb m=n, b qpopulmb, tph gpw ponp pwpptpp qpo GO
2;;=0: Lurwimuaphb Jonpphgp ingjond ¢ dhuninp dunpphg,
tiph npw gifuwynp whmbwgdh pmnp puwpptpp hwjwuwp Gb
utilyp, ful; dimgud gomppbpp’ quogh.

1 0. 0
0 1.0
0 0 .1

Uunpphgbtpp inajmd b bhunjwuwp, tpt bhwjwuwp b
nnubg hankwepnpurahnb ypuppbpp: Uunpphgbbipp gmuwpbihu



gnuiiupymd G hwiwwupuubuwb yprupptipp, hul pyny pwgqiw-
wunpybijhu npw popnp puppbipp puqiuuunplynud G wgn pyny:

A=(a;j) L B=(by) dunpphgltiph C=(c¢;;) wmpunpjuy dunpph-
gh ci; ypunppp npnoynud £ htplyun jubnbng.

Cij=aj byj+apby+ ... +ajnbn; ,
wjuhlipl’ A dunpphgh i-p yinnh qrupptipp puqiwwuiplynud Gop
B dunpphgh j-pg vyyjwbd hwiwyunpuupowb quppbipng b uug-
Jud wpypunpuibtipp gnudwpnud:

Uwhdwbnuibtiphg htipumd £, np A b B dunpphgbtipp hunib-
dwipby Yud gnuwiwpl) Jupbh B dhuygb wyb nphiypmd, Gpp npubp
mbbbwh Omyb sunhnnujubnipjnibp, hu AB wpypunpjun gn-
jnipynil Ymibthw dhuyb wyb nhypmd, Gpb A-h ymbtph pwbw-
4p hwjwuwp (hoh B-h ypnntiph pwbwyht: Chinhwbpuybu® dup-
nhgwubtiph hwdiwp AB#BA:

Epl A-B=B-A=E, wyu A b B dunpphgbtipp Yngymud L hw-
Junupa: bph d=detA#0, wyw gnynipynih mbh A" hwlwunupa
dwyphgp.

A Ay Ay

Ap Ay o A

o —

AL Ay Ay

nppin A;-U a;; pupph hwbpwhw)ywywb jpugnuib

Ept, wwhywibkiny Yupgp, finjubbp A Jwypphgh yinnbph b
uymbbiph pbintpp, wuw upugyuwd dwypphgp Yynglh ppuwbuwn-
Owgud' A-h Dwipiwdp b Yopwbwlplh AT 2dywp sk wpmgy,
np.

(AT)T =A, (A+B) =AT+BT, AA)T =2AT:

tpt A pwnwlnuh dunpphgh hwdwp A'=A, www A Junpphgp
Uyngdh hwdwgwih b wiju niypmy a;= aj;: buly tipk AT=-A, wujw
A dunpphgp Yyngh otin hwdwgunh:
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Yunpupt| gnpdnnnipymubbpp:

351. (‘5 ‘0')+(; ‘;)—(i’- ‘5):

352.1 2 0O 4|+ -5 8 1¢
7

—

|
9
W
L
—
Ll
N

-1 10 -7 1 -1 1

353.1 4 1 3|-12 -1 1§

(3 0 -1 -1 2 -1

35%4. A= -2 1 1|, B= 1 =2
LT -1 o

Quplub) htiplyuy dunpphgbtipp.
1) A+B, 2) 3A-2B:

355. Swpytp A L B dunpphgbtiph -4A+7B gdwjhlh Yndphbwgh-
wl, tiph.
(21 -1 _(-2 1 0}
A‘(o I 4)' B‘(-3 2 2

356. Swpyty dunpphgliiph wpgunpyuip.

S E G Y Y VY
IO I R



1 0-2) 2 1 1 -4 0 23 3
|17 4 S{i-1 0 31| & | 3 -2 1[-2},
0-1 3){-4-2-3 1 2 3 2

4 =2 =2Y(-19 -24 2
| 3 1 2| 15 20 -2/,
0 -7 5) 21 28 -2

6
50222
Ihi{4 1 5 1
7
3 1 -1 3
4

357. Spywd tb htaplywy dunpphgbtpp.
4 0 3 1 -1 2
A={4 -1 -1| L B=l5 -2 3|
2 3 4 1 1 1
8nuyg g, np AB=BA:
358. Swpyb) dunpphglinh wppwnpyup.
-3 2\(4 3)\(7 3
4-6\7 5)\2 1)
359. Guplity hbiypliyw dunpphgbtiph hwwnuwpd dunpphgbtipp.
1 01

N Y M Y A A T
1 1) » - 2 - ’
4 3 5 4" 27 g

01 1
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3 0-1 -1 -1 -1
S22 11 |, -1 -1 1|, D
1 -2 -3 -1 1 1

-_ o W N
N —_= O W

W = O
O W N =

360. Lmdb| dwypphguyht hwjwuwpmdbbpp.

12 3 5

1 X = ,

THAES
0 3-1y (7 6-3

2)X-| 2 -1 2(={-8 3 6],
-3 1 4 11 913

7 6 -3 -3 -10 -4
3-8 3 6|-X=|21 14 -10 |,

11 9 13 48 2 30

4 12 7 11 2
Hlt 1 1|x=[2 11|,

4 7 6 13 1

21 2 -4 -2

3 2-2 1
5) X= 13 :

4 1 0 5 5

21 -1-2 7

361. 8nyg yYuwy, np S =3A -2B dunpphgp hwdwsunh t, Gph.
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1 -1 2\ -4 -3 5§
A=|3 3 6| L B=[ 3 -1 4]
2 -2 4 5 -8 5

362. 8nyg yuwy, np S = 2A - B dunpphgn 2tn hwdwsunh £, Gpt.

I 3 -1 2 4 -5
A=|2 2 5 L B=| 6 4 5|
4 -1 3 11 3 6

363. Quplitip A . AT L AT, A wpypunpyubbpp, bph.

-1 1-1 1 -1
1 21 3
1) A= , 2)A=| 2 0 2 0 2
4 -1 5 -1
0-20-20

364. 8n1jg \nwy, np guwblijugud A pwnwlniuh \qumhgh hw-
dwp B=A+A" dunpphgp hwiwgwth dunpphg , huly C=A-A" dunp-
nhgp’ 2tin hwdwswihe:

365. Wuyyugnighy, np guijugwd A pwnwlnwh dwyphg upb-
1h £ dhwy auny bhpyuywmgbly A=B+C wyptupny, nmptin” B-U hw-
dwswth dunpphg k, huYy C-0r° otin hwdwgwith:

mXn swihwbh A dunpphgh dbe pnpplitp judwyujub k yinn b
k ymb (k<min(m;n)): COppwd wpnntiph W uymbbph hwpdwb
phntpmd gpwd puwpptipp juqinud G pwnwynwuh dunpnhg,
nph npnghsp Ynggnud £ A dunpphgh k-pn Yupgh dhanp: A dunp-
nhgh® qpnjhg puwpptip dhunpbtiph wdkbwdbd r upgp Yngynud L
A dunpphgh nwbq: Uupphgh nwbgp uwhdwbynid £ bwb npuyjtiu
npw gdnphl wiwh pinnliph Juyd uynibtiph pwbwy b wujwgniyg-
Jnmid k, np wyn Gpym uwhdwbnudbtipp hwdwpdtip Gh: Gnpdbuw-
Jubnud dwyphgh nwbgp npnpnid GO htgbgwy Yipy. tph qupbygb
Enplt k-pn Qupgh qpnjhg pruppbip dhinp, wyw hwenpn puynid
nhpuwpynud - Go wyh (k+1)-pn Ywupgh  dhbnpbbpp, npnbp
pungpynud b bwpunpnp:
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366. Swyy b htplywy dwyiphgbtiph nwbqgp.

na=[> ! 2) B=
1 -4) -

2 -4 3 1 0

1 -2 1 -4 2
3)C= :
0 1 -1 3 1

4 -7 4 -4 5

I 3 1
2 -1 1
3 2 2

367. QunGh| htiplyyw) Junypphgbbiph nwbqgp.

4) 1

7)

9)
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3)
0
-2, 6)
0
1 2
8)01
2 3
1 -1

1)

1 2
1 0

-1 2
1 2 3
4 5 6
7 8 9
10 11 12
3 4
1 -1
0o -1|
0 4




4. ROuyhh hujwumpnibhbiph hwibwljpupqln

n wthuppny n gdwjht hwjwuwpnuibiph hwdwljupgp mbh
titpljuy yplivpp.
a, X, +apX, +..+a, x, =b,
ayX, +apX,+..+a,x, =b,

lanx, +a,x, +..+a,x, =b,

wy dunpphguyht gpupnuiny® AX=B, npuiptin’

X) b,
a a
1 In X, b2
A= , X= , B=
App.e-Apy X b

Ypuwdbph Juinbp. tph A=detA#0, wyw hwiwlwpgp nmbh
hwy [nudnd

X, =ﬁ, i=1,2, ..., n,
A
mptin A; npnzhgbtipp wpugymud &b A npnpshg, npu i-png uymbp
inhuwphbbny wqup wbnudbtph ujnibny:
detA#0 wupiwbp bwb Gwbwymy kE, np gnynipymb mbh A

wljwnupd dunpphgp, U hwdwuwpgh mdnuip dwypphguht
punnuing Ygpyh' X=A"'B:

Lndb hwiwhwpgbpp Ypwdtph Yubnbng:

X1 +2xy -3x3=0
368. <2x;—-x,+4x3=5: 369.{
3X| +X2 — X3 =2

~3x, +5%, =12
2, —7x, =8

3X1 =X, +2x, =4
2X2—3X]=l ! 2 X3
370. 2%, —x, =5 : 371, {x; +Xx, +2x3 =4
X]“XZ—X3=—1
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(X, +X, +2x5 =4
372. {—x; +2x, +7x3 =5
2x, =3x, =5%x3 =5
—d4x;=3x, +x3 =0
374. <7x; +5x, —x3 =0
X|+Xy+x3=2

3 =X, +Xx3—-x4=-1
2X X, +2x3+x4=3

376. < :
Xy +3x, +3x3—2x4 =-3

=2X,+Xx, —x3+2x4 =4

7x,—x, +8x3 =0
373. {x; +3x, —x3 =0
10x; +5x, +x3 =0
[8x; =5X5 +x3=-5
375. {x,-3,-9x3 =22

Xy +7x,+3x3 =4

Qduwyhl hwjwuwpnuibtiph hwiwyuwpgp Jupbih £ ot bwl

wbhwyypbbtiph hwonpnuljwbh wppwpudwb Gwnwh dtpnnny:

Lmdt] hwiwlwpgtipp Gwnwuh dkpnnny:

(x| +x, =3x3=-6
377. ¢2x, =3%x, +x3=-1:
L4Xl +3X2 +2X3 =16
’3)(1 +2X2 —4X3 =8
379. {2x,; +4x, -5x53 =11:
L4)(| —3XZ+ZX3 =]
er — X3 +2)(3 =3
381. {2x; +3x, —x3 =1
—2x; +5x, +3x3 =1
4x, —8x, +3x; +2x, =5
X, +7Xx, + X3 +x, ==7
< .
383. =3x, +Xx, +2x; -3x, =4"
7%, =3x, +5x,=-3
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3X|—3X2+2X3=2
378. <4X|"'5X2 +2X3 =] :
‘5X|—6X2 +4X3 =3
(2%, =3x, +x5 =1
380. <X]+X2—3X3 =—4
(4x; +3x; +2x3 =11
33X - X, +2x3=4
382, {6, + 2%, ~3x; =2
1
2X| + Xy —Xq3 =—=
L 1 2 3 3




Gpt hwdwluwpgh dte hwjwuwpnuibtph m phdp ounp t thn-
thnfuwuwbbtpp n pYhg. wyw wyn m hwjuwuwpmybtiphg plg-
nmd Lhp wybyhuh n hwjuwuwpmdbbph hwiwupg, npp nibh
dhwly ndmy, b vpugyud ndnuip phqunpnd kbp dbwgud
hwjwuwpnudtitiph dbe: Gpt wyn pdmip pwwpwpmd b dbw-
gwd hwjuwuwpnuibbtipphl, wyw ppjwd hudwlupgp hwdunpb-
ntth t, hul tpt wn MOmMmYp sh pujuwpupnd Jbwgwd hwjw-
uwpnuiliiphg gnbik JEYht, wyw hwdwlupgp hwdunptintiph gk:

Bt wihwuppbbtph n phdp WL £ hwjwuwpnudbtiph m pyhg,
wyw hwdwupgp nith htigplgwyg pbupp.

a”Xl +a|2X2 +...+a]nxn =b1
291Xy +a.22X2 +...+aznxn = b2

A X taXy+.o.ta X, =b

Gpt A-U wbhwjppbtph gnpdwljhgitphg Juqugwd dunpphgh

k, hul A Junpphgp uypugyty b A-hl wybpughbing wquip wi-
nuwuibbiph uymbp (pbnuytdwd dwypphg), wuyw plinh mbh Ypnbb-
Ytp-buytihh phnpbdp. npuybugh hwdwlwpgp (hth hwdw-
ytintth, wihpwdbon £ W pwjwpun, np.

rangA=rang A :

Ept hwiwljupgp hwdunptintith £, U rangA=r<m, wuyw, wnwbg
pinhwbpmpymbp hwhnptym, Yuwpbih bt Gbpwnpb, np qpn
snupdnn r Jupgh dhinpp qpiymd £ A Jupphgh wpwehl r
ynnbpnud b uymbbpmd: 60 Glpbing Jbwgwd m-r hwJuuw-
nnuititipp (npubp wpwehl r hwjwuwpnuittph htiyplwbpb th)
Xrsts X425 - » Xp D-r hwp wbhwppbbpp phinuhnpting hwjw-
uwpiwl we Ywup, Yuypubwbp htiplywy hwdwljupgp.

a,x, ta,x,+..+a,x =b -a x, —.. —a,6xX,
a,X, ta,x,+..+ a, X = b: Ay Xy T e T, X
a,x, ta x,+..+a x =b —-a_x -. -a_x,

69



X1, X2, .. , X, wbhwppbtipp Yngymu b pwqhuwyht wbhwpp-
bbp, huy X, ... , X, Whhwppbbpp” wqup wihwppbbp:

Uquyp wthwppbtph guwbjugwd wpdtipbtiph hwdwp  hwiw-
Jwupgp Ynbbkbw dhwly jmdmu:

Lnudt) htyplyyw) hwdwlwpgbipp:

384. 1) <x; +x, =4, 2) {x;, =X, =6 ,

(X, +3x, +X; +2x, =4

{3)(, -ZX2 +X3 =4
(X, +8x, +8x, +5x, =14

X|+2xZ—3X3 =7’

rXl“‘X2 =2 3xl"5X2=7
385. <x, =5x, =8 386. {x; +x, =2
[—2Xx, —x; =-1 -x;+3x,=0

(x; +%, +x3=3
5X|—2X2—X3 =2

387. | :
X;—Xp+2x3=2

(—X;+3X; +Xx3 =5

\/—xl—sz-f x,-J_xz—l
o { xp=s 2{&, 2,243

2X|+X2—X3 =-6
, 4 X|+X2+2X3 =-2,

3) {2X] = X3 +3X3 =0
X +5X3 =2

—-X;+3x,-7x3 =0
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rxl-x2+2x3=l X]"‘2X2+X3 =3
5) 12x; +x, +3x3 =0, 6) {x; +3x, -x3 =1 ,
(4X; =X, +7x3=2 3x; +4x, —x3 =5

(X, +4%x, +3x; +6x, =0
7)<2X|+5X2+X3-2X4=0 ’
(X1 +7x, —10x3 +20x4 =0

(X] +3X2+X3 +2X4 =4
8) {—2x;—X, +5x3-x4 =0:

12X} + X —X3+7x4=-1

n



G LNk III

UUEtUUShPEULGUL ULULPQP LEMUONFE-3NFL
§1.NUQNLFULUELAFER-3UL UUNUUWLL

Nwonpnujuimpyni 4ngymd t pbwluwb pytph N pwuquine-
rywl Jpw npnpdwd f: N -R pmblyghwb:

f(n) pPhyp Yngymd t hwonpnuwbnpjub n-pn winud b bw-
bwlymd k x,:

389. Qapit| hwonpnuwlwinpjuwb wpwehll 5 winwibbpp, bpk.
n+3

, 3) z,,:sinﬂ :
2n-1

1) x,=4n+1, 2) yo=

390. Nwpybj hwonpnuuinpjubddpdd wnwehl vh pwbh wb-
nuibtipp, tph.

-

n-3
1) x, = , 2) Xp=14+(-1)", 3) x,= ,
) X 3n+5 ) ¢l ) n
4) X,=cos Tn , 5) X, =(-D" arcsin%ﬂm :

n
391. xn=(l +lj hwonpnuljwbmpyub hwdiwp qpbb) x;, xs,
n
Xp+1, X2o Whnuwibbkpp:
392. Quput) yipwd hweonpnwwinipyul pbnhwinip winwdh
pwbwalp.

ey 2) 1,

D1, éﬁ, 3) 2i9§ o
4 5 357

wl-h

111
2°3°4°
4)0,2,0,2,..., 5)1,0,3,0,5,0,-7,..., 6)13,1,3,...:
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Uwptiuphiuiui hbnnmyghuwyh tnubwyn) wwwgnighy h-
lyyw) wnbsnipymbbbipp:

393. 14243+ ... +n = n0;+1):
394, 242243 . 4n2 = 22 EL@ D
. . :
2
395, 1°+2%+3%+ ... +0° =(n(n2+ I)J :

396. (1+x)">1+nx, npptin’ x>-1, U n-p phwlwb phy £ (Rtnbnt-
thh wbhwjwuwpnp)nibp):

2n-1 1

397 . < :
2n 2n+1

135
e

Xp+ X+t X, ot X,

398. o = 22‘“/xl.x2. e Xy

399. Ogqypugnpdtiny 398.-p" wuywgnighy, np tipt x> 0, wuyw

x|+x+...x

& > !\I/-xle-..xn :
n

400. Swpyby  1442%43% .. +n*:
401. Suipby  1°43%+5% ... +(2n -D%
402. Uywgmghy, np.

111 1 1
— et —t— ..+ =
12 23 34 n(n+1)

n+l’
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403. Uuwwgmgty, np.
LSRR SN S | (R U S, b
123 234 7 n(mn+(n+2) 22 (n+1)n+2))

404. Uywgmaghy, np.

\ (n+l)"
nl<| —| :
2

405. Uulmgmgb[, np.

J‘ J‘ J_>2Jn—-t-— 2:

Uwhdwbnui. a phyp Yngymd t x, hwonpnujubmpyub uwh-
dwl, tpk Ve > 0 pyh hwdwp 3 ny = ny(€) phwiubd wybuhuh phy,
np N puqunipeynibhg yipgpwd Vo-h hwdwp, npp dkd ¢ ny-hg (n
>ny), \ptinh nubp’ | xo-a < € Lobtiint hundwip, np x,-h vwhdwbp a-b
t, gpnud GO lim x,=a :

Jbpowynp uwhdwb mbtgnn hwenpnuiwinipeinibp Yngnui t
qniquibiyp: Nweonpnuljwbnipymbp Yngymy t wbytipe thnpp, tpt

lim x, =0: x,-p Yngymud t wibykipg Ukd, tipti VE > 0 pyh hwiwp
n—oo

3 no=ny(E) phwlub wjbyhuh phy, np jnipupwblsynip n-h hwdwp,
npp Ukd b ng-hg, pinh mbh® |x,|>E. gpnud bb° lim x, = e

Unohfr qruiquuipspnigosubls huyspuhifpion

Npybtugh x, hwonpnpulwbnpnibp |hth gniquity, wihpw-
dtop b U pwjwpup, np Ve > 0 pyh hwiwp gnympynih nbtbw
ng= no(€) phwlywh wjbwhuh phy, np N pwqunipnbhg Ytpgpwd,
no-hg Ukd V n, m pytiph hwiwp pinh mobbw' |x, - x| <e:

406. Oqtjny vwhdwbh vwhiwbndhg, wywgmg), np.
3n+l1 3

1 lim 2=l o1 2) lim
n—eon+1 n—=2n+3 2
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2 1\
3 tim 22t oy, 4 im &L o,
n—== pn® +2 n—e n
n
5) lim >—1 =1
n—co 3"

407. Uywgmgty, np x, =4n_—13 hwonpnujwlinmpjuwd uvwh-
n—

vwbp hwywuwp st 1-h:

408. Uyugmgh), np x, =2—+2(n:i hwonpnwwbmpinibp
qniqutip gk:
409. Uywgmgtij, np x, = 3 l+l thnthnpuwwbp wbytpe thnpp
n

t, hul y,=3n+1 thnthnfjuwubp’ wiytipe ukd:

410. Uwwgmghy, np ipk |g| <1, wyw lim q" =0:

411. 2Quwlybtpyt; htplyw) hwdwuwpmpymbbtph  &2qphp
hiwuypp:
w) limx,=+e, p)limx,=-o0:
412. Uuywgmgh), np x,=n"" "
dwiwhwy £ b whybtipe ubd sk:

hwonpnujubmpymbp whuwh-

413. Qwwugmghy, np 0-hg ypwppbp wpdtpbtip pbnmbnng wb-
ytipe thnpp thmhnpuwwbh hwwnupd dEdnipnmbp wiykpe dkd
t

414. Nwpyty lim x, , ph.
n-Joo

_3n-1
2n+5

_3n2 —n+2vn

1) x
" 5+4n?

, 2) X,
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6n+1 4n*-n? +2
3 Xy =—5—, Xy =g,
n“+3 n- +100
5) x, =\/2n+3—\/§n—l,
1+2+4+3+...+n
6) x, = 5 :
n
415. Swpytip htipbjw) vwhdywbbbkpp.
Iy lim =2, 2) lim oL
n—en+1 n—e 7-9n
3 2
3) lim ("+;) , 4) lim 2 —7n+1 +21 ,
n—e  3p n—e 3—5n+6n
n? +5n+4 . 5n*+2n%2-3n+7
S) lim — 6) lim
o= 2+43n noe  4n3-2n+11
. 1P+2%+..4n?
7) lim 3 n . 8) lim n(n—\/n2+l),
n—e  4n° +n+1 n—eo

’ 2
9 lim (Vo +7 —n), 10) tim Y tLrn
n—ee noednd+n-vn

11) lim(%/(n +l)2 —%/(n—l)zJ’ 12) lim «/;I-Sinn!,

n—oo n—oe n+l

n _ »n n_ (_»s\n
13) lim3 2 , 14) lim 3 +( 2) ,
n—e 30 _ 2N n—e 3N+1 +(_ 2)n+1
1424274420
15) lim 3 2 , 16) lim(l+l+—--1 +...+—l :
n—oe [ 4+3+3% 4, 430 noe\ 5 52 5"
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416. Nwpybj htiplywy vwhdwbbbipp.

(3 2 n’
w) lim —4 + +—4
n—eo n* n

. 1 1 1
p) lim|—+ +..+ ,
noe\ 1.2 2.3 n(n+1))
) lim L + L, + L
T... )
Yol 23 234 " Thl+)n+2)
. (1L 3 5 2n -1
n Iim|—+=+—+...+ ,
noel2 27 2 2"
b fim (V2-42-..-%2),
N—o

Lobilip uwhdwbp gnynipjub tpynt hwyypwbhy.

1. Untunyinb b vwhiwbwithwy hwonpnwlwbnipnibp gniqu-
dtip b

2. bplix,<z,<y; L lim x,=lim y, =a, wyw limz, =a:
n—e n—eo n—e

417. Muwpqby’ dnbnpn’d GO wpynp htiyplyw) hwenppuju-
tmpyniblitipp.

2n-1 3—-n
D x,= , 2) Xp = ,
) X 3n+1 ) %n n+4

5n-3 )
3)xn=9n+5, 4) X, =sin2n,
5x M0 nto

"1 3 7 2n-1’
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1 n
418. Uuwwgmgh|, np X, =(l+—) -p Unbnypnb wény, huly
n

n+l

Yn =(l+——\ -p Unbnypn@ tjuqnn hwenppulubinipymubtp
n)

Lb:

419. Uwwgnighy, np.
1\" e
O<e-|1+—| <—:
n n

420. Uwwgmghy, np.

1 1 1
—<In|l+—|<—:
n+l n n

421. Mupqbt]’ vwhiwbwhw? b wpynp htypljuy hwenp-
nuwlwbnipymbbbpp.

2
l)xn=2n+7, 2) x, = 3n '
n+2 n2 +5
3 x, =(-1) 2nsinn 4) X,=n cos Tn :
n+l
422. UWuugmghy, np.
1 1 1 1

X. = + + +...
S+l 5241 5341 st

hwonppujubimpynibip gmquudby t:

n

423. Uuwugnghi, np x, =a—' (a>0) hwonpnujwbnipnt-
n

Up qniquitip £ U qupbily lim x, -p:
n—oeo
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424. Wuugnigh htiplyjw) hwonppulpubnypynibbiph gniqui-
dhypnipynibp.

w) x,,=(1_%).(1_2i) (l_ﬂ
) =(1+.;_J[1+2L)(1+2L)

) X —1+l+l+ +—1——lnn
q) X, Sty ,
n) X —1+L+ +—1——2«/;

n ﬁ “ve ‘J; ’
h) Xn=19'2'...' n+9 s

1 3 2n-1
Q) Xn=\/l+\/2+\/3+...+\/'n— }n hunp:
425. Suwpyh.

w) lim\/2+ﬁ+\/2+“.+\/§ }n,

. ( 1 1 1)
p) lim{ —+ + .. +— |

n+l n+2 2n

426. x=vc, Xx,=yc+x,_, bpbn=2,34, . :

Swoybp lim x,:

427. “Yhgmp' x, hwonpnuwlwbnipjub hwdwp wypblnh nibh
0 < Xpen < Xp + X, gubluwgwd n U m plwlwbl pybph hwdwnp;:

. X
Uwwgnighy, np lim—= uwhdwbp gnympymb nibh:
n

Xn_1+X,_
428. x,=a, x,=b, x,=-n=L_2n=2 ;34 .
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Qunbby lim x,-p:
429. x, hwonpnuiwimpEymbp npnpymud L.

xn+|=-;j(xn+;l—J n=1,2,.. b x;>0:
n

Swpybiy lim x,-p:

430. w) X, hwonpnuiwinmpymbp Yngmu £ uwhdwbuwthwy
Jwphwghwjh  (hnhnfumpyub), tpt 3 wbwhuh ¢ phy, np
|x2 —xl|+|x3 - x2|+ +|xn+, - xn| <c¢ n=l, 2, .. hwiwp: Qyu-
gmighi], np uwhdiwbwhwy Juwphwghwih hwonpnulwbnipnibp
qniqudtp k:

p) Qyuwgmgb] htypljuw; hwenpnuwiwlmpjub gniquidhyne-
pynibp.
x,,+|=2+——l—, X, =2:

a phyp Ynsynud t hweonppuiwinipui vwhdwbwhb Ytp
(Wwulbwljh vwhiwb), bph juduwjwljuwb gpujuib e-h hwdwp gn-
jupgnitt mbkb wyn hweonpnuwiuinipywb wiytkpe pYny winuu-
bbp, npnig hwdiwp |xn —a|<8, Yud np bnybb t, 3x, bhpwhw-
onpnpuljwbnieynt b wybwbu, np limxnk =a:

Anigwbn-Juwtipppuuh ulqpmbipp. gubjuguwd uwhiwbw-
thul hwonpnuwwimpmb nbh gnbt dtly Ytpowynp dwubwyh
vwhdwli:

Uwubwyh vwhdwbbbphg wdtbwdbdp (wdtbunhnppp) Yng-
ynud £ hwonpnujubimpjub ytpht (uypnphtl) vwhdwb b Gowbwly-

ynul t mxn [lim an: mxn=(]imx"}qwjliwﬁn wlhpwdboyp

n—eo n—oeo

b b pujwpwp hwonppulwbnipjub gniqudtiy (hbtine hwdwp:

431. Uwwgnigh, np ipk lim x, =a , wyw x,-h gubljugud
n—oo
tipwhwonpnuljuwbnipymb tnybuybu gniqudtap k a-hb:
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s
432. Guplby xn=]+—n—lcosn7 hwonpnujubnipjub yb-
n+

10 W wipnphb vwhdwbbbpp:

433. x, hwonppuiwimpub hwdiwp qpbb] inf x,, sup X,
im X, U Exnﬁhbntpjnlhﬁhpn.

—yoo

1) X, 2+l 2) X, =n—+10052£l-,
n n 4
Hx,=(1Ba-1), 4 x, = Z6n™ (n22),
n-2 3
n n
5)xn=(l)+ (1), 6) x, =n)

§2. bNFLUSPUSHh UUNUULL BJ ULLLANUSNEF-
@-30ruve

Yhgmip' y=f(x) $nibyghwb npnpgwd t X puqinpiwb ypw, b
U X puqimpjub uvwhiwbwihb Yo t:

A phyp Yngymu k y=f(x) $nmblyghwjh vwhdwl, tipp x—a, tph
ubljugwd € > 0 pyh hwdwp Yupbih £ qpbty wjbyhuh §(€)>0
hy, np X yqphpmjpht wunplwbng b 0<|x-aj<d wuwydwbhb puyju-
upnn guwblugwd x-h hwdwp pbinh mbh  |f(x)-Al<e  wbhwyjw-
upnpjniln:

Qw gpnymd £’ lim f(x)= A

X—a

Ptptlp $mblyghwjh vwhdwbph dtY mphy vwhdwbnmd, npp
ipjujwgywd uwhdwbdwbp hwdwpdbp t:

A phyp Yngynid L y=f(x) $nibyghuyh vwhdwb, tipp x—a, tpb
ht dagynn gulljugwd x, (x,#a) hwonpnuwhwbnipjub hwiwp
uiwywipwupwb y,=f(x,) hwonpnuljwbnipymip agypmd t A
dht:
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434, «& - & iqyny pmbyghwjh vwhiwbh vwhiwbiwb vh-

ongny wujwugnighi, np.
lim2(4x +3)=11:
x>

435. SNwonpnulwbmpynbbtph (kqyny $mblyghuyh vwhiw-

1
Gh vwhdwiiwb dhengny wwywgmghy, np l‘i_l'lt}2‘ uwhywbp gn-

Jjmpjnih smbp:
436. «€ - &» |iqyny wuywugmgty, np.
1) lim(3x - 8)=-5, 2) lim x% =4,
x—1 x—2
.1 . 1
3) lim—=1, 4) limsinx =—:
x—1X . 2
6

437. SNwonpnuiuwbmpymbitph |tqyny wwwgmgl), np
limsin Ll uwhiwbp gnympynih snibh:

x—1 D, Gad

438. «€ - &» |iqny dLuwYybtpyt) htiyplywy wbnnudbtpp.
1) lim f(x)=A, 2) lim f(x)=o0, 3) limf(x)=oo:
X—>o0 X —)oo X—a

439. Swpyt) htiplywy vwhdwbbbpp.

5 2 _ 3
1) lim 2 +8x+7 2 lim (1+3x)° - (1+2x) ’
x—>1 3x2 —x +5 x—0 x2
5 — — — —
3) lim X —3%=2 & lim 27123
x—210-3x - X x-10 x-10

2
5) lim( 9x2+l—3x), 6) lim 2% _+t2X+1 .

X oo x—e  1-3x2
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Swoyty htyplyjw) uvwhdwbbbpp.

440.

442.

443.

445.

447.

449.

451.

453.

455.

457.

459.

461.

463.

. Sx+1
lim s
x—3 X+5

0 (1+x)1+2x)1+3x)-1

441.

lim i/ 6+2
=2 x’+8

Jim (7 -4x)

X—)oo

w) lim
Xxo+o 4X+2

lim x(w}xz +2 - x),

2x2+3

444,

446.

448.

450.

452. 1

454,

456.

458.
460.

462.

lim
») x——o 4x +2

. x2 -1
hmz—.
x202x° —x -1

. x2-5x+6
lim ————,
x-3 x-3
. x2-5x+6
lunT—-——,
x—-3x°-8x +15
. 6x%-5x-1
hm—_'—z'
X 3—x —2X
. 2x2 —x+3
hm—3—-———,
X—eo x~ —2X +5
im9—x2
x-)3~/3x—3’
2—Jx-3

lim ———,
x=7 x“-49

lim Jx+l3 2ﬂx

x—3

x2-9
i Y1=x =3
x—-8 2+§/_
hm(ﬂﬂ-x),

X—d+o0

xl_i.?l.(‘/xz -5x+6 —x),
\/ 2x2 +3



464. lim Jx-l

3

x—l x—l’

. Ax -1
466. 11m4——.

x-l3x =1

468. lim sin(m/ nl+ 1) ,

n—owe

Yx -

465. llmJ— 2
x—-16 Jx —4
f_

467. lim———— (m,n€ N),
x—=1Yx =1

469. lim sin(n\/nz +n):
n—oo

Shdtwlwi vwhdwaitph L.
sin x 1Y
1) lim =1, 2) lim[l+—) =e,
x—0 X X —>o0 X
3) lith—) logdezllmﬂzl,
x—0 X x—0 X
4) ]ima — =lna:>lime =1,
x—0 X x>0 X
T+ x) =
5) lim (_L =qQ
«—0 X
Supyby htiplyyw) vwhdwbbbpp:
. sin7 . Si
470. lim 20X 471, lim 227,
x—0 X x—>5 X-5
472. lim S'"‘/_": 473, limS0OX.
x—0 S]nJ—x x—0 SlnllX
474, lim SR3X. 475, lim 126082% .
x-n 5in4x x—=0  x2
476. 1lim $&X 71, 477. lim &%,
x—-0  x? x—0 X
478. lim xctg3x: 479. lim sinSxctg8x :
x—0 X
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480.

482.

484.

486.

488.

490.

492,

494.

496.

498.

500.

502.

1-+cosx

lim >

x—0 X
lim
X—5

lim
n 1-tgx

X-5

X—

. 1
Iim xsin—:
X—oo X
. 1-2cosx
lim ———:

n m—-3X
3

lim

x—0 X
1-vx

T
COS—X
2

) 2+x )
lim :
x>0\ 3—x
. 3x+1
lim :
x>t X +4

X
1—2) :
X —oo X

X—

arcsin X _

lim
x—1

lim

lim
X oo

X+3

X
x2+1
x2-2

lim
X oo

COSX —COS5

SINX —COSX

+3
x+4)x .
2
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481.

483.

485.

487.

489.

491.

493.

495.

497.

499.

501.

503.

sinx —sin3

x—3 x-3 .
. tgmx

lim 225 .

x—5-2X+2

lim

) |
lim xsin—:
x—0 X

X
1-sin—
lim
XN TMT—X
. tgx —sin x
llm——g——3—:
x—0 X

. arctgx
lim g :

x—0 X
) (3)(+1)x+l
lim :
x50\ X +2
. (5x—7)x
lim :
x4\ 60X +1
1

) (x+8J;
lim :
x—0-0\ 3x + 7

lim ¥1+2x :

x—0

. (3x—1)5*
lim
x—oo\ 3X + |

-1

lim (1 + sin x )*
x—0



-2 1g2x
504. lim(cosx)* : s0s. lim(1+x2f*® "

x—0 x—0
1
=
506. lim(—“’i)‘ : 507. lim (tgx )" :
x—0\ cos 3x < _)g
508. lim '—g—(l—LOX): 509. lim x[In(x +1)-Inx]:
x—0 X X~ o0

510. lim [In(2x +1)-In(x +2)]:

511. limM: 512 lim nX—Ina.
x—0 X x—a X-—a
+ .
513, lim L1n.[LFX . 514. hmlm:
x—0 X 1-x x—0 x2
2x _ ax _
515. lim>— L. 516. lim &——L.
x—0 X x-0 X
4x _ X _.7X
517. lim $——° . 518. lim S—S—.
x—0 tgx x—>0 SsInXx
ax _ _bx
519, lim>——¢ . 520, 1im M0*%).
x—0 X x—0 3* -]
sin x

521. 8nyg ywy, np f(x)= $nbyghwds woytpe thnpp L,

tpp X > oo

522. 8nyyg ywy, np f(x)=1-x> $niblyghwb wiytipe thnpp t, tipp
x—1:

523. 8nyg ypwy, np f(x)= $nbiljghwb wiylpg vbkd t, ipp

x—-2
X—2:
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524. 3nyg iy, np x-p qpnih dqpbithu hiplywy wbytpg thnpp
$ntyghwbipp huwdwpdtip thb.

w)sinx L x, p) In(1+x) U x,
Q) (l+x)2—l L 2x, pa*-1Uu xlna,

1
L) l-cosx L —2-x2, q) arcsinx L x:

525. Quplb) x-h' qpnjh dqupbiinig wypugynn htaplyw) woybtpe
thnpp $mblyghwiiph Yupgp x-h bjugpiwdp.

w) 2x-3x%4+x>, p) A

1+x
q)\/x+~/;. n) ‘s/3 x? —\/x3,
b)Vi+x —+1-x, q) 1- cos x,
k) tg x - sin x, p) sin 2x - 2sin x:

526. Wuywgmghy, np tipp x — 0, yiinh mbth htyplywy ynygu-
Unp hunjwuwpmpmbitpp (x> U wykh pwpdp Yupgh wibytpe
thnpptipp wiypbuymy tb).

1 [
w) —=1-x, p) a2+x=a+-x—,(a>0)
I+x 2a
@) (1+x)" =1+nx,(n€R) n)ln(l+x)=x:

527. 2uulbtpwbp htplyw) hwjwuwpnipymbbtiph 62qphp

hdwupp® oqypugnpdtiny (€,8), (E,9), (E,,Ey), (€,E) qmygtiphg wb-
hpwdtigypp.

w) lim f(x)= A, p) lim f(x)= A,

9) xl—ig}of(x)zoo' I])‘l_i’l;l}of()()=°° ’

b) ‘l_i'gof(x)=+oo, q)ll_i.Tof(x)=+w,
b limf()=—= o limfl)=-e
1e) xli’131..f(x)=A, d)llixp_f(x)=A,
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b limf(x)= A, D lim f(x) = +eo,

W limf(x) === Dfimf(x)=+e.
W lim f(x) = —eo, h) lim f(x) = oo

528. Quplt; htpplywy $mbyghwitiph dhwlnniwbh vwhdwb-
ubpp.

o)
x“—1

|x +l| '
1
2) f(x)=32"*, tpp x - 2,

-2x+3, tpp x<1
3) f(x)=
3x-5, Gpp x>1

J1-cos2x

4) f(X)=—-—X— , ipp x>0,

D) f(x)=

tpp x o1,

, tppx—>1,

5) f(x)= tpp x o1,

X
=1’

6) f(x)=

T tpp x 5 0:

I+ex

529. Swpyb) htiplyw) dhuynniwbh vwhiwbbbpp.

. X . X
w) lim , p) lim ,
x>\ [x2 41 x>t \x2 41

X X
2)w) lim ]i(lie_) p) lim ﬂl-'-_e)

’ ’

X—>—o0 X X—>+oo X

. 1 1
3)w) lim arct -_—, lim arctg——:
x—1-0 gl—-x P X140 gl—x
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530. Gunmgt] htiplyuy $nblyghwbtiph gpudhybbpp.

1 2n T X
l)y—rlin_rg(cosx) , 2)y nlLT“l+x° ,
3) y=lim 4) y = lim arctgnx :

noteo | 4 x"° n—+oo

y=f(x) $mulyghwl Yngynud t wbpbnhunp x = xo Ypmud, bph.
lim f(x)="1(xq),
X=X

wjuhbpl’ $mbyghuyh vwhdiwbuyhlt wpdtipp huwjwuwp £ npw
prYyuwyhlt wpdbpht: f(x) $nbiyghwbd Yngymu L whpbnhunp X pwg-
Unipjwl Ypw, tipk uyn $nmtlghwd wipbnhunp £ X puqinipjub
widbb Jh Yhypnad: Lpkilp, np ponp puwppuljub $mblyghwbtpp
wipbinhunp b hpkbg npnpdwb phpnypnd: Geh his-np wuypw-
nny wbpnhuypmpui  wywyjdwbp yplnh smbh, wyuw  {(x)
$niuighwb Yngynmud £ luqynn xo Yypnud: Gpl uqiwb x, Yhpnud
f(x0 - 0) = f(Xo + 0), wyw X, Ybyp Yngymu £ yipwgbbjh uquwub
gbiy, hul bphb f(x - 0) # f(xo + 0), wuyw x¢-0 Ynsymd £ wnwehh
utinh huquwb Ytyp: Ubwgwd wy wunpbwrnbbpny wnwowgwd
fuanmuilitipp Yngynud GO Gpypnpn utinh fugnudbtip:

531. Uwywgmghi}, np htplgywy nbjghwbbippn wipbnhunp tb
hpklig npnodwl phpnypnud.

D) f(x)=3x-2, 2) f(x) = 3 - 5x - 2x?,
3) f(x) = x| +1 . 4) f(x) = Vx ,
5) f(x) =cos x , 6) f(x) =3":

532. Styplywy $mblghwbbipp npnowd skh x=0 Yhpnud: Cnp-
nty f(0)-0 wjbybu, np y=f(x)-p nupbw wipinhwy x=0 Ypnu:

¥ 1 -
D f.(X)=(1+x) L 2 f(x)=l ccz)sx,
X X
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_sinx

3) fix)=——=, 4) f(x)=xctgx,
(x)= 2 (x)=xet

i
5) f(x)=e x2 , 6) f(x)=sin4xctg3x,
7) f(x)=sin—l-, 8) f(x)=ﬂp—x,

X x|

1
9) f(x)=(l+x)x, 10) f(x)=xsinl:
X

533. Ntyugnypb) htplyuy $nbyghwbbtpp wipbnhunpnipjwh
wnnuiny b wwpqb] uquwb Yhptph pbnypp.

X, bipp [x|<1 x2, kpp 0<x <1
1) f(x)= , ) f(x)= ,
1, Gpp |x|>l 12-x,ppl<x<2

sin X

3) f(x):J X

, pp x#0

b

1, btpp x=0

cos-n—x, tpp |x|$l
4 f(x)={ 2

le - 1|. tpp |x| >1

534. Qi hbyplywy; $mbyghwbbph juqiwb Yhptpp L
wuwnqbii luqiwb pbnypp.

x3+1 2

Hf(x)= , 2 =_x___’
YE(x) 71 ) f(x) —
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1
3) f(x)=|%|, 4) f(x)=xsm-;,
5) f(x)=sin%, 6) f(x)=-lnl—x,
1_
7 f(x) =——, 8) f(x)=,3/&§‘",
sin x 4-x
T
cos— 1
9) f(x)= —xn , 10) f(x) =arctg-;.
cos—
X
x——l.
11) f(X)=C X, 12) f(X)=;2—Sin—2x,
2 —
13) £ =——, 14 f0 =221,
sin X In x
15) £(x) 1, tpbx - p nughnbuy £
X)= :
0, tpt x - p hpwghnbuy £

535. Gunmghp $mbyghw, npp wipbnhwy thbh dhwyb dby
Jhymu:

536. Uuyugmghi, np (chiwih $mbyghwl’
1 , iplix = E, m,n € N U ¢njuwnupdwpwp wwupq bb
f(x)=4n n
0, bpht x - p hnwghnbuwy k
wipbnhuyp bt hpwghnbwy Yypbpmd U fjuqynn  nwghnbuy
Ytiypbpnud:

537. Uywgnigk], np gnympynit smbh hnwghnbwy Ytypbpnd
huqynn b nwghnbuwy Ytptipnd wipbnhwyp $mbyghw:
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538. Uywgnigtif, np tphk f(x) (D(H=R) $niblyghwul wbpbnhunp
E R-mud, L f(x+y)=f(x)+f(y), wyw f(x)=cx:

539. Uywgnigly, np gnympymb nbh f(x) (D(f)=R) $mlyghw
wylytiu, np° f(x+y)=f(x)+f(y), pwjg " f(x)#cx:

540. Uwywgnighy, np tph f(x) (D(H)=R) $niblghwb wihpinhuyp
L R-nud b ypuppbip & 0-hg, bwle f(x+y)=£(x).f(y), wuyw f(x)=a":
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QI Nk IV

Utud NNyl LE HAFLYSPU3D
+hOELEL3PUL NUSHU,

§1. ToULS3UL 6U HDELELSPUL
1. Qdwbgyuuyh vumhbmbinidp

“Yhgnip' y=f(x) $mblyghwb npnpdwd t X dhowluypnid: Jlipg-
Uhbp Vx € X U x wpgmuuibkyphl qquwbp VA x w6, wybuhuhb, np’
x+Axe X:

Lowbwltilp Ay=f(x+Ax)-f(x): Ay-p Yngymu b y=f(x) dniby-
ghuwyh wa x Ypmd:

Gpbt gnnipynih nibh $nibiljghwh Ay wéh b wpgnuibinph Ax
wéh hwpwpbpnipjut Jtpeunnp uvwhdwbp, tpp wpgnuibtgp
wép dqupnid £ qpngh, wuyw wyn

lim _A_Xz lim f(x+Ax)—f(x)

Ax—g AX  Ax— Ax

uwhdwlip Yngymd b f(x) dnlihghuyh wdwbgyuy ppdwd x k-
pnud: Wwibgywip bpwbwlmd b qpupptp uhdynibbpny’

(. df ,

f(x), (x) dy :

k] I

dx

541. Ogqypdbtiny wdwligywh vwhiwbmihg' hwyyly (2)-p,
tjak

) f(x) = 3x*- 5x, 2)f(x) =\/; , 3 f(x)=cos x:

542. 8mjg ypuwy, np htiplywy $mbyghwbbpp smbkh Jtpowynp
wdwhgyuy x=0 Yhynid.

) f(x)=vx2, 2) f(x)=4{x|+1:
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543. Ogqyytiiny wdwbgjwih uwhdwbnuwhg, hwyty f(x)-p, tiph.

1) f(x) =x°, 2) ﬂx):iz. 3) f(x) = ctg x,
X
4) f(x) =logy x, 5) f(x) = 3", 6) f(x) = sin X+cos X :

544. Uywgnighiy, np x=1 Ytaqpumud htaplywy $nbyghwbbpp sne-
bl Ytpowynp wdwbgjyuy.

D f(x)=|x-1, 2) f(x) =|inx|,

x, tppx <1
3) f(x)=

-x2 +2x, tppx >1

2. dnbdjghwlibeph wdwbgnivp

Ept C-U hwuyunpmb t, hul U=U(x) b V=V(x) $nbyghwbbpp
nibtl wdwbgyuy (nhptiptiighh L), wuw.

I. C=0, 1IL (UtV)’=U’tV’ NL@{UV)'=UV1V7U
IV. CV)’=CU’, V. (E)=_—U'V’VU
\Y V?

VL. Ept y=f(u) b u=¢(x) dnblyghwbtipp mbtb wdwbgyw)-

Ubip, wyw.
Y =Yu-uy:
Shibwywh puppuiwd $mbyghwibph wdwbguibbph pw-

Owaltpp.

a. (x")=nx"" (n-p hwuypupma t),
b. (sinx)=cosx, (cosx)=-sinx,
’ 1
c. (tgx) = 7 >
COs“ x
d. (ctgx)’ = .—2 )
sin“ x
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’ 1
e. (arcsinx) = ,

w
8
3
Cond

()
>

"

]

h. (arcctgx) =

, / 1 /1
j. (log, x) =xln , (Inx) :

545. Oqunybtiny wdwbgiwlh Ywbnbbtphg b pwbwalbphg
hwoyby htiplyyuy $nbyghwbitiph wdwbgyubtipp.

1) f(x) = 2x>-5x+3, 2) f(x)= x8,

) f(x) =2x"-5x " J—

3) f(x) = €*sinx, 4) f(x)= x2+l ,
x“+1

5) f(x) = sin’ x , 6) f(x) = In(cos x) ,

7 f(X)=ln(x+\/x2 +1), 8) f(X)=sinx2 +7arcsin2x:

Swipytip htplyyun $mbyghwdbiph wdwbgjuybtipp:

546. y="7x - 4: 547. y=3x>~x-1:
548. y=7- 55"~ x> 549. y = (3 - x)(x + 4):
550. y=x(x+1)(x +2): 551. y= ax’+ bx + ¢:
552. y=3—2x+lx4: 553. y--x—l
4 x+1
554. y=x(3_x): 555, y= 2%,
X+4 l—x2
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l+x - x“+1
556. y = ———— 557. y =
I-x+x X" =X
) 1-x)P
558, y = 210X 559. y=( Jil
c+dx (1+x)
2
560. y=x>Vx’: 561. y=3x% -———:
X
1 1 1
562. y=xVI+x2: 563. y=—+—=+3=:
X X X
564. y=vx +x : 565. y= —:
a2 _x2
I-x .
566. y = : 567. y =sin5x:
I+x
568. y =3cos2x: 569. y =3sin(5x —2):
570. y =cos(3—-2x): 571. y=sin2x—2cosx:
572. y=cos7x: 573. y =sin5x-cos3x:
574. y =cos7x-cos2x: 57s. y=cos7x-sin2§:
576. y =sin’x°: 577, y=— .
cos" x
578. y=tg%—ctg—’2(-: 579. y=x30tg3x:
tgx .
580. y=—"=: 581. y=«/;(-sm2x:
¥x
2
582, y=_% . 583, y=21 X.
1 +sin x sinx3
sin X —cos X
584 y=———: 585. y=+/1-sin4x:
sin X + cos X
586. y =cos?(Vx +1): s87. y =tg2(3vx - 1);
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588. y =3%%%; 589. y = 5%,

1
tg—
590. y = x2e 591, y=2 X:
592. y=Inx-Ina: 593. y-—-x(lnx l)
2 3
594. y-—-lx—: 595. y=x3lnx—x7:
nx 3
596. y=L+2inx 1%,
X X
597. y=(Inx)(Igx)-(Ina)(log, x):
598. y =lgsinx: 599. y=ln2x:
1+x2
600. y= ( X +a) 601. y=1In 5
I-x
4
602. —]n
4il+x ’ 1+x*
1-sinx
603. y=In({lnx): 604. y=1In :
Y ( ) Y I+sinx
605. y =In(In(Inx)): 606. y=+x41- In(l+\/x+l):
X X T
607. y=Intg—: 608. y=Intgl —+—|:
y 82 y g(z 4J

609. y = x[sin(ln x)—cos(In x)]: 610. y = arcsin%:

611. y = arcsinX +arccosx: 612. y = arcsin5x:
613. y= arccos(2x - 1): 614. y= arccos—3- :
X
615. y = arctgx + %arctgx3: 616. y=¢” arcsinx:
617. y =arctg(Inx): 618. y = arcsin(sin x —cosx):
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619. y=arccos(cos2 x): 620. y=ln(arccosL]:
Jx
621. y=arctg(tg2x): 622. y=arctg(x+\/l+x2):
623 y—arccosl—_l‘ 624. y = arcsin — 2-
J2 1+x%
1
625. y=—(ln3x+3ln2x)+6lnx+6:
X
10 11
626. y=M: 627. y=w:
sin x Inx
Jsinx I 1 .
628. y=e*Vinx. 629. y = 2xctg———sinZ 7x
x 14
630 y—arctg—-x—-
1+V1-x2
2
631. y=i a? —x? +i—arcsin£:
2 2 a
632. Quplby’
X _ X X -X X a-x
shx =< —¢ , chx =2 e , thx=ex ex
e +e

hhytppnuut $mblyghwbbtiph wdWbgywbkpp:

633. Qupbby y -p, tiph.
Dy=lxl,

1-x, tpk x<0
3)y=
634. 8nyg pwy, np y=xe”"

xy’=(1-x)y hujuwuwpdwbp:
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2)y=x|x|,

.

e, bph x>0

$miyghwd pwjwpupmd L



x2

635. 8nyg ypwp, np y=xe 2 Pmbyghwl pujwpupmy k
y'=(1-x%)y hwujuuwpiwbp:

1
636. Snygywy, np y = ———————  dmblijghwd pujwpw-
S I+x+Inx

wipmd £ xy’=y(ylnx-1) hwjwuwpmup:

Lwhionnp nquphputin hwdwh htioqpughnud £ $mblyghwgh
udwlgjwih hwpynudp:
r=f(x) $niljghuyh (nquphpiwlui wdwhgw b widwind wjn
bniblyghwyh (nquphpih wdwbgyup:

x(x-1)3'
x+2

637. Swputy £ (x)-p, tph f(x)=

638. Swoyly y= [u(x )]"(x), (u(x)>0) wuphEwbhwgnigswyhb
Pniighwyh wdwbgjwyn:

639. Oquwugnpdbiny nquphpiwiwd wdwbguih qunuthw-
ap” hwpyby htipplywy mbiyghwbbtiph wowbgyubbpp.

1) y=x 1'x, 2) y=(x-1)(x-2)*"(x=3),
1+x
2 7( s)
3___ —1°
3) y= X ; x2 L4 y= (x+51) X 31 ’
1-x{(3+x) x°(x +2)
5) y___xx, 6) y=xsinx,
7) y=(sin ", 8) y=x"%,
X
9) y=(1+l) , 10) y=¥Inx,
X

99



)arcsin X,

ll)y=( :)ﬂ 12) y =(sinx

Qupbb hbyplyw) pmblghwbbiph wdwbgyubtipp:

640.

642.

644.

646.

647.

649.

651.

653.

655.

657.

659.

661.

663.

3 = —
y=3l+x : 641. y=\/;(_+\!x+\/;:

1-x3

1

y =" (=)™ 1+ x)" 643, y=—m—:
cos"mx

y= sin(cos2 X -cos(sin2 x): 645. y = ln(ln"mx):

X a b
y=(3J .(2\ (i) a0, b0
b x) a
X\/§ \5 . ( n)
648. y =log, sin| 21tx + — |:
f B2 o8 2
y =sh5x: 650. y =ch3x-sh%:
y =th3x : 652. y=ln|x|:
y= arcsmI | 654. y=|sinx|:
X
y=log,e: 656. y =logs, 4
- 1
=e * shx: 658. y =arccos| — |:
g 4 (chx}
2
+1
y=3 XSX : 660. y = \/_ > sin 3xcos? x:
5-x 1+ x2
}’:(\/th)XH: 662. y=(sinx) <
y=(cosx) sinx: 664. y__,(\/;)sirﬂx:
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3. UQowhgiuyh npnp hhpwuwnnigpnibiblip phyplivw-
Jupnigauh ko

Upypugpmpjui dwhuptipp wppungpubph wppunpdwi (Guid
wnwjniejul junpupdwb) hwdwp wbhpuwdbop dwhupkpb tib,
wl ppwgdwil dwjuptpp juuywd G wppunpubph hpugdwbh
b Upypunpuitiph wpgpunpdwb Qunpwympyub jugpupdwb) b
pugdwl Ypuw uypupjwd nipuljul wphuunpubpughl, $h-
wbuwwh dwpupbph wipnnompnibp juqinud L wppuinpuibiph
\hpbwpdtipn:

Nuwdwubin wpypunpubph hbswbu wppunpnueywb b hpugdiwb
whupbipp, wybybu Tty hbpbwpdpp wppunpubph  pwbwih
mbyghwt tb: Bpt wmpunpuiph wppunpmput pwbwlyp
dSwywip) Upwbwlwd t x-ny, hul wppunpnipjub dwhupbpp,
(x)-ny wujw.

ihonmpyn ip Yngynmud £ uwhdwbwjhb dwhip:

Swiwbdwh auny’ tpb wpypunpuiph (pwphph, wypwbph) x
thwynph hpwgnutihg utpugdwd hwunypep bpubwljjwd t P(x)-ny,
uwjw.

lim APX) _ P'(x)
ax—0  Ax

jtdnipeyniip Ynsynid £ uwhiwbwyhb hwunype:
A A
Ebm[ll]ghwjh—y hwpwpbpuywb weh b wpgnudklyh X hw-
v X

wupbpwljwt weh hwpwpbpmpjwb vwhdwbp, bpp Ax—0, Yns-
Inud b y(x) $nbyghuyh S4niimpynid x thnthnpuwljubh bwg-
fwdp:

Wuwhuny, tpt y(x)-p nhdtptbgbih $mblghw t, wuyw gpuw
3(y) 6ynitnipymbp Ynpnydph htbjwy puwbwatng.

Ex(y) = llm[Ay Ax)=— lim Ay y(x):

ax-0 y X VAx—)()AX y
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665. Uppuwnpuiph x dwjwiphg Juhijwd wpypunpnipjub
3

dwhuptipp wppuhwppymu 6oy =100x —;—O pwlwdliny: Npnjty

wppunpnipjul vwhdwbught dwhpkpp, Gph wppwnpmipwl
dwywip juqum k.

1) 5 dhwynp,

2) 10 dhwynp:

666. Uppunpmpjub  dwpptipp  wppwhwppymd &b
y = 6In(1+3x) pwbwadliny, nmptin x-p wmpunpuwbph dwlwb k:
Npnotip wppunpmpyub vwhdwbwht dwhupkpp, tpt wpypun-
pnipjwl dwywip hunjuwuwp k.
1) 3 dhwynph, 2) 8 dhwynph:

667. Swpyhlp y=3x-6 Pmlyghwjh GYnibmpymbp: Qpity
6ymbnipjulb wpdtpp, tipp x = 10:

668. Swoty y =1+2x-x> $miblghwjh S4ynihinipenibp, bpp x = 1:

669. Swyyty y=SInx $mblghuyh Ymbmpjul wpdbpbbipp,

tipp.
1)x =10, 2)x=e¢e, 3)x=e4:

670. “Yhgmp' gx)=10-x Ppmbyghwb npuk wypwbph wuw-
hwiownpyh $pmblghwb E, npiplin x-p wypwbph ghbl t: Qupbty
wwhwbownyh $nibihghuyh Yymbnipynibp, bpp x = 2:

671. UWwwgmgh), np ipl  Ex(y)-p y=y(x) $mblyghuyh aynt-
Umpymbb , wyw x-y(x) $nbyghwjh 4nbnipnitp hwjwuwp
b (Exy) + Dx:

672. UWwwgmgh), np tpbt wwhwiswpyp hwjunupd hwdk-
dunpujub £ qbhb (wyuhbpl' wwhwiswpyh $mblyghwd mbh
k
y=—
X
ownyh $mblyghwjh aymbnipymbp hwjwuwnpt -1-h:

tiupp), wuyw qbh guibjugwd wpdtph nhiypmd ywhwb-
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673. Swpyti y=x’-1 $mblghuyh ynilnipenibp: Qphby d4ni-
1wl gmgubhop, tpp.

w) x=2, px=5:

674. Supybty y = ¢ dmblghuyh Gynilimpyniip: Sty S4n-
1pjwl gnigwbhop, tpp.

w) x=0, p)x=1, qQ)x=2:

675. Swpyty y = ax™ pnibiyghwyh ymbnipynibp, npptin a-b b
n hwuypunpmbibtip tb:

676. Swpyt]y = ax® + b $mblighuyh Gynihnipeniip:

4. Pupdp hwpgh wdwhgjumyhlip

y=f(x) bniulyghwjh tpypnpny Yupgh wdwbgjwy b Yngdnud npw
ywohl unpgh wdwbgjuh wdwbgjuwp.

f(x)=(f (x))":

Cunhwbpuybu” £ (x)=[f""(x)]"

Lotlip npnp $mbyghwhbph n-pn jupgh wdwbgywibbtiph pu-
13l kpp.

L. (a")(n)za"(lna)", (ex)(n)=ex .
1L (sin x)(") = sin(x + %n)

s

1. (cos x)(") = cos(x + gn)

v, (Y =a(a-1)a-2)... (a-n+ 1"
V. (inx)® = C -1

xn
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677. Swpyb) ppywd $nibyghwbitph pypnpn Yuwpgh wdwb-

gjuip, tipt.

678. Oquytiny I -V pwbwalbkphg' qupbt; hipbjuy $mby-

) y=3x"-x'+3x+5,
Jyy=xlInx,

2) y=x\/l+x2 .

4)y=coszx:

ghwbbtph n-pn Yupgh wdwbgyubbpp.

679.

680.

681.

682.

683.

l)y=x5,
3) y =sin 5x cos 2x ,

Supybpy(0),y(0) W y’’(0), tphk y=e>sin3x:

Swpyly y 12,

2)y=e3x’
4)y=log,x:

tipt y=In(x-1):

Swpybp y “(1), btpk y=x'Inx:

Swoyby y ~p, bph.
D y=2x"Tx +4,
3y=xVx,

X
7) y=(l+x2}arctgx ,

ZX,

Syy=

9) y =sin

1) y= (arcsin x)2 ,

Swaybiiy-p, bph.
1) y=x>-5¢"+7x-2,
3) y=In(1+x),

104

2Q)y= x*+ 7x® -5x+ 4,

3x%-2
4)y= X ,

x+1
6)y=tgx,

2

8) y=e ¥,
10)y=ln\/31+x2,
12) y= arcsin x :

\ll—x2
2) y=(2x—3)5,
4) y=cos5x:



684. 3nygwywy. np y=e’cosx dnilhghwh prudwpupmy
yV+4y =0 hwjwuwpiwin:

685. Qaplb hbyplywy $mbyghwbbiph n-pn Yupgh wdwbgyuy-

Ubipp.
1)y=«/;, 2)y=sin2x, 3)y=cos 7x,
4)y=—3—m, S)y=xlnx, 6)y=shx,
X
1+x

7y=sinxcosTx, 8) y=x-e", 9)y=] -

10) y = In(ax + b):

5. dniblyghuwyh nhdpbhphbghuwyp

Gpt y=f(x) dmblhghwsh Ay wép x jhpnod Jupbih E btplhw-
Jqugutip Ay=A(x)-dx+o-dx pptiupny, npiptin dx=Ax, AlimOOL =0, wyuw
X—=>

f(x) mbljghwid Ynsymu t nhdbtiptibgtth x Yapmy, hull Ay wéh
qiluwynp dwup’ A(x)-dx-p, Yngdmd b y=f(x) nulighuyh nhdb-
paighwy W tpwhwlhynid Edy uhdiyniny.
dy = A(x)dx:
OQputiugh Pmbyghwbd (huh mhtiptibgtith, wbhpwdboyp b
pwywpup, np gnympjnia mbbbw  (x) wdwbgjup, pbn npnud*
Ax) = f’(x) b, wyuyhuny' dy = f'(x)dx :

686. Qb y=3x’ —x +4 Pmblghwh nhdbipkbghuwyp x =2
Ltymy, tipt Ax =0,1:

687. Nwpyhp htiypljuyg $nibljghwbiiph nhliptbghwbtipp.

1) y=sin3x, 2)y=In(1+x%), 3) y = arcsin 2x:

688. Uwwgmghi, np y=ax+b gqdwjhl $mblghwjh huwp
Ay wép v dy nhdtptibghwip hwdpbybnd to:



689. Swpybkp htyplywy $mblyghwbbph nhdtptibghunbbpp
x = 1 Jpnud judwjuluwid Ax =dx -h hwdwp.

1
1) y=cosnx, 2)y=x’—4x +7, 3)y=;,

Xx—-2
—I, 6)y=xe*:
X+2 )y

690. Swpyly y=f(x) $mlyghwyh nhdtptbghwyp, tipt.

. X
1) f(x)=sinx—xcosx, 2) f(x)= ,
1-x

3) f(x)=VIn®x -4,  4)f(x)=sin’3x,

5) f(x)=arctg> :
a

4) y=arccos1 , 5 y=In
a

6. Inujjupuyp Yuhnbip
0 oo
Lonyhypwih yuwbnbp ybpwpbpnd £ 6 ud — yphyh winpn-

onipymbitipht W htiyplyunb k.

tpb f(x) U g(x) dnibhghwlbpp nhdtptlgtih G a Ytaph npuk
2ngwluwypmd (pwgh, qmgh, x=a Ytyphg) pbn npnud” gx)#0 U
lim f(x)= lim g(x)=0 Yuud limf(x)=limg(x)=co , wyw’
XxX—a X—a X—a X—a

tim L) _ iy £18).
x—a g(x) x—oag(x)
wuydwbny, np lim f/(x) uwhdwbp gnynipymb mbh: a-b upnn
x—a g (X)

t hbti yipgwynp phy Yuid o uhdynip:

691. Uhpuwnbiny Lnyhpuih Yubnbp® hwpyb higpljwy uwh-
dwbbbpp.

: ax _ ,2ax

1) lim s'm ax 2) Iim&——¢ _

x—0sin bx x-0 In(l+x)
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692.

693.

695.

697.

699.

701.

703.

705.

707.

709.

711.

. chx—cosx .
3) lim ———, 4) limx"Ilnx, n>0:
x—0 X x—0

Swpydti hipb ju vwhdwbbtipp:

x3—2x2—x+2'

lim 3
x=1 x"-7x+6
3 _ g2 _ X
lim 2 —7X 52x 9 : 694. Iim e_s :
x-3x* +2x3 -12x% -4x 15 X —eo x
lnx 69. lim 8% tg3x
x—)oo .\/_ x—0 th
S 698. lim—> >
x—=2x2 +3x -10 x23 x% 5% +6
3 2
+
oo Yo infiex?)
x—=-1/2+ X +Xx x—0cos3x —e ¥
lin J0COS2X . 702. lim ———]“(S,max) :
x—0 sin2x x—0 In(sin bx )
fim Inlcosax) 704, lim X1,
x—0 In(cos bx) x_% sin 4x
1
X _ 4 -
lim 2 (a>0):  706. lim ()i e,
x—a X—a X-—a X
2x X _ o™X _ 7
lim 5L 708, Tim S——¢ %X,
x—0 arcsin 3x x—0 X —sinx
-3x — ) i
lim L——Ll: 710. lim (ctgx ™" *:
x—0  sinSx x—0
X
lim (lnl] : 712. lim(L——l——):
x—+0 X x->I\Inx x-1
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1
2
713. hm(ctgx—l): 714. lim (55-)" :

x—0\ X x—=+0\ X
1
715. lim (thx ) : 716. lim x| e* —1{:
X—o X —)o0

{
77, lim| 2 -—F—|:
ctgx 2cosx

n
e

718. Snyg yuy, np.

2 . 1

X~ simn—
lim——2=0 u lim .
x—=0 smnx x—oo X +SIN X

X —sin X
2707

uwhdwbitinp hbwpwynp sk hwoyt Lnuyyhypugh Yubnbnyg:
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§2. HhDELELIPUL SUSUD NPULUUUL R-GNLBULE-
rL, BE3LOACHh ATLUGUL, DAFLYSPUSP NESUIN-
SAFUL WoUL33ULP O LAFE-3UUR

1. Mhdhpkhghwy hwrdh hpdbwipul  phnpkdbbpn,
Blynph pruduudlip

bpbt y = f(x) $nibjghwmbl x, Ytph nplul powljuypnid nibih
dhlsl (n+1)-pn Jupgh wodwbgpubbppn bbpunju), wuw wjn
powljuyph gu.lﬁllwguxb x Jnnud q]hrlh mbp @by nph pwbwalip.

f(x)=1(xg)+ i )( xo) f;x)(x—xo) +..+
£7(x) N R (3) 0+l
+——(X—X0) + (n+1)! (X—XO) N

n!
nputin -0 pbwd k x-h U Xe-h dhobi: Wu pwbwalbh dhe \b-
nunptny x, =90, Lluquuﬁump Uwynphbh pwiwabp

r// n n+l
R n! (n+1)
Ltipjujwugbtp htypbyw; hhhg $nibyghwbbpp yYhpnodni-
pymbttipp.

XZ xn
¢*=l+x+—+..+—+olx )

2! n!

3 n-1

i = —.i_ . A\ X 2n
I RS
2 4 2n
cosx=1-— XZ! +i4!—«—...+("l)" ();n)! + o(x“” ),

(1+x)* =1+ax + 2%

afo—1).{e—n+ l)x." +o(x" )

n!

ln(l + x)=




719. Snyg ypuy, np fx)=x-x" $miyghwi [0,1] hunpw-
onud pwjwpwpmy t (knh plinptidh wwjpdwbbbpht b qupbty dh-
owlbljwy Ytpp:

720. Awjwpupnd L wpnynp f(x) = 3 (x - 2)2 $nuyghwh [0,4]
hwpwdmd fknjh ptnpbdh wwydwbbbphb:

721. Yhgnip' f(x)=x(x+1)(x+2)(x+3): Uywugmgty, np f(x)=0-0
nibh Gptip hpwywb wpdunp:

722. Upmiqli, np f(x)=x*+2 L F(x) =x’-1 $mblghwbtbpn [1,2]
hwupwdnd pwjwpupnud GO Unphh ptnpbdh wuwydwbbbphb:
Qb dhowblyywy Ytyp:

723. Quugnighiy, np tpt f(x)-p wbpninhunp t [a,b]-mdy, nhdb-
nblighih b (a.b)-nul (3 £/(x) ¥ x€ (a,b), L f(x) gduiyhl $niblghu gk,
wwuw (a,b)-nid Ice (a,b) wyhwybu, np |fl(cl > f(bb)—-f(a) .

—-a

724. Uywgmgh), np bpb [a,b]-nud 3 f “(x)-p, L f'(a)=f"(b),
wuyjw 3 c€ (a,b) wylybu, np |f’(c] > 4 |f(b)— f(al :

(b-a)?

725. Uynipwljwb Ytypp nunuph Jhéwlyhg swpdymd t b uibqg
wnbnui: Cln npnud, dhwynp dwdwbwynud, npp bty £ 1 Juyp-
pwb, whgind £ 1 dbpp Swbwuyuwph: Swpdnuwip nunughd E:
Uwwgmgti, np u dh t, wwh, bpp a(t) wpuqugnmudp a(ty)-b pw-
Jwpwpnud k la(tox > 4 W/py? whhwwuwpnp)nbp:

726. f(x)=2x-3x*+5x+1 puwqiwbnuip ytipnidt; (x-1) Gplhub-
nwih wuphSwbbbipny:

727. Stiplywy puquwbnudbbpp ybppmdb) (x+1) bplubnuidh
wuphdwbbbpny:

D P(x)=1+3x+5x2-x*, 2) P(x)=)(4 +4x% —x +3,
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3) P(x)=x5 —ox*x3—xZ42x -1

728. Qupliitip htyplyuy $mblyghwbbiph Uwynptith pwbwaltph
wnweohl bptip gnudwptihtpp.

2
) fx) = e x" 2)f(x)=Incosx,

3) f(x)= Xx , 4)f(x)=tgx:
e” -1

729. Oguytiny hhtig hhibwlwb Ytippmodmpymbitphg' qpby
htplywy $nibyghwbtiph Uwlynpkbh puwbwabbpp.

<2

1) f(x) =e-7, 2) f(x) =sin’ x, 3) f(x)= Sins?x ,
4) f(x)=1n (4 +x%), 3) f(x)=3\/8+x2:

730. Ogypytiiny hhibwlwb Jtpndmpymbbbphg® hwoyby hb-
nljw) vwhdwbbbpp.

K] _ X o _

1) lim I+3x 2\/l+2x’ 2) i E_SinX 3x(l+x)
x—0 X x—0 X

2

2

. CcosXx-—e .

3) llm———, 4) lim (Q/x6+x5 —Q/x6—x5):
x—0 x4 X—>+oo

b}

2. dnuighwhliph dnbhnmipnhnigayuuh upuwkwbnp

y=f(x)$mblyghwb Yngymu t wénn (bjwqnn) [a;b] hupjw-
onuy, tiph a<x;<x,<b wwjdwbhg htypplumud b f(x,)>f(x,) (f(x,)< f(x)))
whhwjwuwpmpmbp: Gt $nibyghwld wénn b jud bjuqnn X
puquinipjul Jpw, www Yngynud £ dnlinpnh wyn puquinipjub
Upuw:

111



Gt nhptipttighih Pnbyghwb wénn (Gfwqnn) t [a;b] hwypjw-
dh Ypw, wyuw' f/(x)20 (f'(x)<0), a<x<b:

bpbt  f(x) phdbptbghih  $niblyghwih  hwdwp  (x)>0
(f'(x<0). a<x<b, wyw f(x)-p wémud (buqmu) £ [a;b]-h Ypuw:

731. Qupbb| htplywy ncbyghwbtiph wedwh b ojuqiwb wh-

owljwjptipp. s
1) f(x) = x* - 2x, 2) f(x) =2x> - 9x* + 12x + 1,
2
3) f(x) = x + sin X, 4) f(x)=——i:
Inx

732. Qaplb hbplyuy $nbghwbbiph dnitmpninpjub dhow-
Yuyptipp:

) fix)=x>-6x-17, 2) f(x) =5 - Tx + 2x°,
3Nfx)=1+7x-8x%, 4)fx)=x"+2x-5,
5)y=x*(x-3), 6) f(x) =2x> - 9x* - 24x + 7,
Ny=x-2Vx, 8) f(x) = 4x* — 21x* + 18x + 20,
x—-1
9) y= , 10) f(x)=—— ,
)y Xx=2 ) 1) Xx+1
2x
1) f(x) = , 12) y = ———,
1+x2 x2 -6x-16
x2 -1 )
13) f(x) = 5 , 14) f(x) = 2x“ - In x,
x“+1
15) f(x) = e* + 5%, 16) f(x) = x%e™,

l7)f(x)=ln(l—x2), 18) f(x) =cosx —x,
19. f(x):-;:xi‘—l, 20) f(x)=xV1-x2:

X

733. Qtnbwpynpynibp dtl wiumd wppunpmd £ x dhwynp
wppunpubp: QEnbwpynipjud phtwlvwljub Ynupuymdbtph
JwhiJwdnipjnibp wmpunpubph pnqupiui dwywihg wpypw-
hwppymy £

U(x) = 2x° - 600x -20
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pwlwaling: Umpunpuibph pnquplyiwb hbs dwjunh nhujpnd
atnbwupynipyul phtwbuwljul jnupulynudp udh:

734. Qtnbwpynienibp dbY wdunud wppunpnid £ x dhuynp
wppunpubp: tinbwpympjud phtwluvwlhub Ynupwlnudtbph

qupijwdnpymip wmpunpubph poqpupliwb dwywihg wppw-
huijypynud £

f(x) = -0,01x’ + 300x - 500
pwiwadlny: Umpunpuiph pnnupldwb hbs dwjuh phuypmd
abnbwplympyub phtwbuwlub Ynipulyndp jupuwuh:

735. Upypunpmpjwub phd dwhiptipp wpppuhwippdmd  Gb
2
y=§x3—l2x2+54x pwlwadlny, nppbn x-p wppunpubph

dwuwyl b NEypugmpl) wyn $mbiyghuygh thnthnhudwb phnypp:

3. drnulihghuyh Lpuppbkdnidikpp

y=f(x) $miuyghwb x, Ytapnud ntbh Epuyppbidnud (Jwpupdinud
Jwd dhbpimy), tiph xo Yaph npbk (x4 - 3; xq + 0) 2powjuiyph pn-
np x(x#x,) Ytypliph hwdwp plnh nbh f(xe)>f(x) Jud f(x)<f(x)
wihhwyjwuwpnipynibp:

Eprb x-b Epuypptidnudh Y E, b gnympynih mbh f (xp), www
f "(X0)=0: dniblyghwih npnpdwlb \phpnyph wyb Yhypbtipp, nmplin
f(x0) = 0, Qi f'(xp) gnynipynrb snibih, Ynsdmd b Yppyphsljpuljub
Ytaptip (Epuypptivinudh hwdwp yuuljudinh Yhgpbp):

Epupplivnidh wenwopl puutfrupiup uprupbaubip.,

Gpb xi Yphyphhuhwb Ytph qpupptp Yonibipnd (xg - 8; %) b
(X0 X0+ 6) dhowlyuyplipmud, f'(x) wdwbazwip nibh puppbp bowb-
Ubip, www x,-0 Epupptidnudp ftap E (pbg npny, + — - ghiypnud
dwpuhdmd, hul - = + nhypmd dhthdnul): bul tpk (x)
wdwbgjuip xo Yaph puppbin Ynndtipnid mbh oyt bpwip, wuuw
Xo-0 Epuyppbidnudh tap sk:

113



Fpumpplivnidh kplypnpy puywwpup wuydwbnp.

Epb nplut x¢ Yhypmd plinh mOkh f/(x0)=0 L f “(x()#0 wwjiwb-
Obipp, www xp-0 tpuyppbidnudh Ytap £, pbn npmd, £7(x0)<0 nbw-
pnud’ dwpuhdnuih, huy f”(x0)>0 piypmy Shbhdnudh:

736. Quplby htyplywy $mblyghwbbtiph Epuyppdnudbtipp.

1) f(x) =2+ x - x2,

3) f(x)=—;
5)y=x"-4x+6,
Ny=2x"-x+3,
9)y=x3+2x—5,
3
X 3 2
11) y=—-——=X
Y 3 2

13) y=2x2—x4,

15) y = x(x + 1)’ (x = 3)?,

17) y=x+l,
X

19)
Y x—1

a3

a?+x?

2) y =

23)y=x-Inx,

25) y=w/2x—x2 ,
27) y=x3«/x—l,

29) y=e"sinx,

_x2—2x+2

X2 =3x+2
X“+2x+1

+2x+1,

’

2) f(x)=3—x4-x3—9x2+7,

4) y =2sin X + cos 2x ,

6)y=3-2x-x
8)y=-x"-x+5,
lO)y=x3—3x2,

12) y=x-6x’+9x- 4,

14) y =x*- 8x°+22x%- 24x + 12,
16) y = x(x - 1)2(x -2)’,

18) y = xe™,

x2 -4

x+1"’

2

) y=x +3'
X+2

In? x

2) y= s

X
26) y =3%/;?—x2,

28) y =3 (x -1 +Y(x +1? ,
30) y = sin3x — 3 sinx:

20) y=
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Uuywgnigly htiyplyuy wbhwjwuwpmpyniitbpp

3
737. x—}6—<sinx<x, tpt x> 0:

X2
738. cosx>1-7, tpt x=#0:

2
739. x—%<ln(l+x)<x, tipli x > 0:

740. e*>1+x, btph x#0:

4. dnihlyghuwyh wdbkbwdld b wdkhwpnpp wpd ipbbkipp

[a;b] hupwdmud wbpbnhunp f(x) dnibijghwph wikbudtd
udtibunhnpp) wpdtipp quutine hwdwp whyp E hwyytp $nuby-
hwjh wpdtipbbpp Yppphuywb Ypbpnud, {(a), f(b) wpdbtpbtipp
-Jtipgbti] upugywd pYytphg wikbwdtdp (witibwthnppp):

741. Qb ppywd pnblyghwyh wikbwdibs b wdtbwhnpp
indbpbitinn bpywd hwypdwdbtiph Ypuw.

D f(x)=2x>-3x2-12x+1, xe[-2:3],

2) y=-3x*+6x2, xe[-2:2]
x—1 1-x+x2

3) y=——, x€[04], 4 y= x €[0;1],
X +1

1+x-x2"
5) y=x%Inx, xe[le], 6) y=x+vx, xe[04],

7 y=3Ax+1-Yx-1, xe[0;l],

8) y = arctgo—" . x €[01]:
1+x
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742. a npuljub phyp ypnhty Gpyne gmdwpbihbtph wybybuy,
np npuwbg wupunpyuip thoh dGdwgmybp:

743. Qpib] ppwd 2p uwpupughd mbbgnn nupnublynh
tnwblynbbbphg wikibwdbd dwlbpbu mbtkgnnp:

744. Spywd v dwywy mbbgnn qubbtphg npb mbh phy
dwltipunph thnppwgnyb dwlytipbu:

745. Qb M(3;3) Ytyph Yupbwgnyb hinwdnpmpynibp y’=6x
wwpwpnihg:

746. R pwnunjnny qunhb tpgdt) wikbwdkd dSwjwih quub:

747. Qapbbyp ¢ dlhy mlbtignn Ynbtiphg wikbwdkd dwjun
nibbkgnnn:

748. Qapbbp ppdwd qlinhl wppugdywd Ynbtiphg wdtibw-
thnpp dwywy nibkignnp:

749. A hwuypupmb Jdtdnipjul wibhwpp wpdbpp npnotim
hwidwp Juypupywd n thnpdtph wpynopmd uypugytp  Gh
X, X2, X3, ... » X, wpdbphtipp: Abwlwb £ wbhwpp wpdbph pwjw-
gnuyit dmpuynpnipynmb wijwbb) wyb phdp, nph x;, X2, X3, ..., X,
wpdbplbtiphg mbbtgwd stinnuiltph pwnpwlniuhbiph  gmdwpp
thnppugnyybb £ Qb ujwgnyb dnypundnpnipynibp:

750. fwg phpbtnuw pnuhp, nph hpdpp pwpwynwuh &, mbh V
thipp pupnnnp)nb: bbgwhuh suhbpny wuppuugt wnwhuh
pnuhp, npuytugh dwhiudh thnppugnyb pwbwlnipjuip phptin:

751. Spywd R pwnwynny qlnhb Gkpgdhk dbhdwgnyb dwywy
nibkgnn Ynb:

752.  Spywd quubhlh wpyugdl; mnhn opowbuwyhl Ynl’ thnp-

pugnyb dwjwiny (quubh W Ynbh hhdptiph hwppmpmbbtpp L
hhdptph ppewlibtiph Yhbyppnbbtpp hwdpbyomad bo):
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753. Spywd onpowlhg whounpti wjiwhuh ublppnp, npny Juw-
nnigywd dwqupp nibbkbw dhdwgnyb pnupnnnipynib:

754. Spywd Lhwuht Otipgdhy dtdwgnyh dwlbkptiuv mbbgnn
nupnuilymb wjbybtu, np Ynndbpp qniquhtin |hbkh Ehwyuh
wnwbgpltiphl (quubbty nunnubiljjwb Ynndbtpp):

755. y’=2px wuwpwpnny b x=2a nunnny Juquijwd ubquiki-
\nhb Okpgdl) dtdwgnyb dwlitpbiu mbtgnn ninnuiblynib: Gpbby
nunublyjub ququpbtph Ynnpnhbunpbtpp:

1
756. y = o2 Unph ypw quit wyb Ytpp, nphg pupjwd
X

onpunhnnp OX wnwbgph htiyp Juquinud £ wdbibundbd unip wbilyyne-
bp:

757. w) Qhpawybwjht hipbwphep b dtpp pwpdpnipjudp
nhyinpnh giluwtiplim] wigbtinig ty Juyplwb wig nhypnpnp
junwi £ hbpbwphnh adwjbp: 9ypbt; hbpbwphnh wpugnienbn:
Qujbh wpugmpnbp Voyu/dpy: (Ugwbuwy guwpiwb, nph nhy-
pnud fulinhpp (nwdnud nibh):

p) Luwydh pnupyiwd dwdwbwy opwlwh dwpuubpp
puniuguwd kb tpym dwuhg. I hwugpunpnil, hwjwuwp a nopne,
I1. thnthnjuwluwb, npp wénd £ bundh wpugnipjwb fjunpubwpnhb
hwdbdwpulwb: bbswyhuh V wpugmpyub nypmy twjwplyne-
up i) hbh wpwyb) pbwynnujub:

5. &nibljghuyp ninnighlyniggnibp b gnquunpnipanilip,
2nodmb hlap

y=f(x) nhptiptitighih $nmyghwyh gpuwdhlyn niemghy t (gnqu-
ynp b) [a;b] hunpudnu, tph y=f(x) (a<x<b) Ynpp qupbymd t hp
guwljwguwd pnpunhnnhg bUbppl (Ybpl): Wb Ytplipp, npgbin
thnjuymd bt $nibljghwsh gnquynpnipyjuwb munnmpyniap, Yngdmd
th opodwl Ytphp: Bph 7(x)<0(a<x <b), wuw $mbyghwh
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gruphlp  momghl bt [ab] hwpdwdmd, huy  bpb
f(x)>0(a<x<b), wuyw Pmbyghwh gnwdhlp gnquinp t:
bph f*(x,)=0 Yuu £7(x,) qnympymi smbh, b xo-h prupptip Ynn-
dbpnud £ (x)-p nibth pwppbp Gubbbp, wyw X, Yepp 2pedwb
Yt L

758. Qupbb htnplyw) $mblyghwh memghynmpjub b gnqu-
Unpnipjwl dhewhuyptipp U 2pgdwh Yupbpp.

Dy=x*+x>-18x+24x-12, 2)y=3x"-x,

3)y=x3—6x2, 4)y=x4+6x2.
5)y=3x*- 8%’ +16x* + 12, 6)y=x+Tx+1,
Ny=xe+1, 8 y=xXlnx+1, 9)y=3(x-2)+3,
10)y = In(1+x%), 11) y=l+" -, 12) y=v1+x?,
X
2
13y y=e™, 14)y=xsin(nx), 15)y= "‘1‘1

6. Uuhvduppniphlin

flinhnp Yngynud £y = £(x) Ynph wuhduppnp, tipti Ynph M Yph
htnwynpnipymbp wyn nnnhg dqpunud t qpnyh, tpp M Ytapp,
dbwyny Ynph Jpw, whytpg hinwimy £ uljqpbultphg:
Uwhdiwbnuihg htapund £ bpt’
lim f(x) b lim f(x)

x—a-0 x—a+0

dhwinniwih vwhdwbdbphg gnbt dbyp hwjwuwp b widbpgh,
www x=a mnhnp mnnuwhwjwug wuhduppmp b y=kx+b php
wuhduppmpbtiph gnynipyjwb hwdwp wbhpwdtoy b pwjwpup.

lim S _ ke u tim () —kx) = b

X—oo X X—oo
uwhdwbbbph gnympjnibp, pbn npnud, wyu vwhdwbbbpp hwyt-
lhu ytipp £ x—+400 L x—-c0 nhiwyplipp phbwplyl; wnwbahi:
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759. Qaplby htiplyw) Ynptiph wuhdipmpbtipp.

2
)y= X , 2)y= 3 , 3) y =3x +arctg5x,
x=2 x-1
X 7 1 4x
4) y=——r, 5) y=4x“+—, 6) y=——+4x,
-5 X x—4
S 1
7)y=i/‘_x-’ 8)y___ln(x+1) 9) y=xeX,
Xx—2 x2
10)y=\/1+x2+2x, ll)y=2\/x2—a2,
a
12) y=2 x?+4, 13)y=x+w:
X

7. dnibljghuwyp phnhwbnip hbiypwqnipnidp b qpu-
Phlih Yruunnignidp .

dntyghuyh htipugmpiwd b gpuidbhih Juinmgdwb hwdwp
wtpp £ jupwpb hbplyw) niunudwuhpneynibbtipn.
1) qpity $mbyghuyh npnpdwh wphpaypp b htpugqnpty
dniiyghwyh Juppp wyn yhpnyph bqpipmd,
o 2) wwpqtip $niblghuyh wwpptipwiwl, goyq jud Yuly -
1o,
3) quit $mbjghwh wuhduppngpbbpp,
4) quniby Epuypptidnuih Ypbpp U dntinprbimpjwb dhewywy-
tpp,
° [15% quplttip mpmghynipjub b gnqguynpnipjul dhowlwyptpp b
2nouwb Ytapbipp:
NEyqugnpiwb wpnynibpbtpp ogyugnpdtiiny’ Yuptith [ junnt-
gt pnibhghwh npuywugtiu Ehoyp gpurdhyp:

760. Stypwgmply  hplywp  $niblghwbbpp L Ywnnigh)
npuig gpudhltipp:

1) y= , 2)y=3x—x3,
) y=1+x —%, 4)y=(x+l)(x—2)2,
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15) y= ,
)y >

17 = s
'y 3x2—l

19) y=x +ln(x2 —l),

1
xlnx'

2 y=
X
23) y =5+arctgx ,

25) y=sinx+cosx,

27) y =arcsin 5
1+x

X

29) y=x+e™ ",

31) y =arccos

1-2x

6) y=—é—x3(x2 —5) ,

X4

8) y= ,
x3—l

X
x3+2
xz—l

x2+1

14) y=3\/x2—2x s

10) y =

12) y =

16) y=%/x_2—\/3 x2+l,

2

X
18 =3,/—,
)y Xx+1

o

22) y=x21n2x,
24) y = xarctgx ,

26) y =%sin 2x +cosx,

1
28) y=x2ex ,

1
30) y=(x+2)e",
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QL NFhv V

Ub 2ULDP NN UIYTLLELD DAFLESPULEL
§1. \PULUGUYL GULUOULLED

Nhgnip' ACR" U f: A—> R, wyw wund &b, npyppud kn

thnthnfuwubbtiph $niblyghw.
U=1(xy, X3, ... , Xp) :

Epb c-b yupuinud £ z=f(x,y) $nmblyghwjh wpdtiptiiph \h-
nnyphlb, wyuw  {(x,y)=c puqimpjnibp XOY hwppnipjub ypu

Ungynud £ z=f(x,y) dmiblghuh dwjwpnuyh ghd:

Ept U=f(x,y,z), wyu f(x,y,z)=c dwltipunypp OXYZ ywpw-
Omipjwl Jhe Yngynud bt U=f(x,y,z) Imblghuyh dwlupnuih
duwlbpunyp: Uwlwpnuih gdtipp, dwibplnypitpp uwplnp-
ynud kb Pnibyghwiditiph wnwbabwhunpympynibbbph nunuitiw-
uhpnipjwb dbg:

761. w) Qupbby f(x,y)-p, bpb.

2 2 3.3
w) f(x-y, x+y) = x2+y2+6xy’ P f(y_’ X_J = 2ox Y 6

Xy x°+y
q) f(x+2y, 3x-y) = 7(x-y), n) f[% X— y) =X+Yy:

p) twnnigtiy wyl D pphpnypp, npht wunpljuibing M(x,y) Ytygb-
ph Ynnpphbwypbtpp pwdwpupnd B0 htgplgyw] wbthwjwuwpne-
Py bbkphb.

1)2<x<6, 1<y<3, 2) X2+ y* >4,

3)1Sx2+yzs9, 4)%+1—<1:
762. GQaplbbp htplyw) $nbyghwbtiph Ywwpnuyh gdbpp.

1)z=2x+Yy, 2)z=x2+y2, 3)z=l,

y

4)z=ln\/z. 5)z= 21 5 6)z=¢",
X X“+y
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7)z=a2+x2—y2, 8)z=

phpnypLtpp.

3)z=In(3x +2y + z- 6),

5)z=a2—x2—2y2,

1

Nz= ,
xz_yz
5
9) z=+/2x ——,
Jy
11) z= I

(4_x2_y2 ’

13) z = arccos(x+y),

15) u=,/x+y+z,
17) z=+x +4y,

19) z = In(x* + y),

21) z=x + arccos y,

23)z= \/l—x2 +\/1—y2:
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9z=1-|x|-lyl,

x2_y?’
10)z= -, 11) z=xy, 12) z=x* -y,
Jx
13) z=y - Inx:
763. Quuby L. wupytply htplyw; $mblghwbtph npnpdwh
X+ {
z= y , 2)z= 16—x2_y2,
2x -y

4)z=arcsin—y—,
X
6)z= ,
x2+y?
8) z=\/x2+y2—l,
10) z=2Y
X+y
12) z= 1 s
ln(x+y)

14) z=x+\/x2 —y2 ,
16) z =ln(x2 + y2 +22 —4),
18) z=In(x +y),

200z=1 +\/-—(x—y)2 ,

2)z= Vx2 -4 +4-y?




§2. UP LULP 2NPNUGTULP HAFLUSPUSH
UuUNUULLE B TLLLANUSAFE-3AFLL

A phyp hngYynad kb Z=fM)=f(x,y) Pmllyghwjh vwhdwb, tpp
M(x.y) Ytipp aqupnud £ M(xo,¥0) Ybphl, tpt Judwjwuljub €0
prUh hwdwp gnympynit mbh 6>0 phy wjbuybu, np 0<MM<d wb-
hwjwuwpnieymbhg htplmy £ {f(M)-Al<e wbhwjwuwpmpnbn:
Tw gpnud .

lim f(M)=A Jwd Ilim f(x,y)=A wybupny:
M—idg X—Xg
y—=Yo

YQuiptith L nhypupyly bwb hwonpnpujub vwhdywbbbp, bpp,
hwh® x — xo hwunpuipnib y-h (y # yo), niwjpnud, nphg htipn y —
Yo. jud plinhwlwnwip. )

llm[lnm £(x, y)J i lim|'lim f(x,y)J:
y—=yol X-2X X— XoLy—)V

z = f(x,y) dniiyghwb Yngymud £ wipbnhunp My(xe,ye) Yaynud,
tipt pptinh nibth.

ManMlo f(M)=f(M,), Qquu x]l)rxno f£(x,y) =f(x,,Y,)
Y—=Yo
hwjwuwpnipnibp: dnalghwb Yngymud £ wbpinhunp D yphpny-
pouw, bt wit wbptnhunp t D yphpnyph jmpupwbgnip Ytypnud:
Grt nput Ypnud wiplinhwuypmpuwd wuwyjdwin qtnh snlbh,
www wn Yayp Yngnud £z = f(x,y) dnibiyghunh luquiwid Ytap:

Ut imhnjuwljuth $mblghuyh uvwhdwbh b wbpinhunpm-
Pjwl Jbpwptppy pninp phnptidbtpp apnp yopudbwybpynud-
bkpny mdh dbe GO bwl dh pwbh dhnhnppwywbidbkph $niby-
ghwbtipp hwdwnp:

764. UWwwgmgh], np f(xy) = 2y $nblyghwih hwdwp
X+y

ptinh nibi.
limiimf(x,y)=1, lim lim f(x y)=1,

x—0y—0 y—0x—0
puyg lim f(X,y)-p gnynupymb smbh:
x—0
y—0
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2.2

765. UWuwwgmghi, np  f(x,y)= 5>
x%y* +(x~y)
hwdwp yplinh nibh.
lim lim f(x,y) = lim lim f(x y)=0,
x—0y—0 y—0x—0

puyg lim f(x,y)-p gnynipymb ¢nibh:
x—0

y—0

766. UWwwgmghj, np f(x,y)

hwdwp lim lim f(x,y),

x—0y—-0

uwhdwbbbpp gnynipymb ¢mbbb, huy lim f(x,y)-p gnnipjnh
x—0

nibh:

y—0

767. Swpyb) hbqllljlu[ uwhdwbbbpp.

1) lim (3xy- x? +y +1),

x—2
y—-1

2-Ja-
3) lim =YX

x—0
y—0

5) lim
x—0 x
y—0

2

Xy

7 lim arctg—

X—2
Yoo
9) lim tgxy

X—3
y—0 y

y

2x3 +3y2
ty

2

b

9

124

2) Iim(x2 + y2)sini,
x—0

y—0

4) lim Xy s

x—0sin Xy
y—l

3
6) lim (1+xy)xy,

x—0

y—0
. X +

8) lim 5 y2 ,
x—e X° +y
y—deo

2 2
x -—

10) lim Y ,
x-—)0x2 + y2
y—0

7 dmblyghwyp

=(xX+Yy) sinlsini dmblghuyh
Xy

lim lim f(x,y) Gpym hwenpnuljwb

y—0x—0

Xy



x2+y? r xy )
11) Im T 12) lim 5 Y 5 ,
% —yco + X~ +o0
ooty y_mokx +y
x2
. 1 \xvy
13) hm x +y? 14) lim|1+—=| 7,
x50 X X
y—0 y—1
2 5-4
15) lim 2('——51 16) lim2—¥XY
x-3 X+Yy x5 Xy —25
y—2 y=3
17) lim 3—\/’2'_ 18) lim sinxy
x—03— + X— X
y—0 xyTy y—2

768. Stypwgmpl) htplyw) $mblyghwbbph wdpbnhunpoi-
pymbp b pgmubibpp:
Dz= Y, Dz=——s., Hr= -
x=y x*+y (x+y)
1

sinxsiny

2 2
4)z=1n|1-x2-y2|,5)z=ex 6 z=

§3. UuULUGYD WoULS3ULLEN 64 LOhL
2+pDELELIPUL

1. Twufeagh tudrmbgyuygilip

z=f(x.y) $niuljghuyh wowehli wpgh dwubwyh wdwbgwbt-
pp uwhibynud bl htplgwy Ytipy.

lim f(x +Ax,y)—f(x y) oz
Ax—0 Ax a

_f (x, y)—z
X
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. f(x,y+Ay)-f(x,y) 9z __, .
I =—=f (X,y)=2:
A;EO Ay ay y(xy)=zy

Wju uwhdwbnuihg htppumud £, np z's-p hwpdbint dwdwbwy y-p
nhyprwpyymd £ npybiu hwuqugpnd b upupymad £ unynpuyjub
nhdtptigma x-h tjugpdwdp: Lnyb abuny 7,-p hwotiime dundw-
bwl x—p ghypuwpymd B0 npybu hwugpupnih: Uwubwljh wdwb-
gjubiph hwdwp wdwWigiwlh Yubnbbtpp b pwhwalbpp hwd-
pbybnud b JbYy  hmhnpuwljubh  $nblghwh hwdwp  dup-
Owbpqwd Juunbbbphb:

z’x b 7'y dwubwhh wdwbgyubkpb hpkbg htippht Ywpnn Gb
nbtibwy dwulbwyh wdwbgyubtp, npnbp z = f(x,y) $mblyghwjh

hwdwp Yyngytb tpypnpn upgh dwubwlh wdwbgjwybtp:
2

N s 07z
() x =z}: === - bnupnpn Yungh dunbwyh wowbgwy
puyp x-h,
o

Fl tpypnpn upgh Jwulwyh wdwbguny
y

(Z,y))’ = Z;z =

, upy-h,

(Z)y=2 U (Z'y) x =2y, - bplpnpn Yupgh luwnp wdwb-
gjuibtp, npnbp whpbnhunpnpyub Y-
ynud hpup hwdwuwp Gb:

769. Qb htiplywy Pmbyghwitiph wowehti upgh Ywubw-
Uh wowbgyubtipp.

D z=2x2y2+3xy2+y3, 2) z=(5x3y2 +l)3,

3)Z=2)'\/;+3X2%/-)7, 4)z=ln(x+\/x2+y2),

2,2
5) z=sini, 6) Z=exy(x ty ),
y
7)u=\/x2+y2+z2, 8),z=1+1+£,
y z X

9) z=(x—y)(x—z)(y—z), 10) z=x",
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X

ll)z=arcsinl, 12)z=¢YIny:
X

770. Qbbyp htaplyuy $mblghwdbtph tplipnpn jupgh dwu-
Owyh wodwlgjunbitipp.

l)z=x3y+y3x, 2)z=ln(x2+y2),
3)z=xe VY, Hz= arctgl,
X

S)z=sinxy:

771. 3nyg ey, np ppdud $mblghwt pwjwpuwpnud b hujw-
uwpuiwbp.

Jz 0z
w) z=Inlx? +xy+ 2, X—+ty—=2,
e gy, 12y
x2 x 1 1 .02 ,0z X
pz=—+—+——, X —F+y —=—,
2y 2 x y ox dy 'y
q)z=\/;cos§, x%)z(-+yg—§—=-;-,
10z 10z z
= l 2— 2, ——+——=——-’
W z=yln(x" =y, —= Yy 3
2 2 2
b)z:,/x2+y2+zz,(g—uj +(g—u) +(%‘-j =1:
X y z

2. Lph nhdlpkhghwmy, pupip hupgh npplpkighmbibip.

z=f(x,y) pmuyghuyh ppy wd M(x,y) Ytypmd Yngynmui k
Az = f(x,+Ax,y + Ay) = f(x; y) qupptipmpimbp:  z=f(x,y) $ny-

ghwl Yngymu k (x,y) Ypnud nhdptiptitighih, et wyn Ypnud \phy
wap Jupbih £ Gepjuywugbby hiplgwy phiupny.
Az = AAx + BAy +o(p),
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gt p=4(Ax)2 +(Ay)* . huly A U B pytipp Yuhunud bbb
Ax W Ay w6bphg: z=f(x,y) pmlyghwsh phy nhptiptibghuwy
Ungynud £ Az 1phy wéh gdwjhl Ywup, wyuhbpl' dz = AAx + BAy:

dnibyghwih phy nhdtpbighwip bhphwjugynd t htplyuw,

pwbwalny.
oz 0z
dz =—dx + —dy:
T dy Y
Liwl albny bpbp wpgnuikbnpbtph  hundwp u=f(x,y,z)
$nubyghwjh nhdptipbighwip Yihth
du du du

du=—dx + —dy +—dz:
. ox dy Y oz

tpipnpn Yuwpgh nhytipkiighw) t Yngymd wowehti jupgh
nhdbptbghwih nhdtpkbghwp. d*z = d(dz): Guplnp E plngdt,
np dx L dy wdtpp ghypwpyynud G npybu hwugpuypmbbtp b
nnuip wwhmy kbp Gnybp bpp I uwpgr thtptbghwihg whghnud

tup II Ywpgh nhdtntughwih: I Yupgh nhdbtpibghwip nibh
htiplyuy pliupp.

02z 0%z

2
iidx2+2 dxdy+—é——2~dy2:
y

ox? dxdy
772. bty £, 00U f,(0,0), tipk T(x,y)=3xy, U wwnqby
dniuyghwjh nhdpbtphbighijhnipynibp (0,0) Yhypmu:

773. Mwpqbp htplywy pnbyghwiph npdptipkbgbjhnipymbp
(0,0) Ytpnuy.

1) f(x,y)=yx2 +y2, Df(x.y) =3 +y3,
3f(x,y) =[xy,

(x* +y2)sinx2—:_)~’—2-, tph x> +y*#0

d%z=

4) f(x,y)=
0, iptix® +y* =0:
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774. Nwpybp htgplyw) $mblghwbbph wowehll b tpypnpn
ungh nhdtptughwibipp.

l)z=x2+xy+y2, 2)z=arctg—x,
X
3) z=xe¥ +ye*, 4) z=xsiny+ysinx,
S) z=In(x +1Iny), 6) z = xysinxy,
y
Nz=eX, 8)z= Xy , 9)z=xylny:
X=-y

§4. AUMTE DNFLESPUSE UOULS3ULL: ToUL33UL
SU3UL NFANFE-SUUL: &LUTPELS

hgmp' z=f(x;y), nmplin’ x =@(t),y =y(t), b gnynipynh mbh
=f(e(t),y(t)) pupnp dmbyghwb: Gpt f(x;y), o) L y(t)
mblyghwbbtnp nhdtptighih GO, wyw z=f(@(t),y (1)) pwpn
niblghuyyh wowbgyup huwpyymd k htayplyw) pwbwabing.
dz oz dx oz dy,
dt ox dt 9y dt
Epb z={(x;y), nmpbn’ X =0(u,v),y =y (u,v) L
(x5y), ©(u,v), ¥ (u,v) pnbyghwbtipp nppbptibgtith &b, wyu.

de_ot do ot aw
Ju OJx du dy odu
oz _of g  of o¥

v Ox ov ay v

Gphb OX wnwigpp L ninnnipjwb hty juqumd £ o wilymb, b
=f(x;y) mblghwl nhdtiptbghih L, wyw gpu wdwbgyuyp L
innnipjuip hwpyymu thtipliju) pubwdabny.

0z 37 0z
0S0. +—sina:
L dx dy
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[az‘aM“ : az‘aM"’] YnnpnhbuynBbany Ylpnng Yngmd b z=M
X y

$mbyghwjh gpunhtinp M, Yapmad.

adz-£f+%]'

& ox  dy
Gpt L ninnmpymbp hwdpbybmy t gradz -h  minnmpjub
wuwu g—i wowlgjup pbnmbmd £ hp wikbwdbd wpdbipp wy

Ytynud (gradz #0):

775. Qupliby %-n, bipb.

1) z=x> +xy+ 2,x=t2, =t3,
yty y

22 .
2) z=e?™7Y) x =cost, y =sint,
X

Iy

4) z=arctgl,x=e2‘ +lLy=e? —1I:
X

3) z=Insin—,x =3t%, y=v1+1t?,

776. Qnlty QE—[] L E—G, tipt z=x—“ nppbn’ x =u-2v,
du ov y

y=v+2u:

777. Qapliby g—z-h% wowhgjubtipp, Gpt.
u

1) z=x2+xy+y2,x=u+2v,y=2u—-v,
2) z=x2+xy+y2,x=uv,y=u2+v2,

3) z=x" + xy + y2,x=cos(u+v),y=sinuv:
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778. Uuugmghy” Gpht z=f(x;y), npiptin® x =rcos@,y =rsing@,
g (2] 4122 C(%)Z u),
W ar) T\ree) T\ax) oy

779. Uyugnmgh;’ tph

y 0z 0z
Z=Xy+ ) wujw x&+yg=z+xy:

780. Uywgnigh)” tiph

2_ 2 ldz 10z z
z=y@), npppbin u =x°" - y°, wyw ——+——= .
x0x yody y?

781. w) Qupbb z= x? —Sy2 $nijghuyh wdwbgyuip My(2;1)
tipnid OX wnwbigph htap 30° whilynih Juiquinng L ninnnipjunip:

p)Sunnyby z=x3\/y3 Pmblyghuyh wdwbgyubbpp Me(-2;4)
typnid OX wnwiligph htap o=30°, 45°%, 60°, 90°, 0° whlymblkp
wqunn L nunnnipynibbtipny:

782. N\uipyby z = \/xz + y2 $miyghuyh wdwbgyup M, igpmd
oM, Ublppnph nupnnupuadp.
u-l) M()(3$4)9 Ml(5’6)? p) MO(-413), Ml(0’6):

783. Qb htpljw) dnibyghwliiph gpunhbbygpbtipn GoYwd
tipbpnud.

1) z=x*+y> =3xy, My(2;5),
2) z=4x" —y*, My(5:3),
3) z= lncosi, MO(E-;I),
y 4
4) u=xyz, M (-2;;3),
5) z=3x>+xy -y, My(-2;1):
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§5.Ubh LULDP oNPNUTHTULLELP DOAFLUSPILELD
ELUS/EUNFUILEN L

Mu(x0;¥0) Ygip z=f(x;y) $mblghugh hwdiwp Yngnud £ dwpuh-
dnudh (dhbhdinwh) Yy, bt gnympymb nibh M, agph wybyhuh
2ngwluyp, np o wyn 2powluyphl wuplubnn  papnp M(x;y)
(M#M,) Ytiptiph hwdwp {(x;y0)> £(x;y) (f(Xo;y0)< f(x:y)):

Uwpuhdnidh b dShbhdmuh Yapbpp Shwuhb Yngymd GO Epu-
pptidnuth Ypbp: Gpb z=f(x;y) $nilijghwb nhdtipkbgtih £, wyw
npw dwubwlh wdwbgyuibtpp tpuyppbiinudh Yhgpbpmd hwjw-
uwn Ll qpnjh.

of (x03¥0) -0 of (x93 ¥o) -
ox ' dy

Yhptiptitghih $nibyghwibbkph hwdwp wju yWuydwbbbpp tpu-
ypbdnudh wihpuwdbop wuwydwbbtp Go: Wu wyuypdwbbbpht pw-
Jwpwpnn Ytptpp Yngynud Gh wipughnbwp Yhpbp: Quuwjtpybbp
tpuipptidnidh pujwpup wuwjdwbp uipughnbwp Ytptph hwdwp
(tpynt thmhnpuwlubh ntiwpp):

Thgnip' My(x0;¥0) Yipp uqpughnbiwp Y £ Lpwbwytbp.

0:

_ 9% (M,) B 3% (M,) Co (M)
x? dxdy | oy? .

bpl A=AC-B? >0, www z=f(x;y) pniblyghwb M, Ytypnud
nibh tpuyppbidmd, plin npnud, A <0 gliypmud® dwpupdniy, huy
A >0 ntwpnud dhihinui: bph A = AC-B? <0, wwyw MU tpu-
pptidnuwdh Yl sk Gpb A =0, www whpp E Yunpupt) (pugnighs
nwnuwiblwuhpnipynbbbp:

Qnpdlwljubnud hwwh wwhwbeymd t qunbby z=f(x;y) $nily-
ghwjh tpuppbdnuddbpt wyb wwjdwbh ngbypmd, bpp x W y
thnthnfuwubbbpp pudwpuwpnud G bwb @(x;y)=0 hwjwuwpdw-
Op (YQuwh hwjwuwpnud): Wuwhuh tpuppbdnudbpp §ngdnud bb
wuwjdwbwlwl: Mwypdiwbulub tpuppbdnidbbpp quptym fubnhpp
pbpymu k

A

F=f(x;y)+A@(x;y)
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1igpubidh pmblyghuyh unynpuwub tpuyppbdnmdbbpp qubbiin
mphl, npptin A-U wbnpn) gnpdwlhg t: Lwgpubdh $nilyghw-
hwdwp Epuyppidnuih wihpwdboy wuypdwbbbpb to.

(of . ¢

—+A—=0

ox  ox

3 of +7na—(p =0:

dy  dy

o(x;y)=0

wdwbwlubd tpuppbdnuih pwjwpup wuypdwb E Lwgpubdh
nbyghwjh tipypnpn jupgh nhotiptiighwih

d’F = F:zdxz + 2F, dxdy + F;zdyz
wlp (X0, Yo) uwpwghnbwp Ypmd, btpbt dx-p U dyp
x (xo’ Yo )dx +Q, (xo, Yo )dy =0 hwjwuwpnipjuilp pwjwpuw-
n wijuwh thmhnhwywbbbph judwjuluwb watkpb to:

Gph d’F>0 nbbbp yuwydwbwlub dhbhdnud, d’F<0 wwyj-
10wju dwpuhdnud:

784. Qunlb htipljwy $mblyghwbbtph tpuyppbdmydbtipp.
l)z=x2+xy+y2—3x—6y, 2)z=x3+y3—3xy,
3)z=x2+xy+y2—2x—y, 4)z=x4—2x2+y4+4xy—2y2,

5) z=x’y*(6-x-y), 6)z=%xy+(47—x—y)(§+y],

4
7)z=xy+§9+g,(x>0,y>0), 8)z=1—\lx2+y2,
X 'y

9) z=x>+ xy+y2 -4Inx-10lny, 10) z= xyln(x2 + yz),
11) 2=(5x +7y=25)e X ) 12) z=(x2 +y2)e *),

13) z=sinx +cosy +cos(x —y), tiph Ostg,OSysg,

14) z=sinxsinysin(x+y), iph 0<x<mn,0<y<m:
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785. Quplby htipywy pmbyghwbtiph ywpdwbwlyuwb tpuppt-
dnudtbpp.
ARy

X 1 1
=x’+y) bph —+<= 2)z=—+—,tpl x+y=2,
)z=x"+y", tip 273 ) . P y

3) z=2x+y, ipt x*+y’ =1, 4) z=xy. bph x’+y’=2,

I 1
S)z=x+y.biph 5+—=
X

’

N | —

6) z=-xy, tipt 2x+3y-5=0:

786. y> =4x wwpwpnih Ypw qupbby wyb Yapp, nph htnwyn-
pnipymbp x-y+4=0 ninnhg wikbwthnppl t:

787. x% —y? =4 hhwbtppnih Ypw qupiby wyb Ytpp, nph htinw-
Ynpmipynibp A(0,2) Ytphg thnppugnybb t:

788. x? +4y2 =4thyuh Jpw qupbt) wyb Ytpbpp, npnbp
2x+3y-6=0 mnnhg mibtl wpwybjugnyl b bjuquqgnyl htinunn-
nni@ynibibitip:

789. 1. Uywugmghy, np iptk n21, x=0 U y=0, wuyw

x"+y" >(x+y)n )
2 2 )
Lndb] npytiv yuwjdwlwyuwb tpuypptdniudh ppbnhp:

789.2 Qunlb) a b b pytipp y=ax+b Quhijwdnpjul ntiypniy,
tiph nhypnuibtiph wpnyniubpmd uypuigy by £ hbplyuwy wnynuewyp.
w)

x |1 2 3 4 5
y |2 |49 [79 [11,1 {141 |17

P

5
y 129 |61 |92 |11,8 |16




QLNFIv VI
hLSEA-LULLED

§1. ¥LALNS PLSEALULLELR

1. Vwpibwlpuh $rubijghme b whnpny hbuphkqpuuy: bh-
nlkgpuiwh hpafhoulpuh pubwiliipp

F(x) $muyghwb Yngynmd t y=f(x) dnbyghwih Gwhbwlwb
$miuyghw X \phpnypnuy, tph.

F'(x)=f(x) jud® dF(x) =f(x)dx, xe X:

Wikt Jh wbpbnhunp f(x) $nbyghw mbh wigbpe pwqunt-
pjwdp pupphp bwhbwiub pnblghwabp, npnbp hpwphg yup-
ptipynud G hwugunpni gmdwpbijhny:

Ept F(x)-p f(x)-h Gwhpbwljwbb £, wyw Fx)+C nibyghwb,
npptin - G- Juiwjwiwd  hwupupmbt E, Onybytiu - f(x)-h
Owhibwlubb t, pwbh np.

[F(x)+C] =F (x) =f(x):

f(x) $muyghuyh pnnp bwpbwjwbbGph hwdwhdpnip)nibp
Ungymud b f(x) dnibghwih wbnpnp hpptigpuy b bpwbwyymd k
htyplywy funphpnubihony’ If(x)dx:(l]uu;hum[, uvwhiwbdwb hw-

Jwawyb’ jf(x)dx =F(x)+C & F(x)=f(x):

Winpn) plnptigpuih hupynipymbbtipp.

L [[fx)dx]'=f(x) Yud d[f(x)dx = f(x)dx :

Il [F(x)dx =F(x)+C qud [dF(x) =F(x)+C:

I, faf(x)dx =aff(x)dx, nmptin’ a -0 hwuypuyntd t(a #0):
V.l 026 00]dx = [f00dx [ 0dxc:
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Pluptigpdwh hhdbwlwb pwbwalbpp.

g
1. Iu“du = "
o+

T jl-dx = Idx=x+C:

+C,a#-1:

N

Iu_'du = J.EiuE = ln|u|+C:

u

Ia“du =2 Lc:
Ina

w

w

g Ie“du =e" +C:

»

Isinudu =-cosu+C:

5. Icosudu =sinu+C:

du
6. =tgu+C:
J-coszu
du
7. =—ctgu+C:
J‘sinzu
1 1
8. [— du — = —arctg— +C———arcctg +C:
u’+a* a a a a

9. I 2du > =l|nu—a +C:
u< —a 2a |u+a

10. I\/_—arc51n +C——arcc¢;—+C
11. J'r_u —

Wu  pwlwdlbpmd  a-0 gpuiwld  hwupuapmd £, hul
u=¢(x)-p’ x wilwh hnthnhwluwih ghdtpkbghih Pnilyghu
(3du = (p'(x)dx):Umuﬁmqnpwu;hu, tiph u=x, wyw wpugynud tb
hinpigpiwl ywpqugnyb pwbwalitpp.

a+l

X 1
x%dx = +C, [x7'dx = [—dx =In|x|+ ¢ Wwyl:
] TGl I~ Ix| |

nju++Vu?ta?[+C:
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Wohpwdtown E hholy.
u' u'dx
J.:dx —ln|u|+C, ’[_ZJJ =vJu+C

hwjwuwpniembitpp’ npuytiv hwiwywypuuppwd wdwbhgiwh
pwbwdbtph hwjwnupadnud. npubp npnp ntypbpnud wpuwqug-
mud G0 hwpuplyp:

Uptilip hinpigpuy hupytpm bu dh Jwdinb.

tipb If(t\,dt=F(t)+C, wwyw J'f(ax+b)dx=§F(ax+b)+C:

Wuntinhg &y’

Isin kxdx = —l—coskx +c, Icoskxdx = lsin kx +c, Iekxdx = iek" +c
k k k

L wy e

Nwéwhr higpligpiwd pwbwabbpp Yhpwntm hwdwp Gwpe
hwply £ Yunpuiptiy, wjuybiu ngwd, wppuinphsp nhdtipiighwih
Upwbh pulyy pubbne gnpdnnnipejnibp: Yinpny hinpiqpuh wow-
ohl hunpynipymbp

f(x)dx = d( jf(x)dx) ,
gnyg L yrwihu, np wyn gnpdnnmpynibp Yupupbjhu nhtipto-
ghwih GowGh pwl uypugynid t f(x)-h bwhibwlywbp:
Ophbwly
dx =d(x +c¢), adx =d(ax +b), e*dx =de”,

4
2xdx=dx2, cos xdx =dsinx, x3dx=dx7-, idx=ﬁnx,
X

21 dx = darctgx, x4dx = ldxs, _&x =darcsinx,
x°+1 5 1—x2
dx X . .2 .
S— =digx, =dtg—2—, 2sinxcosxdx =dsin“ x Lwy|0:
cos” X 200825

Wuwhuny wpypwnphsp nhdtipiighwih tpwbh puy puibtinig
Gupwpynud b wppuinphsh hipligpnud:
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Qupuepbiy hiypigpmud (1, 2, 8, 9, 10, 11 pwbwalkip).

d
790. j(4x~‘—5x2+9x—2)dx; 791. j—’;
X

792. f(ax2+bx +oydx: 793. jx3(3x2—5x+2)dx;
794. j(3+2x‘)2dx; 795. 5\/ dx;
796. j%/?(l—ﬁ)dx 797. J{J_+J }1
798. jJs_xdx; 799. j oot
X
3 2
800. js"—+42"—3dx; 801. J'(5x+2)4dx;
X
802. jﬂ? 803. jJ2+5xdx;
(3x +2)
dx 5x2dx
804. ; 805. |————;
IJ2—3x I(x3+2)2
806. jx3(4—5x“)5dx; 807. J’xZJ4x3+3dx;
808. jsx 7x? +8dx; 809. I(x2—3x+l)'°(2x~3)dx;
T s 7
810. j—"—dx; 811. J’%/I(3x3 +5)3dx;
4 2
3x 4
2-41-x? x?
812. J’——dx; 813. dx;
l—x2 l+x
3
4. [ g1s. [25 e j——(zm“3) dx;
3x xInx
2
817.j dx . g1g. (XX gpg [2XTdx,
2+5x 5-x2 4x3+5
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820. [ dx 1. | dx

-y IR
X 2x
822. [~ dx 823, I3e 1
5+e* 4+5¢°*
824. jsinsxcosxdx; 825, j\/sinxcosxdx;
826. I(zsi"£+3)2cosldx; 827. J'_ﬁﬂ"d_x
2 2 3+2cosx
328, [S T Xy, g29. [PS082X,
e* +sinx 4—3sin 2x
830. [ dx — 831, Ith;(dx;
(2-3tgx)cos” x cos2 5x
dx 4cos xdx
832. ; 833, [—SOSXX
J.(4+tg3x)cosz 3x Im
2.._.
834, [ 835. 22y,
sin X 16— x
dx
836. ; 837. .
'[ix2+6 J[4—+3 2
838, [, 839, | dx
7- 9x 2—3x2_
3
x~dx
840. - 841
hess e
dx
842. 843. |— —
IXVX - J,/x(l+x)
dx l_arccoszz(—
844. r———— 845. I dx’
o T
846. Ismxcosidx 847, j dx
2-sin” x x(4—In? x)
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Uunpupt gnigswyht $nitilyghwbbiph hipbgpma.
X

848. js‘e‘dx; 849. js edx:  850. j3e5dx;
dx . Ix R
851. jeh, 852. j(e +3x)dx;
X% x o x
853. j(e2 —e 2)dx; 854. j(ez —e 2)2dx;
855. r‘\/e—"dx 856. J'(ex —e™)}dx:
857. J‘ec"“sinxdx; 858. J‘es""‘cosxdx;
. Jx
859. sze"dx; 860. Ie‘/ijx;
X
1
eX
861. I—x—zdx; 862. %
3 2x
863. j4"4 dx; 864. | °  dx;
ex ezx +3
4x tg3x
+
865. J'e . 3 dx. 866. J'5623 dx;
e cos X
COSX i Inx
867. jwdx; 868. J'5 3 dx:
eOS% 4 4 X
dx
869. jx(l—x)“’dx; 870. _,f :
Ix+1+/x-1
X —1 a+x)?
871. X, 872. mdx

2. bluphgpnid plnuwngplwb jud hnphnjpuwljubp thnhou-
rhbhdwb kyuwhwlyny

bhlyptgpdwh Jupunpugnyb dkpnnbtphg dkyp thinthnjuwljw-
Uh thnjuwphbdiwb dbpngb £ Wuybu, Gpb’
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jf(x)dx = F(x)+C, wuyu.

felpwle at = Foe) +C:
Wuyptin  Ghpwnpymd £ f(@(t)) dniblyghwyh qnyniejnibp,
f(x), o(t), @ (1) Imliyghwdiph wbpinhunpnipynbp:
¢ dnblyghwb wphuunpnid Ghp pyppt wybwtiv, np f [(p(t)](p'(t)

Pnibhghwb htnptigpiym hwiwp wybth hwpdwp (hth, pub f(x)-p:
Lotilip inwbintbwgwthwlub phnunpnuittph npny  quutip.

w) et hiypptigpuijp wupmbwymy k va? —x? wpuwhwjnne-
pjmbp, wuw hwpdwp ©opbnunptp x =asint(Jud x =acost),
wyn nliypnud

\/a2 —x%= \/a2 —a’sin’t = a\[l—sin2 t= a\/l—cos2 t =acost;

p) tpt hUuphgpuwip wupmbwymd b v x2-a2 wppuhwppni-
pynibp, wwyw hupdwnp £ ypbnunpl) x = asect, npiptinhg.

w/x2 —a? =\/azsec2 t—a’ =a\/sec2t—-1 = atgt;
@) bpb hypbgpup yupmbwymd Vx?+a® wmpwhwppni-
pymilp, wujw hwpdwp £ pbnunpb; x =atgt Jwd x = actgt, nnp-
ptinhg.

\/x +a’ = /a tg t+a —a\/1+tg2t =asect:
873. bnpbkgpt)” Yunpupbing tpqud ptnunpnuibbpp.

2
1. I x“dx x3—-3=t;
x°—6x>+13

.j‘-\“an ———dx, 1+inx=¢;
X
3 dx . x—l'
xvVx>2 _2 t’
I xdx t=+x+1;
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5 I—Cs)ﬂ— t =sinX;
V1+sin® x
x“dx
6. 2-Xx =t;
f—
Xsdx 2
7. , 1-x° =t
I’l_xz
8. jx5(2—5x’)3dx. 2-5x% =t
9. Icoss x+/sin xdx, sinx =t;
I Jic(tlg;/:) t =arctgvx;
11. I sin 2xdx cos’x=t;

v3-cos® x
12. |——m—, Inx =t;
IX\/4—]n2X "

13. jxdx—ldx, vx-1=t
14. Ix’e dx xt=t:
874. Swpdwp phnunpnud junpupbinyg® hwpybty htplywy ho-
pligpuiplitipp.
L 1+x (arcsin x) dx;
1+ ‘\/— 1- X2
e
3. dx 4.
Iw/e"+l jx«/2x+
dx sin xdx
5. ; 6.
I w/e" - I \/cosx

ol e

ol s

142



dx e*dx
9, |———; 10. :
'|.)(33\,/1+x3 3+4e*
2
11. .dx ; 12. J‘—x—dL,
sin2x (xz+l)2
13. \/az—xzdx; 14. jd—x3
(a2+x2)5
2
5. X “dx :
\/l—-x2

3. Uwulipniy hlupliqpiwh knwhwly

Bpt u=u(x)-p b v=v(x)-p nhdtiptughih pmbyghwibp bl, wyw
npuig wppunpuih hudwp nbbbp” d(uv)=udv+vdu, npt hb-
\phigpbny, Jupubwbp

judv =uv- J.vdu :

Wju pwlwdlp Yngymd bt dwubtipny hpbgpiwb pwblwadl:
Spywd hiyplgpuith Gunpiwdp wyu tnubwyp Yhpwntine hwdwp
ytyp b jupnqubw pinhinptigpug wpgpwhwjppnpymbp yppnht
tpynt wmpunphstibph' npnbghg dbyp thwiwybing u-ny, gnwp
dv-ny:

Gpptdl Yuphp £ {himd dwutipny pypigpiwb pwbwalp Yh-
pwnt] hwonpnwpwn th pwbh wbqud:

Uutithg wprynibwytiyp Yhpwendbbph wyb nhiyptpnud G, Gpp
pbnhbyptgpw)  wppwhwppnipjub Jdte npuybtu  puqdwuunp-
Yhsutip Yub gngswyhl, (nquphpdwywi, tpwdlpynmbwsuthwlwb
U hwjwnuwipa towbynibwsuthwljuwb dnblyghwbbtp: Ogyppuljup £
hhoti}, np x"¢”, x"sinx, x"cosx i bljghwbbipp hinplgptijhu npybu u
whuyp t Jbpghl) x"-p, huy x"Inx, x"arctgx, x"arcsinx $mblyghwbtiph
nbwpm Inx, arctgx, arcsinx nbyghwbtipp:

Uwubpny  hlUyptgpdwb  tnwbwyny  hwogly  htaplguy
hinptigpuybitipp.
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875. J’xcosxdx; 876. J'lnxdx; 877. jxlnxdx;

878. jxexdx; 879. szsinxdx; 880. Ixzcosxdx;

881. Iarctgxdx; 882. Ix3ln xdx; 883. jarcsin xdx;

884. IxsinSxdx; 88s. Ixarctgxdx; 886. Ilnx

887. ."arcsinxdx; 888. Iarccosxdx; 889. Ix edx;
X2

890. jarcctgxdx; 891. j(5x—2)e3*dx;

892. [(4x—3eax; 893. [— xdx 894. [xsin® xdx;

cos?x’

895.

7]

Ix arcsin xdx; 896. |e* sinxdx; 897. Ie‘ cos xdx;

898. Ie“" sin bxdx; 899. |e** cosbxdx:

4. MNughnbuwy nibjghwdlipp hliplgpnidp

Ept P.(x)-p n-pn Jupgh pwquuinud t, hul Qun(x)-p° m-pn
Yuipgh, wuyur’
P (%)
Qm (%)
Unypnpuilp Yngynuwd £ pwghnbwy $nibhghw: Gph n2m, wuwu
R(x)-p Yngynud £ wbljulinb pwghnbiw Ympnpuy, hulj n <m nhiyg-
pnud Yuinbuwynp: Wahwind pwghnbuwy Ympnpulhg Yupbh k
pwdwbiwb dhongny wbowptip unipnng dwup

R(x) = M(x) + &)
=Mt Qn(x)’
nppbn” M(x)-p puquwbnud t, htipllwpwp, gpuw hinplgpmidp
ndjwupmpynb sh bhpluyugind, huy r(x)-p (k<m) dbwgnpnb t:
Wuyhuny, guijugwd nwghnbiwy $nidljghuh hplgpnuip
hwbgnmud t jubnbwdnp nwghnbwy Ympnpwyh hpligpdiol, npl,
bp htipphb, ptipynud £ wwpq Ympopuwlbtiph higpligpdw:

R(x)=
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Mupq (uppulub) ymponpulitpp mbsb hbgbgywy phupp
L L ,me N; . ZAX+E—-—,neN;
(x-a)™ (x“ +px+q)"

b’ % —-q<0, wyuhlpl' x’+px+q pupwyniuh inwinuw-

snibh hpwwb wpdunpbtip:

Pninp niypbipmy bty Gbpwnpynud k, np A, B, p, q, U a-0 hpw-
i pytp Lb:

Unwohl yphuyh wwpq Ynpnpuybbpp hipligpynd Go 1. L 2.
hwalcipny.

w) m=[I= IAdX —A1n|x~aI+C,

p)m>1:>J' Adx =- A l +C:
(x-a)m m- l (- ml

8nyg quwbp IT yphuyh wwpg l.mqmpujl{h htnptigpiwh Gnubwln
1 nypnud: Mibkbp.

2
X +px+q

Swidwiphsnud whounpbiip huppupwph towbnuih wdSwWbgw)p.
Ax+B =(2x+p)%-¥‘+B:

Wuyhuny.
J‘#i]i_dxzéj‘%ld +(B__)I___
X“+px+q 2 x“+px+q X“+px+q

d(x+g)
J‘d(x +px+q) ( éB\I 2
T2y +px+q J x+2)2 4 fq_—_[f
2 4
- 2x
2B A]; arctg XIP 4.
Jaa-p \/4q p’

Lotilip, np n>1 npliypnud tpypnpn phwh wwpq Ynpnpuyp
nhgpynmid £ winpunupd pubwab h oglnipjudp:

=%ln(x2 +px+q)+
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dx X +2n—lJ )

J = :
n+l y 2°n
(x2+a2) 2na'(x2+a2)n 2na

n+l =

Swizyti htplyywy hﬁmhqnwlﬁhnn

900. —d3"+7 r‘ Fix. 902, ——d3" 4
5 x2-2x-3
903. 904, [— 2
J.x “Tx+12 J‘x —2x+2
dx dx
905, [— & 906. [———!
Ix3+6x+25 Ix~—8x+1
dx
907. 908. [————
I9x —6x 8 I4x2-4x+17
909. j . 910. j;”‘—"'dx.
5x% +10x +37 X“—4x+8
x+5 dx
911. X, 912. [— "
Ix +8x+25 I(x2+2x+10)2
913. j 914. J'Md
(x +l) -5x+6
915. j X +2x 916. j dx dx
X~ —8x+9 (x+D(x=2)(x+3)
dx dx
917. jx —9x’ 918. jx4+x2,
919. J- X +2x+6 X, 920. I
(x=D(x=2)(x - 4) x(x+1)
921. j"3—”dx, 922. j'———-
(x=1D)"(x+3) (x 2)(x +1)
923. j’ f" - 924.
X+ X —X
925. Ii-dx, 926. dx :
x3—x%+x-1 x*-16
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5. Enublyniiwgsunpulpul, prubijghwblph dh pwbh -
inh hlupkqpnidp

Gpt R(u;v)-U Gpynt hmhnjuwjuwih nwghnbw) $mdyghw E,
yu R(sinx; cosx)dx nhdtiptughwh hipbgpnudp phipymd L

ighntw] $nibyghwbiph hyptigpiwb’ tg%=t thnthnfuwwbih

1fuwphbdwdp:

Bpt R(u)-U u-h pwghnbw) $nmibyghw t, wuyw R(sinx) cosx YJud
cosx)sinx $pmulghwtbiph hinpigpmdp pbpynud © nwghnbuwyg
nbyghwbtiph hinptgpdwl’ wdbtih wwpq sinx=t Jud cosx=t
1hnfuwlwbh thnfuwphbdwdp:

jsin ax cos bxdx, Isin ax sin bxdx, Icos ax cos bxdx

mbqpuibtpp hwpybihu ogypynud tp Gonwbyyntbwgwthwlwb
nuyghwibph wppunpyuip gnudwph Jpwdtine pwbwalittiphg:

Yuipuipk] hinpgpnud.

927.[ & : 928.
4sinx +3cosx +5

3+55mx+3cosx

f
929. J' SINX_ iy s 930. j :
P —

I-sinx

sinxcos®x
931 j‘dx ) 932. smxcosx
) cos3x’ 3sin? x+4
3
933, [———dx; 934, J’d’: ;
sin“ X +sinXx sin” x
5 2
935. [ Fdx; 936. j“_g X dx:
sin x sin x
3
937. j—ziz—; 938, [“=-Zdx;
sin“ xcos” x sin” X
939. j——E‘T; 940. J'sin3xdx;
sin X cos” X
941. Isin%dx; 942. Icostdx;
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949.

951.

953.
955.

957.

959.
961.
963.
965.

967.

970.
972.

974.

976.

. J-cos;dx
. Jctg%dx;

i)
sin” 3x

J' 5x 2dx )
sin2(4—x3) '

sin+/5x
P

J‘Sx“ctg(x"’)dx :

dx;

J-sin4 x cos xdx ;

J' sin 5x
v2+cosSx

Isin Sx cosSxdx ;

dx ;

jsin 2x cos7xdx ;
J.sin 4xsin7xdx ;

jcos 8x cos10xdx ;

944.
946.

948.

950. j

952.

954.
956.

958.

960.
962.
964.
966.

Icosz xdx ; 968. sinzgdx;

Ism xdx ;

Ism X cos> xdx ;

jsm xcos’ xdx ;

Icos xdx ;
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971.
973.

975.

9717.

Ithxdx ;

v

5
cos”“ 5x

J- xdx
2

cos (l—xz)'

|
cos—dx
X .
)

X2

Ixztg(x3)dx ;
J‘e”‘ sin(e*™)dx ;
I(xz —sin3x)dx ;
Isin3 lcosidx ;
2 2
Isin 3x cosSxdx ;
Isin S5xsin3xdx ;
Icos 3xcos2xdx ;
Isinz xdx ;
969. |cos? idx H
4
.[sin3 x cos? xdx ;
jsin3 x cos* xdx ;
.3
J-sm X dx:

cos* x
.2 2 .
sin“ 2x cos” 2xdx ;




978. Isin“ xdx;  979. |cos* xdx; 980. Itgzxdx;
981. Itg3xdx; 982. ctgzxdx; 983. CIg3xdx;
984. J‘tg“xdx; 985. Itgsxdx; 986. ctg4xdx;
987. Ictg5xdx:

6. Mupquqnyh hnwghnbiuw Puibljghubbiph phphq-
pndnp

Unynpwpwp wupq hpwghnbw] wppwhwppnipnibbtph hbd-
phgpuibtpp pwppwliuwb  dbwhnpumpmbbbpny  Jwd  hb-
phgpdwl qpwppbp dbpngbtpng ptpynud GO winnuowlughb
hinptignubtiph:

x™(a+bx")Pdx...nhduptiighwibbipp (m, n, p pYtpp nwghn-
Owy LO), npnbp Yngymud GO phUindwlubd nhdtipkbghw;bbp,
huptignynid G0 dhuyyb htplywy nhiwypbpnuod

w) tpt p-U wipnne phy b, wwyw phindwljwb nhytptibghwh
huyptignnudp  ppymd £ pwghnbw) $mbyghwih  hiypligpdwd

=Kx phnunpnuiny, nmplin k-0 m b n wiypSupth Ynypnpuy-
Obph hwppwpwpbtph wdtbwhnpp pinhwimp puquwyuppl
L,
m+1

p) bpb rhyl £t wdpnne, www bwlwlymd bthp

t=¥a+bx", npptin’ k- p whlypunpbih Ympnpulh hwjpu-
nupb E,
Q) blab +l +ppehyl £ wipnng, wyw t=¥ax™+b, npyptin’

k-Uup Lu[llmfnuqlh[h Unipnpuyph hwyypupwnt &

Swyt hbmluwl hlptigpuybitipp.

988. f xdx

989. j =

\/3+l2x 4x*? x2 +8x +25
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990. jﬂdx;

Vax? +3

992. j x4

6x —x%-8
dx

x2—x+1

dx
V2x—x2,

998. j Sdx

v9-8x — 7x2’

6x+5

Vox? +l

1-2x

vi- 4x?

x3dx
\/(x +l)

x> +x dm

994.

996. j

1000.

1002.

1004.

1006.

x+1

¥3x+

x+1

xvx -2
IVL+y;?;

xdx

Vx l+l

1008. J'

1010.

dx;

1012.

1014. j

’——_dx,

ot I3+2x x?

2x — 1
J;x +8x +1

I 5x+3

993, J’

99s.

V5 +4dx —4x?
dx
V3x2 +5x

2dx

Vv3-2x - x?2

x+3 dx:

J'\/x2+2x

I 2x -8

VI-x —x?
dx

Ix4x2+x+l;

Jx
1007. ."(17‘/_)(-—)2 dx

1009. x+/1-xdx;

997. j
999 j

1001.

1003.

1005.

1011. j dx

#l+x4’
x> d
X
Va-x?
ﬂ
I l+#; «
Jx

1013. j

1015.
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§2. NLAC3UL PULSEALULLED

1. Npnpyywy hlopkgpupk wwhdwbnolp. Umnopnb- Luyp-
hhgh pwbaudlin

Yhgmp' y=f(x) uwhdwbunhwl $nlghwl npnpqwd t [a;b)
hunpjwdh Ypuw: [a;b]hmqu[mbg xi Ytyptipny yppnhtilp Judwjw-
Jwl n dwubiph: Lowbwtbp

a=Xy<X;<X;<X3<..<Xp|<X,=b,

n-1
Ax; =x; —x;; 1=12,..n,

A =max{Ax, }:

Wkl dh [x;;;x; Jhwgwdhg Yipgty dh & Y, Juqibhp
htiyplyun gnudwpp.

S, = zf(&.,i JAx; =1(§)Ax; +1(§;)A%, +...+1(§,)Ax,

i=1
S, gnuiwpp Yngymud bt y=f(x) pmblghwih hipbgpwiuhtb
gnudwp [a;b] hunpywdnuy:

Ept gnympymb nibh }ljnz) S, =S Jupowynp vwhdwbp, wblwju
-

[a;b] hunpwdh ppnhiwh bnwbwlyhg U & Yaptph piyppnpne-
Uhg, wyuw f(x) $mblyghwb Yngynud t hinptgptih [a;b] hunpyjuw-
onud, huly S Jtpowynp vwhdwbp® y=£(x) $nibyghwyh npnyyuy hi-
ntigpuy [a;b] hwipguonud b bpwbwymud £ hpljwy uhdyniny.

n b
lim ;f(é,)Axi = ajf(x)dx :

a U b pytpp Yngynud tb hinptigputh, hwdwwunpuuohiuibw-
pwp’ upnphb b yephl vwhdwbbbp:

Yhgmp' f(x) dnibljghwb whpbnhunp & [a;b] dhowljuypnd:
Wju niypnud uyn dhowluypnud gnymeynib nibh {(x) mbyghwyh
wbnpny hhptigpup
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If(x)dx =Fx)+C,

L 6hoy £ htplywy pwbwalip.

b
[£0dx = Foof} = F(b) - Fa):

Wu pwbwalp Ynggmy £ Lynupnb-Lwypihgh pwbwal: Wuyh-
uny, [a;b] hunpwonud wbpunhunp f(x) $nibljghwyh npnojuy hi-
tignwp hwpybim hwdwp bwh qpimd Gbp npu twhibwlwbp
(whnpny hinplgpwp), wuyw pinunpnud vwhdwbbbpp:

1016. Swpyt) htiplyyw npngyuy hUiyplgpubbpp.

c)

3 2 2
1) jx3dx; 2) J.xzwfx3+ldx; 3) j'" xdx
1 0 ¢’ X

Supdty htaplywy npngjwy hptigpubtipp, Lotnyg  npnojuy
hinpigputh vwhdwbnuihg' hnpligpdwb showwyph yppnhnudp b
Ytptph pbppnipymbp unpupbing hwpdwp Gnubwyny.

2 1
1017. Ixzdx; 1018. I2"dx;
-1 0

! dx i
1019. Ix3dx; 1020. [, « :
0 X

]
N
=

1

Swpyby htaplywy npnpjuy hiptigpuiibipp Lynupnb-Luypbhgh
pwlwdlny.

1

8
1021. fxzdx; 1022. J'(«/?f +3x2)dx;
0

-2
n

T 2
1023. |sinxdx; 1024. |cosxdx;
0 n

2
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1
1026. j(3x -2)%dx;

5
1025. j
0
2

5
1027. jzh‘"“dx, 1028. jJ4+xdx;
X

-1

1
1029. J'd—"; 1030. jmh—xzdx;
0

510+3x)°

4
2 )
1031. IJXT 7= 1032. wa/x +9dx;
12
In3 xdx dx
1033. N 1034. ;
e'[ X j\/l+)(
m22
e dx
1035. ; 1036
1
1037. j 1038. jxe dx;
o X +4x+5 o
e’ ¢
Inx -1 dx
1039. 1040. |————:
Ix«/lny !x(l+lnx)

Npnojwy hnptigpuh ogimpyudp hwpyly htplyw) vwhdwb-
utpp.
1041. lim(—l—+—2—+ +“—1),

noel n? 2 n2

1042. Iim( ! + L +..t+ L );

nsee\n+] n+2 n+n

1 1 1
1043. limn =+ +..+ ;
0 —eo (n2+1‘ n®+2° n2+n2)

1P 4+2° 4 . +nP

1044. lim

N—son np+l
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2. Vhwubpny] hlupbopuuinh knubhacp npngjuy hlupbgpiu-
h hwdueg

Gupwnpbiop’ u=u(x) b v=v(x) $mblyghwbtipp hptbg wdOWL-
gjwiltipp htiyp dhwuphb wipbnhunp &b [a;b] hunpwdnm: “THhdph-
phbgbinyg uv wppunpup® Yupubwbp. d(uv)=udv+vdu: binphg-
nphing wu pwbwalbh bpyne Ynndtpp a-hg dhigh b, Yymbkbwbp
Jwubipny hiypbgpiwd pwbwabp npnojuy hinphgpuih hwdwnp:

b

Iudv = (uv) " ']vdu :

a
a

Swpytip dwubipny hinptigpiwb tnuwbwyny.

a

1 . e
arcsinx
1045. Oj e dx; 1046. Ijxln xdx:
3 2
1047. Ix sin xdx; 1048. "-x.zcosxdx;
0 0
Rl ud
3 xdx . 2
1049, [-5; 1050. [xsin” xdx;
asinx 0
4
’ 3 ez]nx
1051. |x° Inxdx; 1052. |—=dx;
.f I
1 1
1053. Iarctgxdx; 1054. J‘xe“dx;
0 0
r
1 2
1055. Ie"xzdx; 1056. je“ cosxdx;
0 0
e 1 \6
1057. J]ln x|dx;' 1058. Iarcsin xdx; 1059. Ixarctgxdx:
1 0

€
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3. Pufenprelpralih hinpraphbinalp npnopug plhipliqruyni v

“Yhgnip' y=f(x) $miyghwll wbpinhunp t [a;b] hunpjwdnud,
x=@(t) (a<t<fB) dImbyghuh wpdtipbipp nmpu &b quihu
[a;b]hunpywdhg, piny npmus” @(a) = a, @(P) = b, fa;b] hunpwdnud
@(t) Pniiyghwl mbh whpbnhup E(t) wdOwbgjug:

Wju yyupdwbbbiph nhiypmd 6hog | htaplyu pulwabp

b B
jf(x)dx = jf[q;(t)}p'(t)dt:

a o
Suipytip hbgplyuy hbgpbigpubtpp” funpupbm] Gpduwd k-
nunpnuddtipn.

In8
1060. ABx—2 =t 1061. j dx _ fer+l=t
+‘\’3X 2 lnat"ex +1

2
2 Jx =t 1063. j\/ﬁ—éxdx, J16—6x =t;
Q0
1064. ]xﬁz +16dx, Vx2+16=t;
0
In5
1065. I\/e" —1dx, Vet -1=t

0
T
2 1
.4 . dx
1066. |cosasin” ada, sino =t 10467. ——TX—,x=lnt;
+e”
0 0
ki3
2 1
1068. [sin2xcos’ xdx, cosx =t;  1069. j ,x=tgt;
0 Lx 1+x2
NG}
3 Y
1970. f«/25—3xdx,J25—3x=l; 1071. j ! f dx X =cost
i X"
+
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Stgbjwy;  hogpbgpubipp hwdty  thmhnpuwlubh  hwpdwp
thnfjuwphbnudny.

1 a
xdx 2 / 2 2
1072. , 1073. |x“va“ —x“dx,
VS -4x 6[

0,75 In4 dX
1075. j

dx )
6[(x+1)\/x2+1’ ,.m/e*—n'

1076. Wywgnighy® tipt f(x)-n wipbnhunp £ [0.1] hunpjudnuy,

wuyw.
E m

1074.

2 2
w) If(sin x)dx = If(cos x)dx;
0 0
p) ]'xf(sin x)dx I rj.f(sin x)dx :
0 2 0

1077. Uywgmgh]' tpb f(x)-p whpbghunp £ [- ¢,¢] hupjuw-
onmud b gnuyq, wuyyu.

fl.f(x)dx =2]f(x)dx ,
) 0

4
huy tiph Yy, wupw. jf(x)dx =0:
-t

4. Ubpuljulpub plisplgpughilip

Glpwnptbp' y=f(x) $nibyghwl npnpydwd L [a+ oo) dhowluwyj-

pnud b gublugwd A>a pyh hwdwp hinpligpbih £ [a;A]huupL[uJ-
A

omud: Gph gnympnt mbh lim |f(x)dx uvwhdwbp, wyw

A—>+oo
a
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yngynud E f(x) $mbyghwyh wihululpul pinptigpuy fa+ oo) dhoui-
uypmd b bpwbwlyymd t hbyplyw; Yepy
A

+oc0

J’f(x)dx= lim [f(x)dx:
A—->+cua

a
Ept wyn uvwhdwbp Jbpoudnp L, wuw y=f(x) $nilyghwh

400

Yngnud & hpligptigh [a;+ oo) dhowuypnid, hull jf (x)dx hinphg-
a

pup’ qniquadtg: Nwiwowl gbypmd, tpb uyn uwhdwip wo-

ytpe £ Jwyd gnympyma smbh, wyn hbypligpnugp hngdmd L qpupw-
dtiyp: Liwb aung B vwhiwbynd &L wihuuipuob hinpbgpun bhpp
(— oo;a] L (—o0;+ 00) ﬁhgmlleghpmd'

.[f(x)dx— fim _[f(x)dx, J'f(x)dx— lim J'f())dx
—oo B—>+ooA
Wydd vwhdwbtbp wihujuwb hbgpbgpuy wybwhuh $nmbl-
ghwjh hwdwnp, npp [2;b] hwpgudnud uwhiwbwhwy gk
Yhgnp'  y=f(x) PInblyghwl npnpdud £ [a;b) Yhuwpwg
dhowluypmd, pbn npny’ xl_i)g}gf (x) = oo (wyu nbiwypnud x=b Ytypp

Yngymud k£ f(x) $niblghuyph tquyh ytp): Ghpwnptip bwl, np

guwbyugwd €>0 pyh hwdwp (0<e<bdb-a)y=£f(x)pmiyghwb

hiwpligpth b [a;b—e]hmtm[u]bnui: bpht  qnympymb nbh
b-¢

lim jf(x)dx uwhduibp, wyw wyb Yngdnud £ y=f(x) niijghuyh

£—+0

wbhhujwiwb hinplgpuy [a;b] dhowlwpm b Bywhwlymd k.

b b-¢
jf(x)dx = lim }f(x)dx:
£—-+0
a a
Wuyptin bu, tpb vwhiwbp ybpouninp £, wuyw wbhujuliwb

hbgptgpuyp Ynsymd bt qmgqudby, hwjunwl ghypmid pupw-
by
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Gpb y=f(x) $nibljghwjh tquyh Ytypp hwpguoh dwpu dwypb £
Yuud [a:b] hwypwodh bhppht ¢ Ytypp, wyw, wbhuulwb hnkg-
pwibbtpp, hwdwwywipuujuwbwpwp, vwhdwbynd &b hbgplgyuyg
alny.

If(x)dx— lim If(x)dx

£—+0
a+e

J’f(x)dx= nm{ jf(x)dx+ If(x)dx}

e—+0L a c+d

Sunnyb) higlyw wbhujuywb hinplgpubtipp.

1078. [ _a>1: 1079 i‘g—"d 1080. j xdx .
xIn? x l+x 1+x?2
1081. : 1082 j T, 1083 =
,h_x . 2 2, l+x
+oo
dx 2dx
1084. | ——; 1085. 1086.
_;[1""(2 J.\/l x?2 '[\/4 x2
T 2xdx
1087. Ie'3xdx; 1088. I . 1089. j ;
b 1+x X 242x+2
1
1090. j ——; 1091. jln xdx;
X" +x-2
+o0
1092. Ie_ax cosbxdx,a >0; 1093, Ie'a" sinbxdx, a > 0;
0
r r
2 2
1094. w) Ilnsinxdx; P) j'lncosxdx:
0
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SNtyppugmpty hplywy pypgpuniiph qniqudhymp nibp.

«2d +oo

1095. J' _ XX 1096. j &
-X +l 7 x¥x? +1
d m
1097. [=X. 1098. j dx;
lnx 1+x"
1099. [‘"C‘gx : 1100, [$252 40 n>0:
6 x"

5. Npnzuy hlupkgpuwh hhpwnnianibibilipp

w) Nwipp yunpybph dwybptuh hwpyndp.
Ept  Unpwghd ubnuip uvwhdwlwthwyywd E  ybplbhg
y =f(x)20wbpinhunp Ynpny, Ghppuphg OX wnwigpny UL

Ynnptiphg x=a, x=b nujhnbtipny, woyuw Ynpughd uvbinubh
b
dwtiptup npnpymd £ S = If(x)dx pwbwaliny:

a
COnhwinp npbypnud, bpp hwpp wunpytpp vwhdwbw-
thwlpwd £ y=f(x)by="Ff(x) (f(x)=f(x),a<x <b)x=a. x=b

gdtipny, wyw wyn wupibtiph dwytpbup hwgymad b hbgplguyg
pwbwaling.

b
S= 'ﬂfz(x)—f](x)]dx :

a
bpb wunpytpp uwhtwiwhwlwd £ 0=, =0, r=r(¢)
gotipny (Yngymu b Ynpwghd ublppnp), wyw npu dwlbpbup
hwpyynid £ hbiyplyw) pwbwdling.

r=r(y)
1(01 5
S= 5 Ir (p)do:

1
@,

0 P
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Qaplb ppuwd gdbipny uwhdwbunhwljywd hwppe wunplbp-
Obiph dwltipbubbipp:

2
1101, y = X=X

,y=0,x=1L x=4:

1102, x2=4y,y2=4x:

1103. y=x2,x=2,x=4.y=0:
1104. y =x? —6x,x=1,x =4, y=0:
1105. y=3-2x-x2, y=0:

1106. y=x2—6x+5, 2y-x+1=0:
1107. x2 -2y =0, x +y—-4=0:
1108. y=3x2+1, y=3x+7:
1109. y =3+2x-x>, y+x-3=0:
1110. y=x2, y=6-2x%:

111 y=x%-2, y=6-x*:

1112. xy=4, y+x-5=0:

1113. xy=6, y=7-x:
114, y = a’ , y=0:

x2 +a?

1115. y=Inx, y=0,x=1,x=e:

1116. y2 +8x =16, y*-24x =48:

x2

_—, y:_:
1+x? 2

1118. r> =a’cos2¢ (16vthulunp):
1119. r=a(l-cos®):

1120. r =asin3¢:

1117. y =

a

1121. r=2, Z<p<on:
o 4
1122. r =asin2¢:
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1123. r=acos3@:
1124. r=ae®, -n<@<m:
1125. Uwugmgti]’ tpb monghy wupytiph ppudwghdp d=1

(d=supMM,, npipin® M\M,—p wunpyuinud £ wunpytpht), wyw
wyuwnybtph dwybpbup pujwpupmd k.

S< —g wihwjwuwpnipjubp:
p) Unbinh tpiupnipjub hwoynudip

OnnpYy Ynpp y =f(x) (a £ x £b) wnbinh bpjupnipmbp’ y=f(x)-p,
wbpbnhunp nhdbiptibghh pmbyghw L hwpddmd £ hbgplgug

pwbwaliny’
b
L= ,/1+(f'(x))2dx :
a

r=r(¢),a<@<fuwntnh tpjupnpymbp, npptin’ () - wo-
nighwyp nhdptphiughih $mbyghw b, hwpgdmd b hbplyw) pw-
bwalny.

b
L= [Jri@+(' (o) do:
a
Qapit htplywy Ynpiph wntnbtiph Gpupmpeynubbtpn:
1126. y = xy/x, 0< x <4:
1127. y2 =8x, OSXS%:
1 5 1
1128. y=—x"—=Inx, I<x<e:
4 2

1129. y =Incosx, OSxS%:
1130. r=a(l+cos@):
1131. r=asin3%:

1132. r=a@p, 0<0<2n:
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¢) Myppdwl dwpdbh dwywh hwyynudp.
Unpwghd utinubh OX wnwbgph 2mpop wpymphintg wnwow-
gwd dwpibh dwywip npnpynud b htyplywy pwbwauny

b
Vznjfz(x)dx:

a
Cunhwinip ghypnd, x=a L x=b hwppmpnbbtph dheu
piywd dwpdbh dwywyp hwyyynud k.
b

V= IS(x)dx

a
pwlwalny, nppbin” S(x)-p wynp dwpdbh b x Yapmya OX
wnwbgphl ninnuhwjwg hwppniEjwl hunpm jph dwltptub E:
“Yhgmp' wwhwioymd t hwpdtp wyb dwpdbh dwywip, npb
wpwowlni £ y=f,(x) b y=1f,(x), (f(x)<f,(x)), x=a, x=b qdk-

nh dholt qiplynn hwpp wwyltipp OX wnwigph 2npg wyk-
|ng:

Apnbth dwjwip Yupbih £ nhpbp npybu Gpym ubinubw-
Jtpwtinh wynpnuihg Lunujgujgtub dwywybtiph puppbpnipymb.

V=r] Tl 000% = (£, 0?]
Qupbbp wyl Jwpdtp wamm, npl wnwowlnud £ yppjud qodk-

pny uwhdwbuwnhwipywd hwpp wwiplybpp wyyptiing Ynnpphbw-
yuwjhlt wnwbgpltiphg Wtyh onipgp.

w) OX wnwlgph onipon:

1133. y=sinx, y=0,x=0,x=m:
1134. y=x2+1, y=2x+1:

1135. y=x2+1, x=1,y=0,x=0:

1136. y=x2+2, 2x-y+2=0:
1137. xy=9, y=10-x:

1138. y =x° +4, x=3,y=0,x=0:
1139. y=+/x-5, x=9,y=0:
1140. y=vx-3, x=7,y=0:
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141 2+ X =1 1142, y2 =9x, y=3x:

a
1143. y2=9x, x2=9y: 1144. y2=4x, x2=4y:

1145. y
1146. y
1147. x? -y* =4, y=-2,y=2:
1148. y
1149. y

1150. y> = (x+4)?, x=0:

=xv-x, x=-4,y=0:
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Q- LNFlv VII
curesr

§1. (I U3PL CUrLLr
1. Shdbwjwb qunuthwpibp

St juw phuph wppuhwppnipynbp
+o00
a +ay+ag+..+a, +..= ) a,,
n=l
npphin a,, a,, a3, ... Uh npbk wbytipg hweonpnuwljwbnipyub whnud-
Utipl tb. Yngdmd t wbytipe owpp Jud wupquybiu Jwipp:
a,-n (n=1,2, ...) ngynud £ owpph n-pn winud Juwd pbnhwbnip
wlnud: Lywhwltbp. S, =a; +a, +a;+..+a, (n=12,..):
S.-p Yngmd £ pwpph n-pn dwulwyh gmdwp:
Cwppp Yngdnud b gmquibty, tpt S, hwonppuljwbnmpimip
mUh Jtpowynp S uwhdiwbp, wjuhbpl’
limS, =S.
n—oo
pun npmd S rhyp Yngynud E pwpph gmdwp:
Swppp Yngdnmd £ qpupwdbyp, bpl S, hwenpnuwbnipimbp
puwpwdt £, wyuhlipl S,-h uwhdwbp gnymipynib sntbh Juwd hw-
Juwuwnp koo

Unohh quiquidpupnijajiule hwyypubpop.

Npubugh 2wppp (hbh gmqudtiyp wbhpwdboyp £ L pudwpunp,
np Ve >0 pdh hwdwp 3 mbbbw ng =ng(e) phwlub phy wybup-
uhb, np ny-hg UkEd pninp phwlwb n pytiph b Vp phwlulb pyh hw-
dwp plnh nbbkbw

n+p

2.

k=n+l

Snp —Sa| = <e:
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Cuwppbph gniquipypnipyul vwhdwbdwh dheongny wuwpgby
typlyuy owpptiph gniquidhypmpjwh hwpgp b gniqudhypnipyub
tupnud qpiitip 2wpph gnudwpp:

1153.

1154.

1155.

1157.

1159.

1161.

1163.

1165.

1167.

1169.

[—y

Z—l—=-—l—+-—l—+——+ Ly
Sdn V1 2 3 AT

wo

S (=D =l-1+ -+ (=) +
n=l
Z 1 1156. Z——l—
p n(n+2) 1 (2n— D@2n+1)
oo (2 n i

= 1158. »'q",|q|<1:
nz=0 3) n=0
1+ (=1) ”( 1 1 )

1160. +—

; 2 Z= 2“ 3l'l
oo ,) _ (- -]
Y= L 1162. > n
o 2" “~(2n-1)>(2n +1)*
Z 6 1164. 2—2—
ol 9n +12n—- 5 =l 4n +8n+3
Z 5 3 1166. 2—6——
o 9n” +3n-2 :9n +6n-8
Z—-i— 1168. 2—9—
el 4n +4n-3 o 9n® +2In-8
= 1 gy

In| 1+—|: 1170. —
Sie1) >

=]
_I|_
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©co

1171. Uywgmgh| bpb Zan L an 2wpptipp gqmuquidtiyp &,

n=1 n=1

Wa,<c,<b,, wyu ch s>wppp qniqudbip k:
n=l

©o

1172. Uywugnighy, np Z—l—ymppn tpt p>1, gmquudbip wpp
n= ln

2. Cwpph quuquihypnipaule wlihprud bpip wyuydwhp

Epb wppp qmquitp E, wyw ngpw pbinhwinip winudp
agqpnud £ 0-h, hwljuwnwylb, anhwﬁpuﬂqhu wuwd, 6hoyp sk

Ophlwly’ Z J—zwnph hwdwp hg; f pwjg 2wppp

wpwuibp t.
Mupqty hbyplywy swppliph hwdwp wbhpwdbtoyp wwjdwip
pwjwpupjuw™d b, ph’ ng:
l oo
1173. anrctg— 1174. ) -
n=| n=1vn~ +1]

1176 Zcosl:
n

1175. .
Z,/(n-n—l)(n-l 2) ol

1177. Zarcsm—l—-: 1178. 2n-|

n=| "/; n=| 3n

3. rpwdpub whnpudhlipny swpplip: Lunquapdwh hwy-
bl

Pummrupduls wumuohl hwpypwbfiop

hgmp' ppduwd Gb (1) D a, (@, >0) L (2) D b, (b, >0)

n=l n=l

2wpptipp: bph a, <b_,n=12,.., wyuw (2) pupph qmqudiphypni-
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pyniihg htplimud £ (1) owpph gniquihypmpymbp, huy (1) swpph
upwipypmpynibhg htpplumud t (2) 2wpph yrupwdhgngenbp:

funnuypiwb  wnwehlh  hwppwihoh  oqimpyudp  uwwpqly
htiyplyuwg 2mn9bnh Juppp.

1179. ZJT 1180. Z—
n

n.,nn

1181. Z——i——- 1182. Z

S +1)? “n+l

| — Inn
1183. ; 1184. _

;2“ +1 rZ:; n’

— 1 — n+1
1185. tg—; 1186. ;

Z-: n %nz +1

= 1
1187. Z :
- 2n—-1

Punnumpbuh bplypnpy huwypwhpop
et gnynipnih nibh lim 2n - C(0<C<+4o0), wyuw (1) b (2)

n—oe D
owpptinp dhwdwdwbwy Gb gniquibtp Yud prupwdbiv:
Punnupiwb  tpypnpy hwppwthoh  oglnygyudp  wupqby
htplywy 2wpptiph Juppp.

— 1
1188. ; 1189. sin—;
Z\Rn+l)(n+2)(n +3) ; n
1 — 1
1190. arcsin—; 1191. ln(l +—-);
1192. (l—-cos—); —— 1193. tg—;
- n+l . = n

1194. ; 1195. ;
,,Z::,,/n(n+2)(n+3) Enzﬂ
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1
1196. 1197, ¥ ———;
Z\/n(n+l)(n+2) a=in+/3n + 4
o 3
1198. Z ; 1199. > Vn ;
n(’" n*’ st vn’ +2
1200. Zsin—zz
n=I n
Twujwdpliph huyynulipon

Gpbt npuwliwld winuwdltpny pwpph hwdwp gnynipynih mbh
gq<! hwuiqpupmb phy wjbybu, np hbs-np ne-hg dGd pninp n-tph

n+l

hwdwnp yplinh mﬁh <q wuwjdwbp, www wppp qniquidtp t,

_n

hulj tipt hlUs-np ny-hg UGS pngnp n-tph hwdwp pinh mﬁh LTI 1
wuwjdwbp, wyw 2wppp pupudbg k: -

Ept npuiuwl winudbtpny 2wpph hwdwp gnynipymb nibh
lim 2nst - = D Jtpowynp uwhdwbp, wyw D<I nphiypmd 2wppp
n—eo an
quiqudtip £, D>1 ghiwypnud qpupwdtiy, hul D=1 nhypnd gniqu-
dhypnipywb hwpgh wbnpny E:

Oquuytiiny “Fwqudptiph hwjypubtihghg™ wwpqgty htiplywy wp-
ptiph Juppp.

1201. 3 202 1202. 3 —;
n=l < n=1
g n-1 oo 3
1203. > i 1204. Y ——;
~(n+1)! ~(n+1)!

= (n!)? 2, 30"
; 1206. , ;
<2n)! Z.z"\/ﬁ
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1207. i% 1208. 32 3,

n=1 4
..2n+1) 2-5-8-...3n-1)
1209. 1210. ;
Z ..3n=-2)’ Zl 5:9-...(4n-3)
2n+1 n n n
= 2"n = 3"n! = e'n!
2iLw) 35 p) $EE @) 34 ) S5
n=1 NI n=1l N n=l N
Unzhh huypbihop

Ept npuiul winudibtpny pupph hwdwp gnjnipymb mbh
q<! hwuypupnib phy wjbwbu, np hbs-np ne-hg JGd pninp n-tph
hwdwp yptinh nibph %/21: < q wwjiwbp, wwyw puppp qniqudb k,
huy tpk hbs-np ny-hg dGd pninp n-tpp hwdwp gptinh mbh
Q/Z > 1 yuwypdwbp, wyw 2wppp pupwdby b

Gpt npujwl winudbbpny pupph hwdwp gnyniyeymb nbh
limQ/z: =k Jbpowynp uwhdwbp, wuyw k<1 nbhypmd uppp

n-—oo
qniquutip t, k>l phypnud” ypupwdbyp, hul k=1 pbypnd
qniquihym pywh hwpgh wbnpn) E:

Oquuytiiny Unghh hwypwtihohg™ wwpqti htwplywy 2wpptiph
Juppp.

1212. 2(3—11"3)“; @ésin"%;

1214 izn_l' 1215 ii(Z)"
. n=1 nn , . n 5
= o 2n? +1
n - n°+
1216. ; 1217.
;(n +l) g( 3n? —IJ

23 (n+l)" v \
1218. z;n—(“ ) L1209, Z( +J e";
n

n=l
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n )“
-1

1220. Zkz +1) : 1221. é(%

Unphph hlapliqpuugphle huyypwlihon

“Yhgnmip y=f(x)>0 Pmbyghwl wipbnhup t b dWnbnpnb
Ojwqnn [l‘+°°) dhowlwypmd, f(n) =a_ : Wu wuwjdwbbtiph ntiy-

pnud Za wppp b J.f(x)dx wlhuuwluwb hnpigpuyp Jhwdw-
n=l

dwbwl Ll qniqudtan Lluui pupudtiy:
Oquuytiiny  htnpigpuijwyhtt: hwppuwbhohg™ wupgt htiplygug

2wnpbinh Juppp.

— 1 — 1
1222. —(p21); 1223. :
Z_: n® (p=1) Z; Inn
- 1
1224. 1225. —_—
,,Z;nln n 2:‘ lnn(lnlnn)
TS D 1227. i—l— P21,
- ln(lnn)p a-sninn(lnlnn)? ’
— |
1228. Z 1229. :
n= l\/_ J_ nzqe‘/;

§2. GUUU3UGUL curLse

Wh wpptipp, npnig wbOnuibtph  OGpwbbbpp  hbppwyw-
Umpjudp Ll thnpuymd, Yngymd b bpwbwhnfu pwpptp: Ophbwy.

=141+ 4+ (D" =D (=D, quad
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1 1 1 D" =
—l+=—=+== .+ +..= 3=
2 3 4 n ;

f}htnwntlhﬂp htplywy bBwluwhnfu Jwppp.
Z( N™'C, =C, = C, +C 3-Cy +...+(-D)"'C, +...,

n=l1

nmplin” C,> 0:

Luyphpgh plinpldp bpuwbuwshnpe suppbph fJEpuplipuyg

Eph’ E)JTLC" =0, 2) Cp,y <C,, (n=1,2,3,...), wyw bpwiw-
thnfu puppp gqniquudtap £

Ogyytiiny Lwypbhgh phtnptithg” wwpqb) htapljw) pwppbiph
Juppp.

= 1yn-l
1230. Z( l), : 1231. Z( ! ,_;
n=1 n- n=l
o 1\D
1232. Z( pot 2ntl o, Z( b
o n(n+1) = Inlnn
-D" 3“ d LT
1234. 1235. Y (=1)" sin—;
§(2n +l) nz=| w/-l;
o . 1yn-l
1236. S (—pn AL 1237.2( b
o0 “~ 2n-1
— (-1)"n S (-D"Inn
1238. : 1239, S .
° nZ:‘Bn—7 ;2 n

Puwgruupdwly b squphwhwlpul gniqudpipnigamih

Yhypuwpybbp (A) Zan L (B) Z|an| swpphlpp:

n=1 n=l|
Gpb (A) puwppp gniqudtin b, huly (B) pwppp’ ppuipudbg, wwyw
(A) pwippp Ynsymd £ wjujdwbwluts gni qudbiy:
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Gpb (B) wppp qniquubtip t, wwyw (A) owppp Yngmd £ pw-
gupdwl gmquibyp:

Lokibp, np (B) owpph gqmquuihyinip)nibhg htipumd £ (A) pwp-
ph qniquipypnipynibp:

Mwpql htplyw) 2wpptiph gniqudpypmpyub pinypep pw-
gupdwl gniquihypnipjub wemdny.

e o 1yn-1 o _1yn-l
1240.2( D : 1241. Z( 1)2
n

n

— ! - -1 N
1242. ) (-1)"sin—; 1243. ) ()" ——;
Z-: n ; n’+1
1244. Z(—l)“'ltg%; 1245. ) (-D™ ‘smLz,
n

n=l n=I

- (-D"
1246. > (-D)"'——— 1247, :
z nln?n’ ngznlnn
° _1\n -1 oo .
1248. S ED 0 1249. Zs'"““;
1ln+8 — 0
1 n=1
— COSNCL = (-ptt
1250. Z(l o 1251, ) ————:
n=1 (In10) n=2 0" (Inn)

§3. UUSPAULU3DPL CUrLEr

Quyphwbwjhb £ Yngnid hpljwy piuph 2wppp.

ag+ax+a,x’+..+a x" +.= Zanx",
n=0
nmplin’ ay, a, ..., a, ..., PYtpp hwupupnibbbp GO, hul x-p
thnthnpuwub £ Quipphwbwihh owppp Yngymd L qniqudtp x,

Yy, kb qniqudtiyp k Zanx3 PYwyhb pwppp:
n=0
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Wumpptwlughh pwpph qnuquipypnipyub yhpnyp E Yngjnud
wjlh x-bph pwqumpynibp, npnbg hwdwp pwppp qniqudby E
Quphtwbwphh swppp pwgupdwl ququitiy £ (-R; R) yphiuph
dhowluypnmu: R-p Yngymd £ wuphfwbughll pwpph gniquidh-
qpnipjub wnwyhn: Fw hwpydmd £

all

1Ty la,| pwlwaluny, jud R = lim—{pwiwalbny, btph

R n—w =g

n+)
Jtipohi uvwhiwbp gnmpemb mbh: ek R =+4e, wuyuw
wuphfwbwihl  pwppp  pwgupdwl gmquitap £ wdpnne
wpwlgph Ypw, hulj et R =0, wwyw wwmphSwbwhh swppp
gmquutin £t dhuyl x = 0 Ypmd: Gpli 0<R <+eo, wuuw
x =R Jtiiptipmd  2wpph  gmuqudhipnipynibp uypnignud - Bbp
wnwbahb:

Gaplbp htypljw wuyph8wbwihb pwpptiph gniquidhynipjwb
nhpnypLbpp.

il Xn o x2n—l
1252, ) —; 1253. ) ——————;
n2" “~(2n-D(2n+1)
o "2 n oo n®  2n
1254. Z(“') * . 1255. Z( n ) X _.
— (2n)! S\n+l 3n
1256. Z(Hl o 1257. Zx"tg—l-;
n=1 n n=1 n
oo n had n
1258. 3 1250, 20
n—pnn o n4"
= (-D"T2x-3)"
1260. :
; 2n-1
2 3
1261. 2X +l+(2x+l) +(2)(+l) o
1 4 7

_ v _1\2 _1\3
X l+(,( 1) +(x 1) -

1262.
1.2 3.2 5.23
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1263. Qpbt gniquipypnipjwh dhowluwypp b 2wpph gnidwpp.

w) 142X +3x2 +4x3 +... ;

3 X5 X7
x—— 4+ 2 4
Bx- ot
q) 1-3x2+5x* =7x% +... ;
2 3

) X+t Xy
n Y3t

§4. DOAFLUSPUSP JELLAFONFU L WUSPSULU3PL
curLp

Gpt f(x) mbyghwi a Ytyph opewlwypmud Jupkih £ ytpmot)
wuyth6wbwjhb pwpph, wwyw wn 2Lunpn niih htipl jwg pbupp.
F(x) = f(a) + F'(a)(x —a) + -2 )( —a)? +...

f(l'l)(a)

(x—a)" +...

Wju pwppp llngqnui L f(x)-h bynph 2wpp: Gpt a=0, wyw
fe-tiyinph 2wppp wbjwbnmd kb bwb Uwlnpkbh wpp.
f(x)=f(0)+f' (0)x+f © 2, +f ('O) LI
2! n!
Lotip hhdbwlwb Ytpindmpymbbtpp.
2 n

X X
e —l+x+7+ At (e <X <o),
n:

3 XS x2n+1
sinx =x——+—+...+(-)" +... (=90 < X < +0),
31 s 2n+1)!
2 4 x2n
cosx =l——+—+...+(-1)" ——+... (me0< X < +00),
21 4 (2n)!

2 3 n
In(l+x) = —"7+53——...+(—1)“""—+ . (~l<x <),
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A+x)* =1+ox +

(-l<x<l):

a(a'—l) N o(o—1)...(cc—n+1) N

n!

Qapibby htplywy $mblyghwbbph Uwlyinptbh owpph ybipgmdni-
pynibltph wnweht kiptip® qpnjhg ywppbip whnwydbbpp:

1264

1267. arctgx,

CcOS X
. € ,

1265. secx, 1266. tgx,
1268. In(x +Vx2+1), 1269. thx :

Oquytiny hhdbwlwb Jbpindmpymbbephg b wbykpe
Udwqnn bpypuguhwlyui wpngptivhwyh gnudwph pwbwadlihg”
htiqplywy Pmblyghwbbpp Ybpndt] wuyphfwbwyht owpptph L
qulitiy wyn awpptiph gmiqudhypm pjwb pwewdhnbtipp.

1270.

1272

1276.
1278.

3x -5
xP—4x+3’

3

T lex-2x%
1274.

Xe—Zx,

1+
In X

1-x
chx,

9

3x +1
2x +1°

1273. cos 2x,

1275. Y8 +x,
2

1277. sin® x cos X,

1271.

1279. shx:
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Q-1 NF v VIII
YryLUYbh PLSESLULLED

1. GplGwih hGnbgmuh vwhdwlnwdp L hwpdnmdp

Yhgnip' z=f(x,y) $mbyghwl npnpqwd b uvwhdwbwthwl t
XOY hwppnipjub ypw ppdwd D thwl, punwymubih (dwytipbiu
ntbtignn)  yphpnypnud:  D- Ynpbph  gwubgny  yqpnhtibp
Si(i=1,2,3,..., n) tbpunphpnypltph’ npwbg dwitptubbpp Lyw-
bwytiinyg AS;, huy npwdwgdbpp’
LA =supM,M,|.M,.M, € S)):

Bnpwpuwbgmp S; Lbhpwwph-
nnyphg Jtinglbny dby P;(€;,n;)
by hwogblp  wyn  Yhpnud
Pnibyghwyh wpdtiph L Ghpunph-
pnyph AS; dwltpbuh wpypun-
pup’ f(€;,M)AS;: Uwqukbp
pninn wjuwhuh wpgungppuibbiph

n
qnuiwpp: ) £(€;,,)AS; Yngnud
i=1
t f(x,y) dniihghwjh hiyptigpuwgw-
Jht gmdwp’ puwpwdwd D ypp-
pnypny: Gpt wiwr wphpnyph ppohdwi Ytpuyhg, wilwu
(&i.ni) Ytwpbph plyppmpmbhg, htypbgpwiwht gnudwpp, tpp
()\=ir_1}azx ADA-U aqpmd E 0-h, mbh Ybpowynp uvwhiwb, wy-

)

uhlpl’ Elli_rwpif(éi,ni)ASFI, www wjyn uwhdwbp Yngdmd k

i=l

f(x,y) nibiyghwyh ypybwyh htppbigpwy” D phpnypny. b byw-
bwymy &b

j f(x,y)dxdy :
D
®duwl phpnypnud wipnbnhunp $nibyghwb hbypbgpth
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Gpt D yihpnypnud {(x,y)>0, wyw f(x,y)-h Ypylwyh hbpbg-
npwip’ D phpnypny, pwuybiv hwjwuwp £ wyh dwpdbh dwduwhb,
npp pupwdymyd b nuipquwhwjwg D ypwhpnypht U pwd t D
phpnyph b z=f(x,y) dwikpunyph dholi:

Minnutlymb D (a<x<b,c<y<d) yphpmypny pupudjwd
Upyiwyh huptigpup pipgmd © hwenppwywb hpbgpubtiph
htiyplyywy Yhpy.

Hf(x,y)dxdy = tj[dxci.‘f(x,y)dy = (]dyl]f(x,y)dx :

D a ¢ YAT
/12(<
bk D ( )anSb }
=4q(X,y ,
P Y1 () Sy < y,(x) \y0
ol 2 < b X

by, (x)
wujw ”f(x,y)dxdy = de If(x,y)dy:
D a y(x)

ty

d

c<y<d X,(y)
X (V) <x<x,(y) | . xa(y)

0 X"

Gpb D = {(x,y)

d  x,(y)
www ”f(x,y)dxdy= Idy If(x,y)dx:
D ¢ x(y)
Swonpnujwl hiptignnuing hwogty htapljwy Yphbwyh po-
pligpulitipp:

1280. ”(x+y)dxdy, bpt 0<x<1LO<y<I:
D
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1281. jxe*-dedy, bpb 1<x<2 LO<y<I:
D

1282. [f(x - y)dxdy, bpb D-b uwhiwbunhwyyud b x=0,y=0,
D
y=x+2 gdtipny:
1283. J.J.)lexy dxdy, tipt D-U0 uwhiwbunhuljdwd t x=1y=1,
D

xy=3 gdtipny:
1284. Spyjwd hwonpnuub hinpgpuwbitiph hwdwp gptiy Ynpk-

nh hwjwuwpnuiitipp, npnbp vwhdwbwhwlmyd b hhypbgpdwb
nhpnypitpp b junngti wyg phpnypobpp:

2 x+3 1 2-x?

1) jdx jf(x.y)dy: 2) j’dx jf(x,y)dy:
| X -1 x*
2 eyt 1 Jax?

3) de J.f(x,y)dx: 4) jdx J[f(x,y)dy:
0 2-y 0 X

1285. SpJwd S wyphpnypnud gply ﬂf(x,y)dxdy - p hwenp-
S

nuljwi hinpegpubtiph yptiupny” yupptip Yupgtipny Ytipgpwd:

1) S ywhpnypp Al;2), B(S;2), C(5:4), D(1;4) ququpbtpny
nunublynibb k:

2) S-p y=x, y=x-3, y=2, y=4 qdtpny uvwhdwlwthwyywd pp-
pnyRL E:

3) S-p uwhdwbuwhwyywd £ x* +y? =2a?, x* =ay(a >0) Ynpk-
nny, wuwjdwbny, np y>0 S-h Ytapbpnud:

4) S-p y?=ax, x* + y2 = 2ax, y = 0 gdtipny uwhdwbwthwgud
wjbphpnyph £, nph Ygptipnud y>0 (a>0):

S) Sp x*+y?=ax, x*+ y?=2ax,y=0 qdtpn] uwhiwbw-
thwijwd wyl yphpnypl E, nph Yhpepnud y>0 (a>0):

178



Stplyw) hwenppujwt pbypbigpuilitipmy thnjuby plipigpdwb
YJupgp:

6 —3+\/E+4x—x3 11yt
1286. J'dx If(x,y)dy: 1287. [dy If(x,y)dx:
-2 3-12vax—x* -1yl
1288. jdx jf(x,y)dy: 1289. jdx J’f(x,y)dy:
Jax—x2 0 Vaax—x?
N
1290. j dy jf(x,y)dx:
_J_ y2-1
9 10-x

1291. jdx J'f(x y)dy + jdx jf(x y)dy :

X X
1292. Idy 3¥(x,y)dx-kjay If(x,y)dx:

¥ ¥y
9 9
x+2 0 x2

2 2 3 2
1293. |dx |f(x,y)dy+ |d f(x,y)dy:
—lx J X, y)dy Jx£§zxy v

Swpytip hyljwy hinptigpubitipp.

3<x<4
1294. jd"dy S=4(x,y) :
(x+y) lSySZ

2<x <5

2. .3 _ )

1295. J'j(sx y—2y>)dxdy, S {(x,y)lsys3}.

1296. j"l "dxdy . S= {(x,y)
+y?

O<x<1|
0<y<l1|’
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1297 2 L ayvdedy. S=doopl S XS
.J;J(x 2y)dxdy, S=14(x,y OSySZ'
X2 .

X2y”~ .

1299. j%dxdy, nppbn’ S-p uwhdwbuhwlgwd b x=2, y=x,
s Y

(3]

1298. ”(x +y)dxdy, S= {(x y)

xy=1 gotipny:
1300. .[cos(x+y)dxdy, nppbin”® S-p x=0, y=m, y=x qdtpny
S
uwhdwbwhwyywd phpnypl
1301. j j(2x+y)dxdy nppbin’ S-p x+y=3, x=0, y=0 qdbpny

uwhdtu[nunhwlu[ulb \phpnyph L
1302. ”(x+6y)dxdy, npptin”® S-p y=5x, y=x, x=1 qotpny
S

uwhdwbuwthwlwd phpnypb
1303. ”( x +2y)dxdy, npptin’ S-p y=x%, y=x’ qdtpny uwhiw-
S

Owthwlywd phpnypb t:
1304. ”(4—y)dxdy, nppptin” S-p x =2J;, y=1, x=0 gdhtpny
S
uwhiwbwhwyywd phpnyph t:
130S5. jxdxdy, npplin® S-p O0(0,0), A(l,1), B(0,1) ququp-
S
utpny tnwbyymbb k:

dxdy :
1306. nmptin® S-p O YkOwppnind b a Jw-
st

nwynny ngwhh I pwnnpnmid pbljwd Jwub t:
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2. Dupnpuuilpulih shnpavpfbinct Yphtouuhh hpkquunoak

Thgmp' x=x(u,v) b y=y(u,v) wbpinhunp nhptpkbghih $mby-
ghwiiipp  thnjudpwpdbpnptb  wppuwunpybpmd - G OXY
hwppnmpjul D thwy phpnypp OUV hwppnipjul D' phpnyph
Ypw b wppuuyunpytipdwb J juynphwbnp.

ax dx
_{0u dv
|9y 2y

du Jv
wjuhlpl® ywhywinud b gpuiuwd Yuwd pwguuwyub brwbp,
wyw yptinh mbh.
”f(x,y)dxdy = ”f(x(u,v),y(u,v))l]ldudv
D D'

J #0,

thnthnjuwlwbh infuwphidwi pubwadbp Yphtwlh hipbgpuh
hwdwp:

Wogbting pbbtnwihb  Ynnpphtuwgpbbtiph®  hwoybty  htpljuy
Unylwyh htptigpuibtipp.

1307. J'.Nx2+y2dxdy: 1308. ”(x2+y2)dxdy:

xzﬁ-ylSa1 x2+y25I

1309. Hs,im/x2 +y2dxdy:

n<x+y’<4n’

10, f sinyx_ +y° dedy:

2 2

n_l<x3+ 2 U XTty
g YRy

1311. He"z”zdxdy : 1312. ”e""'“y'dxdy:
x+y’<R? x*+y’<R?

1313. U(xz + yz)dxdy : 1314. I (x +y)dxdy:
x +yi<2x X +y?<2x+2y
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1315. ‘U\M—xz—yzdxdy :

(x2+yz)254(xz-—yz)
x>0

1316. H __dxdy

{‘ y? <”[1+x +y

x>0

1317.  [[ydxdy: 1. | j '"(" +y> dxdy:

{2x$x3+y354x 1<x?+y’<e? X +)’

y20

1319. Swipytiy Mmwunth hiypgpuyp’

+oo _X_: +oo s
w) Ie 2dx, ) Ie'“x'dx,a>0:

—oo
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QL NFlv IX

HhIHELELSPUL SULUUUCLAFULEL
§1.NPULULUYL GULHOULLED

Unynpuuwl nhptptiGghw; hwjwuwpmd b Yngynud wjGuhuh
hwyjwuwpnuip, nph 4t dwulGwygnud G x wijwju thnhnjuwjw-
(ip, y=y(x) wlGhwjn $niGyghwb (nph qubtp nhptipiGghwy hwjw-
uwpiwl nodwb fulGnhp6 t) L ngpu wowGgjuiGtpp ud nhypbpta-
ghwGtpp: Wynwhuh phbtiptGghw; hwjwuwpdwG pghwlngp
wkupp YihGh’

F(X,y,y,¥" e y™)=0:

Yhytiphighw) hwjwuwpdwb vt dwubwlgnn wodwbgjubiiph
wikbwpwpdp n Yupgp Yngymd £ nhpbptitghw hwjwuwpdwb
Jupg: Yuytiu, y"-3y'=x nhdtiptitghuwy hwjwuwpnuip tplpnpn
yupgh t, y" =sinx nhdpbipkiughw| hwjwuwpnidp sppnpn Yup-
gh t U wyl: 5pb y=0(x) $miyghwld pujuwpuwpmd k nhdtpkb-

ghw hwjuwuwpnudp, wyw wyn $nblghwb Yngdmu E nhdtiptb-
ghwy hwjwuwpdwb |nudmu:

1320. Ugpmghy, np yppdwd nhdtipkighw) hwjwuwpmdbtph
hwdiwp ppwd $mblyghwbbtipp (nudmad Lb:

1y -2

=+1=0, y=—xln|x|:
X

2) yy =1-2x, y=v2x-2x*:

- 1
3) xy +y=y2,y=———:
I-x
4) x*y -2xy'*2y =0, y=2x:
5) y +9y =0, y =sin3x +cos3x:

Ept n-pn Yupgh nhdtiptiighw) hwjwuwpiwb jmdnuip yu-
pnnbwymd £ n hup judwywliub hwupunpmbbbp, npnbg pw-
Gwyp hbwpwynp sk wwluwubkglb) tnp Gpwbwlynuitbpny, www
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uynuihup (nidndp Yngynud £ nhypbtiptbghw) hwjwuwpdwb pbn-
hwlnip mMOmy’
y =¢(x, C;,C,,....,C)):
Gpb pinhwinip (nudmdp ugpuigynud £ wbpuguhwpp phupny’
®(x, y.C.Cs, ...,C) =0,
wwyw nu widubnui &b nhduptibghw) hwjwuwpdwb pbnhwbmp
hlyptigpuy:

1321. Upmgty, np y=Cie* +Cpe™ dnilijghwlt y"-y =0tipy-
npnpn Yupgh nhdptipkbghw) hwjwuwpdwh pinhwbnip ndnudb k:

Conhwbnip mddwb (hinpigpuwh) dte dyplbinn Judwywywb
hwupunpmtbtiphtt pwnyg qpwpptip pywiht wpdtipbtp® punhw-
Unmip nomdhg upubind Gbp Jwubwyh mdnuibbp (hyptgpug-
btp): Hhdptptbghwy hwjwuwpiwd npnpuwljh dwubwyh nednud
ugpubwn hwdwp ppduwd GO fhbnad, wjuybu Ynawd, ulqplw-
Yul wuydwbbhp:

§2. UN-UQPL YUULrSh HbIELELSPUL
SuJduvucaruuvee

Uowlgjuih Guundwip nojwd wnwehl Yupgh nhybtiptiGghuwy
hwjwuwpdwb pGnhwGnip wbtupl k.
y'=t(xy): *)
Wu hwjwuwpdwb jmddwb tnubwyiubpp Juhudwd Gb fix;y)
Pmlyghwyh pinyphg:

1. Ubouupynn sprpnpuuljppubiblipnyg nhdplinbhlbghwy hw-
Ywmwupnidhbkip

Ept  (*)-h  dhe  fecy)=fix)fi(y), www upugyud
y'=f(x)-f5(y) hwjwuwpnmudp Yngymd L whouwnpynn thnthnpuw-
Jubbbpny nhdtipibghw; hwjwuwpnd: 8nyg pwbp wju hwjw-
uwpuiwb jnddwb tnubwyp.

. dy dy
— -f —= . = = :
y'=fi(x)-f,(y) = dx fi(x)-f,(y) £(y) f,(x)dx
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Pnthnhuwubttpp whgwypytkghl, hypigpmud Gbp hwjwuwp-
dwh bpym Ynndbpp.
j dy =Ifi(x)dx:

f2(y)
blptgpnudp uypuptpmg htipn uipwbwbp hwjwuwpdwb
punhwbnip hinplgpugp:

1322. Limdty htaplywy nhdtiptughwy hwjuuwpnudbitipp.

1) 2yy'=3x; 2) yly'+x? =l

3) y'=e**Y; 4) y'igx =y;

5) y'+ XSIX _o, 6) ye*dx —(1+e**)dy =0,
ycosy

7 dy—2\/;ln xdx =0: 8) y'=cos(x+y);

9) y'=y(l+cosx); 10. y'=3y:

1323. Qapluk; qppwd ulqplwmywd wyuwypdwbhl pwydwpwpnn
dwubwlj (mdnudp.

1) (1+yH)dx —xydy=0, y(1)=0:
2) y'sinx=ylny, y(—g)=e:

3) x*y'+y* =0, y(-h=1:
4) y'=x —sin2x, y(0)=4,5:

2. Unwohh lpupgh hwdiwulin yhdlipklighmy hwjuwuu-
pndllin.

Gpt (*)-h dtig {(x;y) $niblghwl gpn Jupgh hudwutn $niby-
ghw t, wyuhlpl’ pninp pnyuwyppbih © pytph hwdwp qpbinh nubh
ftx: ty)= f(x;y) wuydwlp, wyw (*) hwjwuwpmdp Ynsyma k£
hwiwubtin phdbiptibghw; hwjwuwpmd: Lokibp, np qpn Jupgh
hwdwualin pnbiyghwl yuhugwd b dhwyl wpgnudbypbtiph hwpw-
pipmpynibhg, wjuhbpl’ hwdwubtn hwjwuwpnuip gpymd &
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y'=(p(l) ptupny b l=u(x) Upwbhwynuiny phpymud £ wbouwnp-
X X
ynn thnipinfuwutibipny nhdtipitghw; hwjwuwpdwb:

1324, Lmdb| htpbjw nhdptiptibghw) hwjwuwpnudtbpp.

1) y,___x—y: 2) (x—y)dx +xdy =0;
y +X
2; \
3)y== xyz; 4) xy=ylnl;
X“ -y X

y
3) x(y'+eX)=y; 6) xy-y =yx*-y%;

7 2x—y+4)dy +(x —2y+5)dx =0;
8) (x+y+1D)dx+(2x +2y-1)dy=0:

1325. Qb ppdwd uyqpiwyjud wywydwbhdb pwyjwpwpnn
dwulwyh jndnudip.

To2xy-x*
yy=L"°% y(l)=~1:
y +2xy-—x
2) (\/E—x)dy+ydx=0, y(1)=1:
[ y l
3) xy'=y(l+In=), l)=—F:
y'=y(+In= y(1) T

4) (x* +y*)dx -2xydy=0, y(4)=0:

3. Unwohl Ywpqh Qduyhh U PLhnhnyhh nhdPhplhghuy
hwijwmupnidikp

Unwohl wpgh qduyhl nhptptidghw) hwjwuwpmd k Yngynud
htiplywy phuph hwjuwuwpnuip.

y+p(x)y =q(x):
Wu hwjwuwpdwl mdnmdp hinpplip y=u(x)v(x) ypliupny:
Stinunpbiny hwjwuwpiwb dte® Yuypubwbp.
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(u(x)v(x)'+p(x)u(x)v(x) =q(x) =
= u'(x)v(x) + (V' (x) +p(x)v(x)u(x) =q(x):
v(x) wthwpp $nmblyghwd pbyppbbp wyhybu, np.
VPOV =0 = S5 = -p(x)v(x) =
X
dv
-
v(x)

=-p(x)dx = J.%‘iz—jp(x)dx =

= ]nl\ll.—_—jp(x)dx =V :e_IP(X)dx :

Wuwbs puyqppduid v(x) dnibyghuygh hwdwp ppdwd nhtiptib-
ghw) hwjwuwpnuip Yphnnibh v(x)v(x)=q(x) pbupp: Uw bnyb-
whiu whounpynn thnthnpunwywbbtpngy nhytiptbghw; hwjwuw-
pm L, npp ndbny, gipbmd Gop u(x) nibijghwts b, hplwpwp,
y=u(x)v(x) pinhwbnip jmdnudp:

n

y'+p(x)y =q(x)y" Rbtnbnyhp hunjwuwpnuip z=y'™ plinu-

npnidny ptipdnud £ wnwehl Yunpgh qdwyht nhptipitghw; hwyjw-
uwpdwl:
Phntmph  hwjwuwpnuip  Omjbybu  Jupbh £ omdl

y=u(x)-v(x) (ptinunpndny;:
1326. Lot htiplyw nhdtipiilghw) hwjwuwpnmdbtipn.

2
X

1) y'+2y =4x; 2) y'+2xy=xe " ;
3) (l+x2)y'=2xy+(l+x2)2; 4) y'+l=2lnx+l;
X

2

S) y'= =24 +e*(1+x)% 6) Xy'+x> +xy=y;
x+1

7) y+ L+ xy? =0; 8) 2xyy'-y’ +x=0;
X

9) y'x +y=—-xy%; 10) y'—xy=—y3e_":;

1) x2y'= y2 +xy:
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1327. Qbbp ppjwd uyqphwljub wuwjdwbhl pwyjwupupnn
duinbwyh jnudnudp:

1) y'+ytgx =secx, y(0) =

2) xy'-

=X, y(1)=0,
x+1

. 1
3) y'=(2y +D)ctgx, —)==,
) y'=(2y +D)ctgx y(4) 5

4) t2§=25t—3, S(-=1:
dt

4. Ippy nhplpkbghiwyny hwjwuwpnikhbin

Unwohl Yupgh htipbjwy nhdtptbghwy hwjwuwpnudp.
P(x;y)dx +Q(x;y)dy =0 (H
ynsynud t phy nhpbptighwing hwjwuwpnuy, et hwjwuwp-
dwbh dwhi Jwup Jdh hbs-np u(x;y) $niblyghuyh iphy nhytiptiighuy
t
du =P(x;y)dx + Q(x;y)dy :

——-h L 99—-h wipbnhunpnpjuwb gbypmd hwjwuwpnuip Yihtp

dy

P 0
inhd nhbntghuind, bpk £ =

y ox

(1) hwjwuwpmdp Yupbh b wppugpty du=0 yphupny: Wu

hwjwuwpdwb pbnhwbnp hbypkgpup Yihoh u(x;y)=C, npiptin” C-
U Juiwywwb hwugpunpnid £: Wuyhuny, npytugh jmdtbp phy
nhptptbighwiny hwjwuwpmdp, whypp L qpbtbp Gpqwd u(x;y)
$niuyghwl, npp npnpynud L.

du
ox

hujwuwpnuibiiphg® 2tnphhy -33 =

=P(x;y) L g—u=Q(x;y)
y

Q

wwjdwbh:
ox
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1328. Lndh) htaplywy nhdtiptitghw; hwjwuwpnuibtpp, Gw-

fuopnp uypmqbiny, np npwbp phy nhdpliptibghwng hwywuw-
pnudbitip Gb:

1) (1-6xy*)dx + (3y® —6x%y)dy = 0;

2) (x+y)dx +(x+2y)dy =0;

3) (2x3 —xy?)dx + (2y> - x2y)dy = 0;

4) (3x% +6xy —2y?)dx + (3x? —4xy -3y?)dy = 0;

5) xdx + ydy = _xdz' — y;lx :
X" +y

6) (v +—27)dx +(x —iz)dy =0;
X y

7) 2x —ye *)dx +e *dy =0;

8) (siny —ysinx +—1—)dx +(xcosy +cosx —l)dy =0;
X y
9) (3x% -2y)dx +2(y —x)dy =0:

1329. Gaplbp yppjwd uljqpiuub wywjdwbht pwljwpupnn
dwubwlyh hyplgpuyp:

1) (10xy —8y+1)dx +(5x* -8x +3)dy=0, y(3)=1;

2) (x +e;)dx +e;(l—£)dy=0, y(0)=2:
y

§3. GUrGe-p bQE3NFU (G-NF3LUS,N. LU0 GUMSD
S UuuearULee

1. F(x,y'.y")=0 wypliuph hwjwuwpmudp, npp y sh wwpnibw-
dp
dx
dny’ ptipdtiny £ F(x,p,p') =0 wphuph hwjuwuwpdiwb:

jmd pugwhwjp pbupny, mdymd L y'=p, y'= plinunpnt-

189



2. F(y.v'.y")=0 wyqbtupph hwjwuwpmdp, npp x sh wupmbw-

dp d d
g y'=p, ),..zﬂz__p._y n_AP

s phnuinpnuiny ptipdnud &
ax dy dx y dyp phnuinpnudny ptipy

F(y. p. %5— p) = 0 ptiuph hwjuuwpdwb:

1330. Ytwypupting Yupgh hoignud® qupltip nhtiphighwy hw-
Juuwpdwh pinhwinip mdmdp ud pbnhwbnip hypbgpugp.
1) y'xInx=y"; 2) 2yy"=(y') +1; 3) y'2y(y') =0;

4) y'igy =2(y)s 3 xy'-y'=e'xh; 6) y'y’ =1:
1331. Qupbby htiplywy nhdtiptighw| hwjwuwpnudtkph pbn-
hwlnip nudmubtipp.

" l " l

1 = ; 2) y'=——;

)y cos’ x )y 1+x?
§) !

3) y”'z_xT; 4) yuzxe2x:

§4. 5LUNLPNLY GUCSP NUUSUSAFL N0 UYPSLE-
£LOd Q-oU3PL HhDIELELSPUL NULRUUCLAFULER

Wynubu 66 Gnydnud y' +py'+qy =f(x)pbuph nhdtiptibghw
hwjwuwpnuwibtipp, pbp npmd, tpt f(x)=0, www upugyud
y +py+qy=0 hwjuwuwpnudp Yngdmd £ hwdwubtin, hwjwnwly
gbypmd® ng hwdwubn: ek r-p L r1,-p phmypwgphs
rP4+pr+q=0 hwujuwuwpdwlh wpdunpbtip bh, wyw hwdwubn
hwjwuwpdwb pinhwinmp nednuip gpgnd £ hbgplgwg ptupny.
w) y=Ce"™+C,e™, iph D= p’-49>0, 1, #1,;
p) y=e"(C, +C,x), ipk D=p’-4q=0, r,=1,;
Q) y=e“(C, cospx +C,sinfBx), ipt D=p’ -4q<0, r, =axif:
o
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1332. Lmdl| htiplywy nhdtiptbghwy hwjwuwpnudiibpp.

1) y"=5y'+6y =0, 2) y'+4y'-2ly =0;
3) 3y"-Sy'+2y =0; 4) y"-Ty=0;

5) y'+2y'+y =0; 6) 4y"-12y'+9y =0;
T y'+y =0; 8) y'-4y'+13y =0;
9) y"+3y'-10y =0, 10) 4y"+4y'+y =0;

11) y'~8y+4ly =0:

1333. Gunlibp uqpiwuh wuptwdbtpht pujwpupnn Jwulw-
Ijh imdmup.

1) y'-5y+4y =0, y0)=y'(0)=1:
2) y'-2y'+y =0, y2)=Ly'(2)=-2:

1y hwdwutin hwjuwuwpdwb pbphubmp Ondp gpdmud
y =¥(x)+yo(x) ptiupny, nmpbin” ¥(x) — p hwdwwunpuupiwb hw-
dwubtin  hwjwuwpiwb pbgphwbnp monit £, hul yo(x)—-p

ppywd ng hwiwubtin hwjwuwpdwb npbt dwubwyh (ndnudp: Wn
dwublwyh (ndnwip thyppmd Gop™ GbGiny f(x)-h hunpniy \phuphg,
Juwd wytith pnhwtmp’ hwuypugpmbh Juphwghwyh dbpnnng:

1334. Quplby hbgplgwy nphdptptitghw hwjwuwpmudbiiph pbn-
hwbnip mdmdbtipp.

1) y"+4y'-Sy =1, 2) y"-2y'+2y =2x;

3) y'-6y'+9y =2x2 —x+3; 4) 2y"+5y'=5x% —2x -1,

5) y"-7y'+06y =sin x; 6) 2y"+y'-y =2e*;

7 12y"+y'—y =3x2 +7, 8) y"-y'—0y =e* +sin3x;

mx .

9) y"-Sy+6y = 13sin3x;  10) y"-m’y=e”
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1335, Qaplb ppyud ulyqphwfub yuwydwbbbpphb pujwpupnn
dwulwyh yndmdp:

) y"-2y'+10y =10x* +18x+6,  y(0)=1y'(0)=3.2:

3,
2) 4y"+10y'+15y=4e 2, y(0)=3,y'(0)=-5,5:
3) y'+y=x+2e", y(0)=2,y'(0)=7:
4) y'-2y =xe™", y(0)=4,y'(0)=-3:

Stplyw hwjwuwpnuibbpp (ndt] hwupuypmbbtph Juphw-

ghwyjh dtipnnny:
Yo(x) =AX)y(x) +B(x)y,(x), A(x), B(x) $nuyghwlbtpp

npnpynud Gb.

A'y, +B'y, =0
y,l y,z hwdwluwpghg:
A‘yl + B'yZ = f(x)
1336. y"+4y =— : 1337. y"+y =tgx:
sin 2x
ex e—2x
1338. y"-2y'+y= = : 1339. y"+dy'+dy =——:
' X

1340. Lmdbt; hwjwuwpnuibbpp.

1) 4y"-y = x> - 24x; 2) y'-y=e;

3) 2yy"=(y)% 4) y'tgx=y'+l;
5) yy"+(y')* =0; 6) Xy +x’y'=1;
7 2y'+y=y3(x—l); 8) xzy'= yz—xy:
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465. :11-: 466. -;E: 467. . 468.0: 469.1: 470.7: 471. - 472. V2
n

473. ——5—: 474. —3: 475. l: 476. _—2—5-: 477.1: 478. -1—: 479. 2:
11 4 2 4 3 8

N

480. i: 481. cos3: 482 —-sin5: 483. . 484. ———;—: 485.0: 486. 1.

N5

487. 0. 488. —3—: 489. %: 490. 1: 491. 1: 492. L

l: 493. —: 494. 1:
19 2
10

495, 0: 496.+: 497.0: 498.¢7>: 499.¢*: 500.c: 501.c 3 : 502.¢>:
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1 10

503. e: 504. —: 505. ¢: 506. ¢*: 507. ¢”': 508. ——: 509. 1:
Je inl0’

510.1n2: 511. %: 512. l: 513.1: 514, —_2—1: 515. 2In3: 5716. a: 517. 4:
K a

518.2: 519. a-b: 520. %: 525. w)1:p)1:q) %: n) %: G) 1:q) 2:

n
t) 3:p) 3: 528. 1) f(1-0)==2, f(1+0)=2:2) f(2—0) = +oo,
f(2+0)=0:3)f(1-0)=1, f(1+0)=—2:4)f(0-0) =2, £(0+0) =2 :
5) f(1-0)=—1, f(1+0)=1:6) f(0-0) =1, f(0+0)=0:

529. 1) w)-1,p)1:2) w) 0, p) 1: 3) w) ,p) —5 532.1) 2: 2) ;

3) 0: 4) 1: 5) 0: 6) %: 7) Nbwpwynp sk: 8) Sbwpunnp st: 9) e: 10) 0:

533. 1) luqnud k dhuyl x=-1 Ytapmd, 1 ubinh fugnud: 2) fuquwt Y
snilih: 3) Tuquwb Ytap snibh: 4) foqynud L dhwyb x=-1 Ytapny, 1 utinh
lugnul: 534, 1) x=-1, Jtpwgllih fugmu: 2) X=-2,
f(=2-0) = —oo, f(-2+0) =+00:3) x=0, I ubtinh juqgmui: 4) x=0 Ytpwglkh
flugnud: 5) x=0, II ubnh pugnui: 6) x=0 Jtipwgbhkih pugnud; x=1,
f(1-0)=—oo, f(140)=+oo: 7) x=0 ytpwugbtih lugnuy;
x=mn,neZ,n#0 aqpmu I oo-h: 8) x=£2 Ytipwgbtiih fugnui: 9) x=0

ytpwgbbth fugmd, x = 2k2+l Jupwgbtijh puqnud: 10) x=0, I ulinh
jugnud: 11) x=0, f(0—0) =400, f(0+0)=0:12) x =7k, k€ Z, agpmy

L oo-h: 13) x =+ nk, ke Z, aqlpnui L eo-h: 14) x=%1 Jtpwglbtijh fuqnuy,
x=0, Il utinh jugqnud: 547. 1) 7: 2) \/— : 3) —sin2: 543. 1) 3x?2

-2 -1 1
: - 4)
X sin“ x xIn

2)#4._—3__
2Wx  2x3Jx

% 5) 3*In2: 6) cosx-sinx: 545.1) 6x2-5:

l—x2—x.

+8x7:3) e*(sinx+cosx): 4) ———:
(x“+1)
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5) 3sin?xcosx: 6) —tgx: 7)

L : 8) 2xcosx? 4 7%resin2x —_—2 ;
Vx2+1 1-4x?
546.7: 547. 6x-1: 548. -10x-5x*; 549. -2x-1: 550. 3x2+6x+2:

) 2
557.2ax+b: 552x°2: 553, — 2. 554 1278%~ X’ . 555, 2+ 2X

(x +1)? T ox+4)? T a=xHY
2—-4x 1-x*-4x2 bc—ad
556. (l—xm557 (x3—x)2 558 (C+dx)2 .
(I‘X)p( -p 55. 2
559, + . 560.6,5x°5: 561.
(1+x)4\ 1= l+x «/_ xw/—
2x? -
562, 12X . 463 —21——- 564, ?—‘EJ'—I—
1+ x2 X 2’(‘/_ 3X‘/— 4\/X2+X\/;
2 ——
565. ~-—a—3—: 566 —— L . 567 5cos5x: 568, -6sin2x:

(a2—~x2)/2 \/—l—_x\}(l+x)3

569.15c0s(5x-2): 570.25in(3-2x): 571.2cos2x+2sinx:572. -7cos®xsinx:

573. 5co0s5xc0s3x-3sin5xsin3x: 574. -7sin7xcos2x-2cos7xsin2x:
575.—-7sin7x sin3}-+lcos7xsin2—x:576.6xsin2x2cosx7:577. _nsinx
3.3 3 (cosx)™*!

3 .

578. 22 : 579 3x%cg3x - 3’: . 580. w:
- — I
sin- X sin” 3x 3\/_cos“x

581.5In2. sm2x +4xCcos2x 582 -1 - 583. 51n2‘<smx -3x- COS‘{SSIHZX

24/ x 1+sinx sin” x3
2 4 2 +
584 -———= . 5g5 S2CO8AX  ggp SMZNVXTD) (x+h),
(smx+t,0§x) J1-sin4x 2\/;
587. 3tg(3:/; —1 ) . 588.—sin x3°°* In3: 589. 4cos4x5"** In5:
«/;cos“(3\[x -1)
1 e 1
590. 2x(1-x)e>*: 591. -———12 XIn2:592. —: 593. Inx:
x2cos® — X
X
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( - 2— 2l x —
xzlnx-l) ). 595 3cinx: 596 2xt2-lnx. 5oy 2lex-l

In“ x X X

598 8% . 599 2InX 699, 1 601 2x g2 _-X 1 __x

In10 X N 1-x* (l+x4)2 x o 1+xt
1 -1 1 I

603. : 604. : 605.—— : 606. :
x Inx cos x xInxInlnx 2h+«/x+1i

607. ! 1 608. L 1 609. cos(Inx)+sin(Inx): 670.

1
sin x COS X ,/4_,(2

4
612 — > .613 __—) . 6715 LFX

. 613, 614 — -
Vi-25%3 Vx-x? k[Vx2 -9 14+x
!

616. *| L, iresinx |- 677, . 678, COSx tsinx.
© [1/1—x2 arcsmx) x‘l+ln2xj Vsin 2x
1

sin 2x

594.

3

1 671.0:

619, — 2% . 6o L . 621.

) 4 4
1-cos? x 2 arccos L 32 cos” x +sin” x

7
622 L . 623z L . 6 “2X

6'25-_—11n3x+ilnx+g: 626, (5+2x)9(205inx+(5+2x)cosx)
x? x? X sin? x
627, (3x+l)'°(36xlnx+lnx—3x—l). 628. ex'smx(sinx+cosx):

In2 x 2+/sin x

629. 2ctgl+i-—lsinl4x: 630. !

X ysintl 2 21-x*

X
Lbpb x>0
631. \Ja? —x? : 632. chx, shx, ——: 633, 1) { PR XZE
ch2x -LbpE x>0
-1,bpt x<0
2) 2|x|.bp x #0,3) § :
-e *,pb x>0
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637. L — "x(x D’ . 638. u*| vinu+ vy |:
2x 2(x l) X+ 2 u
red R e

2)[3 ‘1‘ 5)(x ~1P(x-2)*(x -3y :

-1 x-—2 Xx=-3

1{ -1 3-x
3)[ 1-x 3{3 X 3+xDl x3(3+x) '

a) 1( Ty 23 3 ) L) CE)
2ix+1 x-1 x x+2 (x+2)

639. 1)(

6) xsmx(sm +cosxIn xj 7) (sin x)* (xctgx + Insin X)I
X

&) xﬁ(j; 7'"}] (”l)x'[%l“”(“ﬂ}

1
10) ¥In A[ lnlnxj 11) \/_)\/_ l“‘/_
X ln‘( 23x? 3\/
12) (sin x)™*"*| ctgx arcsin x + Insinx ]: 640. 2 o1 —1+X; :
| N xoV1-x

] 1 1)
41‘ 2\/;+\/x+ﬁ [1+2\/x+«/;][1+2s/;)'
642. ! (-—m PR ]'"+1"’(1—x)m(l+x)" . 643 Mnsinmx

m+nil-x 1+x conHmX

N/ \X a b
n_. 646.(1n3—3+be[i) (3) (1]
x In mx b x b)\x)/)\a,

L g5 2" tg27x : 649.5ch5%: 650.3sh3xsh =X + L ch3xch ~ -
3x2 -2 In2 2 2

644.—sin2xcos(cos2x): 645,

647.
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3 \ 1

651. : 652, —:653. ———: 654. cosx, tipl sinx>0, -cosx,
ch?3x X xVx: =1
tpt sinx<0: 655. "i . 656. "24 . 657, ¢ 658, ——-
xIn“ x xIn”5x chx
eso. | Lo 2x ‘/"(" D
3Lx x2+1 SG-x) )\ ¥5-x
2 1 2 [ -X .
660. (—+ S > + 3ctgx —2tgx\3 x? %sm‘q xcos? x:
3x I-x 1+x J 1+ x

oot (e 25
663. (cosx)""x[ sin’ +cosxlncosx] 664. (\/—Tm X(Sl;2x+sm2xlns/—]

2
+In,/tgx ) : 662. (sin x)cos’{sc?s—x—sin x Insin x]:

sin 2x sin x

COS X

665.1) 97,5: 2) 90: 666. 1) 1,8: 2) 0,72: 667.% 668.0: 669. 1) T
In
2)1:3)%: 6‘70.—% 673. 1)-2-‘l 2)ﬁ 674.1)0: 2)5: 3)10: 675. m:
3 3 2
676.—- :677.1)126x5—12x2:2)1(2“3%):3)l:4)-2coszx:
ax” +b (l+x2) X
678.1) 5-4-3..(5-(n=1)x>":2) 3"e>*:
=1
3) — 7"sm(7x+£n +3"sin 3x+—n) :4) —-(—M
2 2 In2 x"
3

679. 3, 12, 9: 680. 2: 681. 6. 682. 1) 12x: 2) 56x° +210x*: 3) :
4vx

2 3 2si —x?
H—2—:5— . 6) 2R ) dorerga + 2B ax? -2):
(x+1) (l—xz)/z cos” X I+x
2 1-x? 1 x arcsin x
9) 2cos2x: 10) ——5—: 11) 2 +
3 (1+x2)? 1-x2 d-x )y
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3x 1+2x2 2
+

12) arcsin X : 5831)6 2) 480(2X 3) 3) .
U=x3  (1-x2)" (1+x)°
1 (_l)n-] _2n-1
4) -125sin5x: 685. 1) n=1, ,n>2, 2n-31tx 2
2Jx 2" (2n-3)

2)2“sin[2x+§n) 3)7"005[7x+2n) 4) 3(-1)"m(m~1).(m=(n-1))x ™"

e,

)

8) ne* +xe*: 9) n>2,y" = 2(-1)""nl(x =1) "

5n>2,(-1)"2(n-2)x"* )<

o

7L 8"sin(8x+nn\ 6" sin| 6x +n
2 2)

10) a"(=1)" "(n=1)(ax +b)™ : 686.1,1: 687. 1) 3cos3xdx: 2) ZXd’; :
1+x
3)M—X:689. 1) —7sin ixdx : 2) (3x2—4)1x: 3) ———de:
V1-4x? X
—adx 5 2dx 6) e*(x +1)dx : 690.1) xsinxdx:2) ___dx_3:
s T
__Inxdx adx a

:4) sin6xdx: 5) ——7: 691. 1)—: 2) —a: 3)1: 4)0:
xVIn®x -4 +X b

692.%: 693. 4—3 694. ~: 695. 0: 696. 3. 697. % 698. -m: 6.9.9.191-:

2
700. 0: 701. 0: 702.1: 703. b— 704, % 705. a*(Ina—1): 706. =<

1
’) —_
707.—;—: 708. 2: 709. 5—90: 7101: 711.1: 712. %: 713.0: 714. e3:

NE) 14

715.1: 716.1: 717.-1: 719. 3 1720.N%: 722. ?

726.5+5(x-1)+3(x-1)2+2(x-1)* 727. 1) 4-10(x+1)+8(x+1)?-(x+1):
2) 9-13(x+1)+10(x+1)2-4(x+1)>+(x+1)*
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3) -8+20(x+1)-26(x+1)2+19(x+1)>-7(x+1)*+(x+1)%. 728. 1) 1+2x-x*:

1 1 > 1 2
2) mox o o) l— =X+ —X ) x+ =X+ =X
T 45X 1173 12 )x 3X 15x

"X

+..+
2 2?2 2' 233! 2"n'

2 1\l 20
207 _ (2x)° +...+( )20 +o(x2“):
2-2! 2-4! 2(2n)!
n-1 2n-1
5—x=5—x—(5x) (5%)° +...+(_1) (5%) +o(x2"):
2 2 23-3' 25.51 2271 2n - 1)!

2) sin’x =

3) sin
2 4 6

, x?  x X (1) x> o).
4) In(4 + x )=ln4+7—42.2+43'3+...+ Ao -i-o(x2 )

- 5wy, 3605
: Sl 77 2 NN 2\?
5)V8+x’ =2 1+-§%+-§—3—(x— PEAE 3 (x—) +..

2! 8 3 8

~

l(l—lJ(l—(n—l)) 2\" l l l
3\3 3 [X ] +olx™) |:730.1) —5:2)5:3) -5

4) %: 731.1) f(x) ,tiptixe (-0, 1} f(x) T,ipti x € [1,+0):

2) f(x) T,tipti x € (-o0,1] bipti x € [2,400),£(x) {.bipbi x € [1,2]:
3)f(x) T.tipt xe R :4) f(x) 4, tipti xe (0,1] tipti xe (1,e),f(x) T,tipti x€ [e,+o0):

732.1)(—oo.3]¢,[3,+oo)T:2)(_m,%]l,{4 )3)( 176]T,[1_76,+m]l:

8) (= oo, 400)" :5) (= 0,0]",[0,2]* [2.4e0)" : 6) (~o0,-1]T [~ 1,4]" [4,+e0)" :

. 1 T N\
2 2 . —<>ol -1- ooT' — o0 ! ooJ'
7)[0’3] [3*“) '8)( ’2] ’[2’3] B=) 9 (em2) (2]

10) (=o0,=1)7, (= 100)" :11) (=o0,=1]", [~ L1] [1,400)" :
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12) (~o0,-2)", (~2.8)",(8400)" :13) (cam0]t 0,400) -
! . 16) (~o0 Tl o)
14)( ] [ +°°) 15) (=oo4e0)T : 16) (= 0,0]",[0,2] [2,400)"

17) (-1,0]".[0.1)" : 18) (_wm) 19)(—oo,o)T,(0,+oo)T:
20){ 1_7£} {_‘/__ q E 1] 736.1) £,() =225

2 2

2) £, (-2) =9, .. (3) = 40,25, f, (0)=7:3) fmm( )= 214 :

ymm(§+ 2mk) =1 :ymin(%"unk) =-3:5) Y min (2) =2:6) Ypax (-1) =4

~

23

1 1
Ny =28y
))'mm(4) 8 ))Iﬂ'h:lx(

5) =%;9)9mﬁh: 10) ;1000 =0, ypin (2) =—4:

Il
1) Y max (D = 5 Y@ =3 12)ymax(l) 0, ¥ min (3) = —4:
13) )'mux(il)_lv Ynnn(o) 0: 14) Ymin(l)=3v Ymax(2)=4’ Ymin(3)=3:

15) Ymin[3 _;/ﬁ} ymx[3+;/ﬁ} Y min (3) =0: 16)yn,;n(5—i—@}

6
Ymax (D =0:17) Yo (D = -2, ypin ) =2: 18) y () =
19) Ymax (0) =2, ¥Ynin(2)=2: 20) 2niGh: 21) Ymax (0) = a,
22) v, (-2 =T Y (2 +47): 23) Yo ) =1:24) y (1) =

0|~

4
Ymax (€)= —=125) Y ) =1: 26) y (1) =2, yp,;, (0)=0
e

27) ymin(%) = —%2/5 28) ymax (0) = 2, ymin (i-l) = %/Z:
s
)ymm( +27'£k) = \/_ ym.lx 3 =4 27'5]() = —\/530) Ymin (E + 21'ck) = —2,

Y (-2 4 27k) = 4: 7411 ya.<-1>=8, Vo (2)=-19: 2)y5(1)73, Yy (2)=-24:
3) vu5(-2)=16/3, y,.(3)=-37/4: 4) y,.(4)=3/5, y,.(0)=-1: 5) Yy4(0)=1,
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Yo-(1/2)=3/5: 6) y,.(e)=€?, Y- (1)=0: 7) y,.(4)=6, y,,.(0)=0: 8) y,.(0)=2,
Y- (1)=V2 :9)y,.(0)=n/4.y,,.(1)=0: 742. %.;.

743. (2—ﬁ)p,(2—ﬁ)p,(ﬁ-1)zp; 744.h = 2R =2i/;:
745. ~—\/8 632 : 746. R ‘/_ H: 747. p\/? h_.‘i—_
_\/2_v:

Xy +X2 +..+X
n

751. H Ynh=4/3R: 752. R 4nli=3/2 r quubi; 753. 2,47 754, ay/2,by/2 :
3

2 a 1 3 hv a
755, +2,P . 756 |+ —_2|. 757. w)——o___. a
[3 3 \/3 4 hZ_ 2,2 p) 2k

nppbin” k-0 hwdtidunpuljubnipjub gnpdwlphgl t:
758.1) (—o0,-2)7, (2, 15", (15; +0)” x50 =-215:

2) (=oo; 1) (1 +00)” Xypp =11 3) (—o0; 27, (2, +00)" x50 =2:
o m v N (1Y
4) (—oo=1)”, (= 1)7, (1, +00)7 x,00 =%1: 5) (““;'3) ,(—3, 1)

1 )
(L +0)” Xynp. = —3’1:6) (—oot00)” 1 7) (mooi=1), (=1, +00)” Xy =1

i [0 \/l_]h [("/_ JU \/e—s 9) (-2 (2,4 0)” xypg. = 2:
10) (—oo,-1)", (= ¥, (1, +o0)” x,p =21: 1) [oo,—3), (-43; 0],

0: V3], W3, +o0)” %y, =243 12) (= e0,400)” : 13) (_m,_%y,

e - L -1E+T 5—" T X
(£ +°°) Xonp. = iv22 14)[ +T ot T] '(e4 .e4+ ) ’
\ J

T=27K, x,p, o™ kez: 15) 23S, [F2-vBi-2445).

748. H 4n0=4R gniln: 749. . 750.

2 2

2%

210



243000 +00) x,pp =-2543.0: 759, 1) x=2, y=5: 2) x=1,
y=3x+3: 3) x=3x+1/2, y=3x-1/2: 4) x=5, y=1: 5) x=0: 6) x=4, y=4x+4:
7) x=2, y=1: 8) x=0, y=0: 9) y=x+1: 10) y=3x: 11) y=2x: 12) y=2x:

13) y=x: 760. 1) luqnud x=%2, yl =0=>x=0, Yinax (— 243y =242 3J—

Ymm(z‘/—)_ 3[ 2nonud (0,0), wmuhduppmplbbip x=12, y=x/4:
2) f(-x)=-f(x), yl =0=>x=0, x=2v3, y. (-1)=-2, o, ()=2, 2ponud
(0,0): 3) f(-x)=f(x), yl=0=>x =1+4/3, ymx(ﬂ):%, Ymin(0) =1, 2pomd

(i@%sg] 4) yl =0=x=-1, X=2, y,:.(2) =0, y,., (0) =4, 2ponu (1,2):

5) f(-x)=f(x), yl =0=x=0, x =+4/3, Ymin (0 =0, y .. @& =1, y;,,(#3) =0,

ongnud, bk [i ‘/” ;/5 242221 ]; B)(X)=x), Yy (V3) = V3,

500
\/" _ f 3.7 /3 \ oy
)'max(_ 3) =43, ngnui 0(070)' + Eyig 5 7) Ianuj’ hpl‘ x=1,
)
Ymin(3) = Z oponud (0,0), wuhduppmpbtip x=1, y_z +1. 8) hugnuy,
434
tipt x=1, yl =0=x=0, y_..(0)=0, ymm(%/Z)z—}£ ononid

[ ¥2.- 22 ] wuhdwypnplbbp x=1, y=x: 9) f(-x)=-f(x), fugnui, tpt

x=t1, yl=0=x=0, x =143, ononud  (0,0), wuhduppmpblip x=-1,
x=1,y=x: 10) Iugqmd, lpk x=-32, yl =0=x=0, )'mux(l):%' oponid

3
[%/Z,%] wupdypnpbtip x=-§/_2.,y=0: 11) f(-x)=-f(x), jugqnmd, bpl

x=+2, yl =0=>x=0, ppontui (0,0), wuhduppmpbtip x=-2, x=2,y=0:
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12) (=), yl=0mx=t1, y  (0)=-1, ngmd[i.‘é_g,_.;_]‘ wuhdy-
pnbtp y=1: 13) lugnud, tpl x=-1, yl =0=>x=0, spenud (0,0), wuhuy-
pnllip x=-1, y=1: 14) D(y)=R, yl =0=x=0, x=2, Ymin(D) = =1, 2nomd

(0,0), (2,0): 15) yl=0=x=2, y(0)=-2, ymm(_%)=_£, spontd

5
[_ 3£441 _y[ —3+ ‘/4_1D , wuhduppnpbbip y=-1, y=1:
8

8
16) f(-x)=f(x),y(0)=-1, x=0 =y'—0oo, y . (0) = -1, wuhduppnyp y=0:

17 f(-x)=-f(x), | =0=x=0, gl x=%1, Lin (V3 =_‘/§‘
) X y fuq Ymin(V3) B
V3 3\ (.3 _
Yinax (-'\/3_) == w ’ 2[‘2"“j (O'O)v (_ 3,—5], (3, E] : 18) }anlli X—-1,

Ymin(0® =0, ¥, (-2)= —1/2 onontd [_ 2'1LJ§,¢ 3, ‘/2—7;' B ]muhdu{mmp

x=-1: 19) D(y)= (= 00~ 1)U (14%0), Ypax (1= +2) ==1-42 +In(2 + 2¢2)
wuhduppopbtp x=-1, x=1: 20) yl=0=x=1, ymax(°2)=

8
e,

x=1, Ymin(é) =—e, wuhduppnp x=1, y=0: 22) D(y)=(0,+), yl =0=>x=1,

[
=, 2ngnud
2

4
e_i} wuhduypmp x=0, y=0: 21) D(y)=(0,1)u (1,+0°), fugnui x=0,

w | oo

x—0+0, y—0+0, y (l) =L2, Ymin () =0, 2ponud Inx =-3+ J8:
€ [

23) openud (0.0), wuhduppmpbtp y = —% +§, y=—+ g;

X

2
] m m

24) ¥, (0) = 0, wuhdupnnbtin y= —Ex -1,y =Ex -1:

25) y(x+2m)=y(x), x€ [0,2n] = ¥ max (%) =LY min (%n) =-1 ZFQﬁlﬂ (3} ,O),
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(7_7'5 O) 26) y(x+2n)=y(x),[0,27] = ymax(n) 3‘/— = Ymin(s—n] = _ﬁ

6) 4 6 4
2nonid (%,O),(%,G)(n+aresin _41 )(2n+arcsm—4—,v) 27) f(-x)=f(x),

yl =0=>x=%1, Yomax (0) = g, y'(0+0)=-2,y'(0~-0) =2 wuhduypypmp y = —g :

2
28) lugnui  x=0, ymin(%)=%_ wupduppnp - x=0, (x—0+0)
(=.0)", (0, +=)": 29) Y(0)=1, Yrn(0)=1, wuhduppnip y=x, tipp x—>+eo:

30) hgnui, btph  x=0, yl=0=x=2, y__(-l)=e =037,

Y min(2) = 44/e = 6,59, wuhduppnp y=x+2, x=0:
31)D(y)=(- oo.O)u(—3—,+oo), Yo () =0,th],,(§) (o), (0, 4+,

wuhduyypng y =2 767. w) 2y>x2 p) ZXY . q) -2x+3y: n y2 x+l
3 X+ y x—1
762.1) 2x+y=c: 2) x*+y?=c,c>0: 3) X . 4) Y ¢ .5) =cc>0:

y x+y

6)xy=Inc, c>0: 7) a*+x%-y?=c: 8) . 1 —=c,c20: 9) [x|+]y|=1-cc<I:
X~ —-y*

10) Ty_. =c: 1) xy=c: 12) x%-y=c: 13) y=Inx+c: 763. 1) 2x-y=0:
X

2) x2+y?<16: 3) 3x+2y+z-6>0: 4) | =t 5) R% 6) x*+y*#0: 7) x*-y*20:

8) x%+y%-1>0: 9) x>0 L y>0: 10) x+y¢0. 11) x%+y?<4: 12) x+y>0 L
x+y#1:13) |x + y|<1: 14) [x|>]y]: 15) x+y+220: 16) x*+y?*+22-4>0:

17)x20 L y20: 18)x+y>0:19)x*+y>0:20)x=y:21) |y| <1:22)|x| 2 2L |y| < 2:
23) |x| < lh|y| <l1: 767.1)-8:2)0: 3) -i-; 4) 1: 5) Qnynipjnih snibh:
6) e* 7) 0: 8) 0: 9) 3: 10) Qnynipymb snibp: 11) 0: 12) 0: 13) 1: 14) e:

15) 1: 16) ‘_(;; 17) 0: 18) 2: 768. 1) Iugnui, tpl x=y, tpp x—0,
1

y—0
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limf(x,y) qnymupymil smbp,  |im f(x,y) =eo(a0): 2) lugmu, tipk x=0 L
X—a

y—a

¥=0, lim — = 3) lvgm, bpt x=-y, |im _ = +oo:
joex Y j3t by

4) ugnu, iph x2+y?=1, lim Ind-x%- y2) =-oo: 5) lugnu, tipt

x2+y2o1-0

1

. 2, 2
x=y=0, lime* ¥V =+c0: 6) lugm, tph x=nn, nez, Yud' y=nk,
x—0
y—0
. 1 . 1 . 1
kez, lim ———=oco jui’ |ijm ——— =00, lim ————— =o0;
x—mm sin x sin y x—mksinxsiny x—msinxsiny
y#nk X#7n y—nk

769.1)z', = axy® +3y?, zy,= ax’y +6xy+3y%,2) 7, = 45x2yz(5x3y2 + l)z,

) 2
z'y=30x3y(5x3y2+l)': 3) z',(—_-L+6x1 Yy, z'y=2s/;+ .

& 0

4)2',( =_—l_,7 5) Z'y= )’ : 5) Z'lecosi'
x2+y? xyx2+y? +x2+y? y oy
' X X ' (x? ? ' : ! -
zy=——2COS;1 6) Zx___exy(x +y )(3x2y+y3) Zy=exy(x +y )(x'4+3xy2):
[ ' ! | :

I e A e i A A e
\ﬂ('+y +2° Jx +y*+z Jx +yt+z

, 1z .1 , 1 ,
8) Uy =—-—, uy=———x?,uz=——l2:9)ux=(y—z)(2x—y—z),
y x z y X z

u'y=(x—z)(z+x—2y), u'z=(x—y)(22—x—y): 10)z', = yx¥™,

X
=x"Inx: 11)2"‘:. —’y 2,'Z'y= lle - 12)7', =¢? ln_y
|x|\/x"—y Xyx“ -y y

Zt

y

X
2, =e’ y=xiny. 77 1) 2" 2 =6xy, z"xy=3){2 +3y%, 2" =6xy:
32 y
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e A T A e

3) 2" .=e” Y(xy® -2y), z =€ xy(Xzy-2X). 2. = x3e™:

2) 2_23/ -2x? " —4xy " 2x —2y )

x? =—ﬁ,lxy=—__xz_’ z" !__ —2Xy
o T R T

5)z" .= ——y2 sinxy, z"y, = cos xy — Xy sin xy, z', = —x2sinxy:
772. £',.(0,0)= 0,f',(0,0)=0,f(x,y) -0 (0,0) Ytupmud nhdtptilighih sk
773. 1) nhdtiptibglih ¢k, 2) nhdptibghih ¢k, 3)nhdtiptibghh sk,
4)nhdtptbgtih b 774, 1) dz=(y+2x)dx+(x+2y)dy, d’z=2(dx?*+dxdy+dy?):
2)dz = YIHXY o 2xydi? + 2ly? - x? Jixdy - 2xdy?
X“+y (x2 + y2)2

3) dz=(e'+ye*)dx+(xe'+e*)dy, d’z=ye*dx?+2(e’+e*)dxdy +xe’dy?:
4)dz=(siny+ycosx)dx+(xcosy+sinx)dy,
d?z=-sinxdx?+2(cosy+cosx)dxdy-xsinydy?:
5) dz = ydx +dy dz=C y2dx? - 2ydxdy - (x + Iny + 1)dy> :

y(x +Iny) yz(x+lny)2
6) dz=(ysinxy+xy’cosxy)dx+(xsinxy+x2ycosxy)dy,
d?z=(2y%cosxy-xy’sinxy)dx*+2(sinxy+3xycosxy-
-x?y2sinxy)dxdy+(2x2cosxy-x3ysinxy)dy?2:

y
7) dz= eX (—ydx + xdy) 42z = e% (y2 + 2xy)1x2 - 2(xy + x2}1xdy +x2dy? :

2
4) 2xy “ y

)(2 ’ )(4
_ 2
8) gy =Y 2dx + x2 dy 42z= 2y dx? 4xydxdy + 2x dy
(x-y)? x-y)’

9) dz=yInydx+x(1+iny)dy, d?z =2(1+Iny)dxdy +~dy? :
y
775.1) %f =4 +5t4 4 60): 2) % =—4e° sin2t:

gdz__3lars) o3 0z 2%
dt ol (Ht) Yo At e+l

776'?1225uv—u -6v? az 4v —9y? +16uv

du (v+2u)2 Cov (v+2u)
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7771 22 _laus3v. Z =3ut6v:
du ov

2) -8—7 =4qu’ + 6uv+3u2v+v3,ﬂ =6uv+4vd +ud +3uv’:
du ov

0z ) . . .
3) 8_ =-=sin2(u+v)—sin(u+ v)sinuv + vcos(u + v)cosuv + vsin 2uv,
u

0z . ) . )
— =-sin2(u+ v)-sin(u + v)sinuv+ ucos(u + v)cosuv + usin2uv:

ov
781 w) o =060, 48—124/3; a=45%,36v2: «t=90°, - 24; a=0°,48:p) 24/3-5:

782.w) 0742 : p)-1: 783.1)(-11,-4): 2)(-11,69): 3) [%,—%):4)(— 1,5):

4
5) (3,-6,-2): 784. 1) 2,,,(0,3)=-9: 2) Zoio(1,1)=-1: 3) Z,(1,0)=-1:
8) Zpn[EV2FVZ)=8: 5) 2,n(3.2)2108, Z,(x,0)=0, tipb xe(0,6),
2. (x.0)=0, tiphi X€ (-00,0)U(6,+ %0): 6) Z,.,(21,20)=282:7) z,...(5,2)=30:

8) 2,.(0,00=1: 9) z,.(12)=7-10In2: 10) zmi,,z( ! ,;jrl,
tfe tie
l

1 1 1 —13 1 3 -
Zimax —. =—1 11) Zmax(1'3)_e ' zmin(—_ ——): —206e 52
(t e xJEJ 2e 267 26

12) 200010, Zow 5.1 37 ) =67 :19) 2 2.2)- 2.
14)zmax(n n] W3 me(Zn 2n) —3«/3:

3'3) 8 3°3 8
785.1) 2,5 min(1,44,1,92)=5,76: 2) 2,5 mn(1,1)=2:
3) Zus '"'"‘( 4‘/—02“/_ —5:4) Zyyuys. max Enx1)=1:

5) Zu;uuﬁ max( 2 2) 4v zww;d mm(2 2) 4 6) Zu|uud mm(i Z)——%: 786' (112)

83

5’5

787.(£4/5.1),: 788. (-—g —g)[

) 789. 2. w) a=3,023, b=-1,08:

x> ox? 1
p) @=3,19, b=-0,37: 790. x* 5"+ 2 _2x +c: 791. ——+c:
302 2x
x* o x? 5
792. a—+b—+cx+cl 793. —x 6 _=x+2x+c:
3 2 2 2

794. 9x+”x“+4]—l+c 795. > 5 x2¥x? +c: 796. —xJ— x«/—+c
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797. ii/x—zﬁxi/x—%c; 798. ZXJ5—X+C; 799, 2 e

800. 3, 2 ax+3 4. 801, (5“2) Gx+2) | . 802
x 25 9(3x+2)

803. Z(245x); +c: 804. _ 2235 +. 805. :
ot ; e +2)+C
3

4 3 3
806. -5« +c: 607. dx”+3)2 +c: 808. i(7)(2+8)3+<::
-120 18 21

+cC:

10

809, 2=3x+1" g10 '4(3x 773 3[3,(;'”]3”:
40

11
812. 2arcsinx-x+c: 813. arctgx+x-x_3+c: 814. %1n|x|+c;
3

815 Infinx|+c: 876. @";_3)““: 817, l|n|2+5x|+c;

2x -3
+
2x+3

818. —In‘S X |+c 819. —-1n‘5+4x |+c 820. Eln

1 |Jx =7
2 FU e

+c: 822. lnl5+ex

+c: 823 %ln|4+5e2" +c

3
- 6 3 (ZSm +3)
824, S'"6 X +c: 825 _(sm x)2 +c: 826. ++c:

827-—_2—51n|3 +2cos x| +¢:828. In

e* +sin x!+c:829. —%lnl4-3sin2x|+c:
830. —élnl2—3tgx|+c:831- %thSX +c: 832 %ln|4+tg3x|+c:

833. —2\/5~3sinx +c: 834, Intg% +c: 835. arctg%+c:

836. . arctg xm+c: 837. —‘/Elnx\/g+\/4+3x2 +c
V30 6 3
838. —%ln|7—9x|+c: 839. i:E-arcsin XJE . 840. — ﬁ +c:
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841. ln—-lxl +C3842- —arcsini-kc: 843. Zln(‘\/;+Vl+X)+CZ
1+V1+x2 "I

.2
844. 2arcsinw/-x_+c : 845. —%MCCOSZ%+C: 846. %arcsin Sin_X +C

V2

X

X _X -
847, Li2¥InX|. . 848 € ... 849 O.* ... 850. 6e? +c:
4 [2-Inx 1+1In5 3
1( 2x 2 > =
851. —c: 852 E(C +3x2)tc: 853. ) e24e? |4c:
__e"

X
854. ¥ —2x —-e * +c:855. 3e3 +c: 856. %(e”‘ +e"3")—3(e" +e"‘)+c:

857, — <% 4 858, " +¢: 859, %ex’ tc: 860. 2V +c:

1 1
861. —e* +c: 862, _%ex‘ +c: 863 —¢* +c: 864, %ln(gug)ﬂ;

865, X—%C_“ +c: 866. -g-ctgh +c: 867. _]n(ccosx +4)+C2

Inx )2 i\ 3 3
868.53 ... 86901 -1 g7p l[(x+1)5—(x-1)5)+c;
In3 12 11 3
32
871. 53——12—+x—-2ln]x +1|+c: 872. ln|x|+2arctgx+c:

2 —
873.1) Lyrerg X =3
6 2

2 3 1 2
+¢:2) Z(1+1Inx)2 +c: 3) - —=arcsin—+c¢:
Ui 7

x|
3
4) %(x+l)§—2 x+1+c: D) In(sinx+\/l+sin2x)+c:
6) ;—52«/2—x(32+8x+3x2)+c: 7) -1—15-(8+4x2+3x“Nl—x2 +c:

8) 2% -6 6(2—5)(3F +c: 9) (-2-—isin2 x+—2—sin4 x)«fsin3 X+c:
1000 37 I

2
10) arctg*Vx +c: 11) —arcsin =22 +¢: 12) a:csianx+c:

Ng
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i3
8741) %X‘/__X+4‘/;*4(l+w/;)+c: 2) aTCS;u+C

3) (e —2Ne*+1+c: 4) ln__uZ)vH—l+C:5) 2arctg\/e"--l+c:
N2x +1+1
2_
B)E(coszx—S cosx +c: 7) ln—|x|——-—+c;8) ____“9.,.(;;
3 1+v1-x2 9x

9) —J——Mx : 10) —In 3+4e )+c 11) —!n|tgx]+c
2
)+c: 13) %\/az—xz +%—arcsin£+c:

a

12) l(arctgx- x
2 x“+1

2

14) —):—_7_1-(;; 15) —l-zu'(;sinx—l)(\/[—)(2 +c: 875. xsinx+cosx+c:
a a“+x- 2 2

2
876. xinx-x+c: 877. "7(1,, X _%)J, c: 878. eX(x-1)+c:

879. —x2cosx+2xsinx+2cosx+c: 880. x>sinx+2xcosx-2sinx+c:

! 2 x* 1
881. xarctgx ——In\l+x°)+c: 882. —|Inx-—|+c:
2 4 4
883. xarcsinx +V1-x* +c: 884, ——;-XCOS3X+%sin3x+c:

885. X2+]

1
arc[gx_%ﬁc:sss.-;(ln x+1)+

887'—larcsinx+ln—-—L+c: 888.x arccosx - V1-x? +c¢:

X 1+V1-x2

889. c"(x3 -3x% +6x —-6)+c: 890. xarctgx +%ln(l+ x2)+c

891. %.33*(5,( _2_.53.)+C; 892 -%e‘” (4x -1)+c

2
893. xtgx + ln|cos x[ +c: 894.54— —%sin 2x —%cos 2x+c.

2

X
895. [x—z-—ijarcsinx+i—xwh—xz +c:896. %(sinx—cos X)+c:
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ax

X
897. S (cosx +sinx)+c: 898. > (asinbx ~bcosbx)+
2 a“+b

899.

Ze —(acos bx + bsin bx )+ c : 900. 2x+£ln|4x—5|+c:
a‘+b” 4 16

901. _—3x+2§ln|2+5x|+c: 902. zln|x+l|+§ln|x—3|+c:
5 25 4 4

903. |n (x=3)° +c: 904. arctg(x-1)+c: 905. arctg X+ 3 e
-4

3x -4
3x+2

906. l" 4-15| 907__
2J— |x 4+\/'_|+ tn

909. Larctg5 x+1
30

1
+c:

+c:908. %arcxg 2x -

+c: 910. Eln|x2—4x+8‘+%arctgx_ +c:

4
+c: 972 x+1 +l rcthH

18(x2 +2x +10) 54 3

911.%ln|x2+8x+25l+arctgx+ +c:

913. X +%arctgx+c:914. 2x—10|n|x—2|+23ln|x—3|+c:

5

2{x” +1
2
915, "7+8x+13,5|n|x ~9|-6.5In|x +1|+c:

9
|- —
2

916. Lln|x+3|+—l~ln|x—2|—-l—ln|x+l|+c: 917. Ly +c:
10 15 6 18

1 = 1Px -4
918. — — - arctgx +c: 919. ln—7+c: 920.
X |x_2| x+1

+In +cC:

x+1

2
921. 5 |x+l| 3 1 +c:922LIn(x_—2)—Earctgx+c:
32 |x+3| 8(x-1) (x-1)2 10 x2+1 5

1, (x+1?2 1 2x -1
923. —In ——— 4+ —arct +c:
x+l B ETH

2
924, L, Ly, (=) 1

—arctgﬁ+
x 6 xZ+x+l «/5 \/5

925. Eln&(_—l)-—l—arctgx rc: 926 x+ L2
4 2 2

>
X~ +1

2 X
—arctg—+c:
X+2 2
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927._~1 .. 928 §|n3+5tg2+c 929 ., ___2 ..
X X
tg—+2 tg——1
g2 g2

X
tg(a + %)

932.%];1(3 sin? x + 4)-|- c: 933 Inlsin xl —sinX +c:934. —ctgx —lctg3x +c:

sin X
+c: 931. > +lln
COs X 2cos” x

930. lntg%+ +c:

935. ln|sin x|‘sin2x+—l—sin4x+c: 936. _L.cosx |cosx l'+
4 2sin2x |cosx+1|

937, tgx-ctgx+c: 938 — L ___ 1 . 939 +In|tgx|+c:
3sin®x  Ssin® x 2cos® x

940-—§cos3x+c: 941. —3cos-§+c: 942. %sin2x+c: 943. 55in25(—+c:

944. ——éln|c055x|+c: 945. 41n

sin>|+c: 946. ltg5x+c:
4 5
947. —%ctg3x +c: 948. —%tg(l—x2)+c: 949. %ctg(4—x3)+c:

950. ~sinl+c: 951. —%cos«/5+c: 952. ——:l;lncosx3+c:
X

5
953. %ln'si11x4l+c: 954. —%Coseb‘ +c: 955 Sln5 X e
956. %(x3+cos3x)+c: 957- —%1’2+c055x +cC: 958. —;'Sin“%‘f-c:
959. isin25x+c: 960. —Lcos8x +—1-C052x+c:
10 16 4
1 1 1. 1
9671. — —cos9x +—cosSx +c¢: 962. —sin2x ——sin8x +c:
18 10 4 16
963. lsin3x——1-sinllx+c: 964. -l—sin5x+lsinx+c:
6 22 10 2
965. Lsinle+—l—sin2x+c: 966. f-—-l—sin2x+c;
36 4 2 4
967' £+lsin2x+c: 968. i—zsin_z_x.'_c: 969‘ £+Sin}-+c:
2 4 2 4 3 2 2
3 5 3 .5 .7

970. COS3 X —COSX+C1971- COS5 )(_COS3 X+C:972. Sll'l5 x_sm X+C
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7 5 .3 .7

cos’' X cos” x sinx 2 . sin” x
973. gt 974. -Zsin® x + +c
b

7
1 1 . sin® x X sin8x
975, ——— - +¢: 976.sinx - +c: 977. = - +c
3cos” X €COSX 3 8 o4

978,3_X_M lqln4x+g 979. —— 3x S"‘2)(+Lsin4x+c:
8 4 32 8 4

980. tgx-x+c: 981. ‘_gz_" +1Infcos x|+c: 982, —Ctgx-x+c:

-

2 3
983._C'8 x—ln|sinx|+c:934-thx—tgx+x+c:
tg"x tgzx —Ctg3X
985. T——Z——lnlcosx|+c: 986. 3 +ctgx+Xx+c:

ol —
987. ('ti X ctgzx +ln|smx|+c 988. E:mcsmzx 3+c:

NE)
989'%ln(x2+4+\/x"+8x2+2 )+c 990— 4x? +3+Eln(2x+\/4x +3)+c.

991, _\[342x —x2 _4arcsinT+c; 992. _3\6x - x2? -8 +5arcsin(x —3)+c:
993'\/2x2+8x+1—%ln(x+2 2+\/2x2+8x+l\+c:gg4'lnx—%+\)xz—x—l

995. _5\5+4x - x? +l3arcsinx;2+c:995~ arcsin(x —1)+¢

997. 1 | 16x+5 [ LI, ..998. 3 iresinlXt4 ..
\/3 2J§ + X" +J3|+c: ﬁ «/%

999-23rcsinx; Lc: 1000-%49;(2 +l+§ln[3x +v9x2 +l]+c:

1001. 52 4 2% +2]nx+l+\/x2+2x|+c: 1002. % 1-4x? +-})—arcsin2x+c:

+c:

1003. -2+1-x-x2 —9arcsin2 . 1004, X’ +2 P
x2 41
1005. In lxl 1006( x—lJ\/xw'-xz +lln(~/;+Jl—*r_x)+c:
x+2+2\/x2+x+l ERTIE 8
1007. 3’“/_ ‘/_—f Ux —21arctg§/—+c
¥
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1008.

1010.

1012.

1013. _

1015.

1018.

1025.

1032.

1038.

1044.

1049.

7053.

1058.

1063.

1068.

X;‘23 (3x+_y+c: 1009. %‘/(l"x)s _g\/(l“"‘)3 e

- 4* 4 4’ 4
2x/x—2+~/—2-arclg"x°2+c: 1011. lln——l—-u—%arctg I+ +c:
< X

4 Yi+x* —x

%z’ -2z +3z+c, npptin'z=v1+Vx*:

3

—4Ja-x? 4. 1014, %V(X—I)S —-%'{/(x—l)4 +x+c:

4-x?

| ) 7 4 -
g(.+g/;);_3(.+g/;)5+c;1om 1) 20: 2) % 3) % 1017. 3:

' 1019. L. 1020.\n2: 1021. 3: 1022. 408 . 1023.2: 1024, 2:
In2 4 15

™. 1026. 1\, 1027.4: 1028. 8. 1029. 8. 1030. ). 1031. 12:
3 5 3 49 3

%; 1033. %: 1034. %(\/5_1): 1035. 4: 1036. 2: 1037. arctg%;

' -1 7039, 14 71040.\n4: 1041. \. 1042.1n2; 1043. ™.

2 3 2 4
' 1045 12 -4: 1046. ©*1. 1047.1: 1048. 21
p+l 4

Y 2

9-4v3 1,3, 1050. I’ +4. 1051, 41,,_15. 1052 4:

36 2 2 16 16

~2In2 2e’ +1 7
“—4L: 1054, =——: 1055.¢:2: 1056, e? -3 1057, , 2.

: 10 e

n_ . 1059 2% _¥3 . 1060, E(3+,n3), 1061.,3 . 1062. 2(2-n3);
2 3 2 3 5 2

56. 1064. 8'. 1065. 4-2arctg2: 1066. 1. 1067. .1, ;
9 3 5 2 t+e?

2
2. 1069. 22 1070.135. 1071. \_T. 1072. L. 1073. ™"
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